B R

L | FTE | E | FHeE | AL | BT | BHE | AEE | SBR[ #eexs | mEraxKs
L 1TH 101 1| =BT 1TH 8 1 HBiEE it]
AT 1TH 101 2| ZHT 1TH 8 3 HBIEE it]
AT 1TH 101 3| F AT 1TH 8 2 HBIEE it]
AT 1TH 101 4 HBIEE it]
BIET 1TH 101 5|EMEITEET 2T B 32 1 HEIEE hd
L 1TH 101 6 HBIEE it]
L 1TH 102 1| =BT 1TH 8 1 HBiEE it]
AT 1TH 102 2| AT 1TH 6 MR ol
AT 1TH 102 3| AT 1TH 1 1 HBIEER it]
AT 1TH 102 3| AT 1TH 5 HEFEER ol
AT 1TH 102 3| ZHET 1TH 7 i35 ol
AT 1TH 102 4| HET 1TH 3 1 HBIEE it]
L 1TH 102 5| AT 1TH 4 1 HBIEER it]
AT 1TH 102 5| S AT 1TH 35 MRS ol
AT 1TH 102 5| S AT 1TH 36 MR ol
mHET 1TH 102 5| S AT 1TH 37 MRS ol
mHET 1TH 102 5| ZET 1TH 38 HEIEER ol
wHET 1TH 102 5| S AT 1TH 39 MRS ol
mHET 1TH 102 5| S AT 1TH 40 HEIEER ol
AT 1TH 102 5| S AT 1TH 41 MRS ol
m=HET 1TH 102 5| ZAT 1TH 43 MRS ol
wHET 1TH 102 5| S AT 1TH 45 1 MRS ol
AT 1TH 102 5| S AT 1TH 46 1 MRS ol
BIET 1TH 102 5|ZTET 1TE 47 1 HEIEE H
BIET 1TH 102 5|ZTET 1TE 48 1 HEHEE hd
BIET 1TH 102 5|ZTET 1TE 50 1 e H
BIET 1TH 102 5|ZTET 1TE 51 1 HEHEE hd
BIET 1TH 102 5|ZTET 1TE 52 1 HEHEE H
BIET 1TH 102 6|ZTAT 1TE 34 4 e H
BIET 1TH 102 7|=8r 1TE 54 1 HEHEE H
BIET 1TH 102 8|=Hr 1TE 54 4 e hd
BIET 1TH 102 o|=tHr 1TE 54 3 e H
BIET 1TH 102 10| ZX BT 1TE 51 3 HEIEE H
BIET 1TH 102 10| ZX BT 1TE 52 3 s H
BIET 1TH 102 11| LERE | EE 92 13 HEIEE H
AT 1TH 102 1|2 BT 1TH 32 MRS ol
BIET 1TH 103 1|=8r 1TE 34 2 HEIEE hd
AT 1TH 103 1| 3= HT 1TH 34 8 HITE H
AT 1TH 103 1| =BT 1TH 53 HBIEE it]
AT 1TH 103 2| ZHT 1TH 33 MRS ol
mHET 1TH 103 2|=HT 1TH 34 1 HITE H
BIET 1TH 103 2|=Er 1TE 34 6 MRS hd
BIET 1TH 103 2|=Er 1TE 34 7 MRS hd
AT 1TH 103 3 HBiEER it]
mET 1TH 103 4| =T 1TH 28 1 HITE H
AT 1TH 103 5| Z AT 1TH 27 HEIEER ol
AT 1TH 103 6 HBIEER it]
AT 1TH 103 7| =BT 1TH 24 i35 ol
AT 1TH 103 7| =BT 1TH 25 HEIEER ol
AT 1TH 103 7| =BT 1TH 26 HEIEER ol
AT 1TH 103 8| ST 1TH 21 2 HEFEER ol
AT 1TH 103 9| ZTHT 1TH 21 3 MRS ol
wHET 1TH 103 10 30 [l
mHET 1TH 104 1|5ET 1TH 34 3 MRS ol
mHET 1TH 104 2| ZHET 1TH 29 HEIEER ol
w=HET 1TH 104 2| ZHT 1TH 30 2 MR ol
AT 1TH 104 |ERAT | E[R 91 1 i30S il
AT 1TH 104 3| AT 1TH 31 HEIEER ol
AT 1TH 104 4| R BT 1TH 68 MRS ol
AT 1TH 104 5| S AT 1TH 28 2 MRS ol
=T 1TH 104 6 | S AT 2TH 55 2 MRS ol
AT 1TH 104 7| =T 2TH 67 MRS [l
AT 1TH 104 8| ST 2TH 54 HEFEER il
AT 1TH 104 9| ZT AT 1TH 72 HEIEER il
BIET 1TH 104 10| ZX BT 1TE 30 1 e hd
AT 1TH 105 1|5ET 1TH 9 1 MRS il
BIET 1TH 105 2| ZHr 4TH 59 2 HEHEE H
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IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
=HET 1TH 105 3|=HT 2TH 134 HITE il
=HET 1TH 105 4| =T 1TH 21 1 HITE il
=BT [1TH 105 s|l=Er [1TH 17 3 WBIE | m
=BT [1TH 105 6l=Er  [1TH 17 4 BiEE | W
=BT [1TH 105 = [1TH 12 4 WBiEE | m
=Er  [1TH 105 sl [1TH 18 WBIE | W
= HT 1TH 105 9| HT 2TH 134 HBITER il
=Er  [1TH 106 i|z=fr  [1TH 14 WBIE | W
=BT [1TH 106 o|l=Er [1TH 17 5 BIE | W
=HT 1TH 106 3|=HT 1TH 17 1 HBITE il
=BT [1TH 106 a|l=BT 1TE 12 3 WBiEE | W
R HT 1TH 106 5| HT 1TH 15 1 HBITE il
R=HT 1TH 106 6| AT 1TH 12 1 HBITE h
=ET  [1TH 106 =@ [1TH 11 WBIE | m
=ET  [1TH 107 i|zfr  [2TH 5 2 WIE | m
=ET  |1TH 107 2ol=mr  [1TH 15 5 WBIE | m
=BT |1TH 107 3]s 4T B 17 i WBIE | m
=Er  [1TH 107 slmmr  [2TH 7 i WBIE | m
=Er  [1TH 107 5 WBIE | m
=Er  [1TH 107 6 WBIE | m
=Ar  [1TH 107 7 WBIE | m
=BT |1TH 107 sl [2TH 30 i WBIE | m
=Er  [1TH 107 ofzmr  [2TH 9 BIE | m
=Ar  [1TH 107 olzmdr  [2TH 10 WBIE | m
=Er  [1TH 107 10|mBr  |2TH 8 WBIE | m
=Ar  [1TH 107 11|mBr  |2TH 4 i WBIE | m
=Ar  [1TH 107 12|Br  |2TH 4 2 WBIE | m
=Ar  [1TH 107 13|Br  |2TH 3 WBIE | m
=Er  [1TH 107 13|81 |2TH 4 3 WBIE | m
=Er  [1TH 107 14|Br |2 TH 6 2 WBIE | m
=Ar  [1TH 107 15|81 |2TH 5 i WBIE | m
=Ar  [1TH 107 15|8r  |2TH 6 i WBIE | m
=ET  [1TH 108 |z [2TH i WBIE | W
T 1TH 108 1| 3= HT 2TH 12 2 HEITE il
RHT 1TH 108 2|=HT 2TH 12 1 HITE il
=T 1TH 108 3|=HT 2TH 12 3 HEITE il
=T 1TH 108 4| R HET 1TH 23 2 HEITE il
=Er  [1TH 108 5|zl [1TH 19 WBIE | m
=Er  [1TH 108 5|zl [2TH 2 i WIE | m
=Er  [1TH 108 5|zl [2TH 13 WBIE | m
TRET 1TH 108 6 | SR BT 2TH 8 30 i}
=ET  [1TH 108 z=m [2TH 11 WIE | m
=Er  [1TH 108 8 WIE | W
=Er  [1TH 108 9 WBIE | W
=HET 1TH 108 10| AT 2TH 27 3 HITE il
=HT 1TH 108 10| AT 2TH 28 2 HBITE il
=HET 1TH 108 10| =HT 2TH 28 3 HBITE il
R=HET 1TH 108 10| =HT 2TH 28 9 HBITE il
= HT 1TH 108 10| AT 2TH 28 12 HBITE il
=HET 1TH 108 10| AT 2TH 31 4 HBITE il
=BT |1TH 108 1|=Er  |2TH 42 2 WBIE | m
=ET  |1TH 108 12|Br  |2TH 26 i WBIE | m
=ET  |1TH 108 13|=Ar  |2TH 2 2 WBIE | m
=BT |1TH 108 13|=Br  |2TH 12 4 WBIE | m
=Ar  [1TH 109 i|zfr  [1TH 71 WBIE | m
=Er  [1TH 109 |z [2TH 15 WIE | m
=BT |1TH 109 2olzmr  [1TH 22 i WBIE | m
=BT |1TH 109 3|zl [2TH 28 4 WBIE | m
=BT |1TH 109 3|zl [2TH 28 6 WBIE | m
=BT |1TH 109 3|zl [2TH 28 8 WBIE | m
=BT |1TH 109 3|zl [2TH 31 3 WBIE | m
mET 1TH 109 4| R HET 2TH 27 1 HEITE il
mHET 1TH 109 4| =T 2TH 27 2 HEITE il
mHET 1TH 109 4| R HET 2TH 28 1 HEITE il
mET 1TH 109 4| R HET 2TH 28 11 HEITE il
mET 1TH 109 4| R HET 2TH 28 14 HITE il
mHET 1TH 109 4| TR HET 2TH 31 5 HEITE il
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IR FE X BT R4.2.251E F

_PES | FTT | pnE | HeE | BEL | ATT | AE | IBRE | #biEh maeEs | EaEEs
AT 1TH 109 5| R HT 2TH 16 HBITER i)
AT 1TH 110 1]5RfT 1TH 60 HBITER i)
AT 1TH 110 1]5R T 1TH 63 HBITE i)
R AT 1TH 110 1R T 2TH 17 HBITE i)
RHET 1TH 110 1R fT 2TH 25 HBITE i)
AT 1TH 110 2 HBITER i)
AT 1TH 110 3 HBITER i)
AT 1TH 110 4 HBITER i)
R HET 1TH 110 5 HBITR i)
®ET  |1TH 110 6|5ET  [2TH 28 5 wirE |
=ET  |1TH 110 6|5ET  [2TH 28 10 wirE |
®ET  |1TH 110 6|5ET  [2TH 28 13 wirE |
®ET  |1TH 110 6|5ET  [2TH 31 2 wirE |
AT 1TH 110 7| R HT 2TH 45 2 i35 i)
AT 1TH 110 7| R HT 3TH 15 2 HIT B i)
AT 1TH 110 7| R HT 3TH 19 2 i35 i)
RAET 1TH 110 8| R T 2TH 24 i35 i)
AT 1TH 111 1R BT 1TH 66 1 i35 i)
AT 1TH 111 2| TR HT 1TH 66 3 i35 i)
RAET 1TH 111 3| R HT 1TH 66 2 HIT B i)
AT 1TH 111 4| FRHT 5TH 69 2 i35 fit]
AT 1TH 111 5| ZRHT 1TH 23 1 i35 i)
AT 1TH 111 6| ZR BT 1TH 62 HIT B fit]
HET  |1TH 111 6|=BT |1 TH 65 2 wirE |
AT 1TH 111 [ 3TH 10 HBITE i)
AT 1TH 111 7 HBITE i)
RAET 1TH 111 ] 2TH 47 HBITE it]
RAET 1TH 111 8| R HT 2TH 48 HBITER i)
®ET |1TH 111 8|=Er  [2TH 49 3 wirE |
RAET 1TH 111 ] 2TH 50 HBITE i)
®ET  |1TH 111 o|ET  [2TH 49 1 wiIrE |
®ET |1TH 111 10 HwirE |
®ET |1TH 111 11|81 |1TH 34 5 wirE |
AT 1TH 111 11| 5RHT 1TH 97 HIT s il
®ET |1TH 111 12|58 |1TH 65 1 wirE |
®ET  |1TH 111 13|81 TH 56 1 wirE |
®ET  |1TH 111 14|58 |1TH 55 1 wirE |
TRHET 1TH 112 HEiEE H
TRHET 1TH 113 HEiEE H
=HAT 1TH 114 e s H
TRHET 1TH 115 i s H
TRHET 1TH 116 i E H
TRHET 1TH 117 i s H
IRHET 1TH 118 i s H
IRHET 1TH 119 i s H
TRHET 1TH 120 s H
TRHET 1TH 121 i s H
TRHET 1TH 122 e s H
IRHET 1TH 123 i s H
=HAT 1TH 124 i s H
RET  |1TH 125 miE | W
RET  |1TH 126 miE | W
RET  |1TH 127 miE | W
RET  |1TH 128 s | W
RET  |1TH 129 miE | W
RET  |1TH 130 miE | W
RET  |1TH 131 miE | W
RET  |1TH 132 miE | W
RET  |1TH 133 miE | W
RET  |1TH 134 miE | W
RET  |1TH 135 s | W
mET  |[1TH 136 WwiE | 0
R=ET  |2TH 1 1 HwITER |
AT 2TH 1 2| TR HT 2TH 31 6 HBITE i)
AT 2TH 1 K] 2TH 28 7 HBITE it]
RAET 2TH 1 K] 2TH 31 HBITE i)
RAET 2TH 1 3| ZRHT 2TH 31 1 HBITE i)
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IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
=ET  2TH i =@ [4TH 59 4 WIE [ W
HAT  |2TH i slmmr  [4TH 86 5 WBIE | m
=AT  |2TH i 5|zl [4TH 59 3 WBIE | m
TRET 2TH 1 5| SR T 4TH 60 30 i}
=AT  2TH i olzdr  [4TH 59 i WBIE | W
=AT  [2TH i z=m [2TH 32 WBIE | W
=AT  |2TH i z=d [2TH 33 WIE | W
TRET 2TH 1 7| 3R HET 2TH 80 i3 it}
=AT |2 TH i 1z=d  [2TH 81 i WBIE | W
=AT  |2TH i 1z=d [2TH 81 2 WBIE | W
HET  |2TH i |zl [2TH 81 3 WBIE | m
=AT  |2TH i |zl [2TH 81 4 WIE | W
=AT  [2TH i |zl [2TH 81 5 WBIE | W
=ET  [2TH i |zl [2TH 81 6 WBIE | m
=ET  [2TH i |zl [2TH 82 i WIE | m
=ET  [2TH i |zl [2TH 82 2 WBIE | m
=ET  [2TH i |zl [2TH 83 i WBIE | m
=ET  [2TH i |zl [2TH 83 2 WBIE | m
=ET  [2TH i |zl [2TH 84 i WBIE | @
=BT [2TH i |zl [2TH 84 2 WBIE | m
=ET  [2TH i olzmr  [2TH o1 i WBIE | m
=ET  [2TH i 10|=Ar  |2TH 76 WBIE | m
=ET  [2TH i 11|=Ar  |2TH o1 2 WBIE | m
=AT  2TH i 11|mBr  |2TH 92 WBIE | m
mHET 2TH 1 11| =HET 2TH 93 1 HEITE il
mHET 2TH 1 11| =ET 2TH 94 1 HEITE il
AT 2TH 1 11| =ET 2TH 95 1 HEITE il
T 2TH 1 12| =AT 2TH 93 2 HEITE il
mET 2TH 1 12| =AT 2TH 94 2 HEITE il
=T 2TH 1 13| =AT 4TH 59 5 HEITE il
AT 2TH 1 14| AT 4TH 59 6 HITE il
=AT  |2TH i 14|=Br  |4TH 61 WBIE | m
T 2TH 1 14| =T 4TH 144 HBITE il
T 2TH 1 15| AT 4TH 86 7 HEITE il
TRET 2TH 1 16 i3 it}
=AT  2TH 2 |z [2TH 41 2 WBIE | m
=AT  [2TH 2 2olz=mr  [2TH 42 3 WBIE | m
TRET 2TH 2 3 30 it}
=AT  |2TH 2 slmmr  [2TH 36 5 WBIE | m
HAT  |2TH 2 5|zl [2TH 35 WBIE | m
=AT  |2TH 2 5|zl [2TH 36 8 WIE | m
=AT  |2TH 2 olzlr  [2TH 34 WIE | m
=AT  |2TH 2 6|zl [2TH 39 WBIE | m
=AT  |2TH 2 6|zl [2TH 40 WBIE | W
=AT  |2TH 2 |zl [2TH 90 WBIE | W
=AT  2TH 2 |zl [2TH 76 WBIE | W
HAT  2TH 2 ofzlr  [2TH 77 WBIE | W
TRET 2TH 2 10| R BT 2TH 90 i35 it}
= HT 2TH 2 11| =R 2TH 91 1 HBITHR il
=AT |2 TH 2 12|Er |2 TH 78 WBIE | W
=ET  [2TH 2 13|=Er  |2TH 79 WBIE | m
=ET  [2TH 2 14|=ET  |2TH 36 2 WBIE | m
=ET  [2TH 2 15|=Br  |2TH 36 3 WBIE | m
=ET  [2TH 2 15|=Br  |2TH 36 7 WBIE | m
=ET  [2TH 2 16|Br  |2TH 85 WBIE | m
=AT  2TH 3 |z [2TH 43 WIE | m
=AT 2 TH 3 |z [2TH 44 WBIE | m
=AT  2TH 3 |z [2TH 46 WBIE | m
=ET  [2TH 3 |z [2TH 136 WBIE | m
=ET  [2TH 3 olz=m  [2TH 42 4 WBIE | m
=ET  [2TH 3 3|zl [2TH 41 i WBIE | m
=AT  2TH 3 slmmr  [2TH 42 i WBIE | m
=AT  2TH 3 5|zBr  [2TH 52 WBIE | m
=AT  2TH 3 5|zBr  [2TH 53 WBIE | m
=AT  2TH 3 6|zl [2TH 65 2 WBIE | m
=AT  |2TH 3 Hz=m [2TH 65 i WBIE | m
=AT  [2TH 4 |z [3TH 4 4 wIE | m
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IR FE X BT R4.2.251E F

PR | HTE | PhE | FHE| IBEL | BT | BHE | BHE | BHER | EmeRe | TERs
RET 2TH 4 2 i30S [l
RET 2TH 4 3 i30S [l
AT 2TH 4 4| HET 2TH 60 1 HBIEE it]
AT 2TH 4 5| AT 2TH 60 2 HBIEE it]
L 2TH 4 6 | X AT 3TH 24 1 HBiEE it]
L 2TH 4 7| Z AT 2TH 64 2 HBiEER it]
L 2TH 4 8| AT 2TH 51 1 HBiEE it]
AT 2TH 4 8| AT 2TH 59 HBiEE it]
AT 2TH 4 8| AT 2TH 62 HBIEER it]
AT 2TH 4 8| AT 2TH 63 HBIEER it]
AT 2TH 4 9| R HT 2TH 61 HBIEER it]
mHET 2TH 4 10| AT 2TH 154 HBITE H
AT 2TH 4 11| 3ET 2TH 108 3 BT [l
AT 2TH 4 12| BT 2TH 107 HBiEE it]
AT 2TH 4 12| BT 2TH 109 HBiEE it]
AT 2TH 4 12| BT 2TH 110 HBiEE it]
AT 2TH 4 12| H#B1EET (6 T B 99 HBiEE it]
AT 2TH 4 13| BT 3TH 9 HBiEE it]
AT 2TH 4 13| =BT 3TH 22 HBiEE it]
AT 2TH 4 14| ERAT | E[R 84 2 i30S il
AT 2TH 4 14| ET 3TH 11 HBiEE it]
AT 2TH 4 14| BT 3TH 13 HBiEE it]
AT 2TH 4 15 HBiEE it]
L 2TH 5 1| =BT 2TH 14 HBiEE it]
AT 2TH 5 1| =BT 2TH 19 HBiEE it]
L 2TH 5 1| =BT 2TH 20 HBiEE it]
RET 2TH 5 2 i30S il
RET 2TH 5 3 i30S il
R ET 2TH 5 4 i30S il
AT 2TH 5 5| AT 2TH 36 6 HBIEE it]
AT 2TH 5 6 | X AT 2TH 78 HBiEE it]
L 2TH 5 7| ZHET 2TH 90 HBIEE it]
L 2TH 5 ] 2TH 717 HBIEE it]
=Er 2TH 5 9| ZRHT 1TH 12 2 HBIEE it]
AT 2TH 5 9| Z AT 1TH 16 HBIEE it]
L 2TH 5 9| AT 1TH 17 2 HBIEE it]
AT 2TH 5 10|52 BT 2TH 79 HBiEE it]
RET 2TH 5 11 i30S [l
AT 2TH 5 12| BT 2TH 21 HBIEE it]
L 2TH 5 13| BT 2TH 22 HBiEE it]
L 2TH 5 14| BT 2TH 23 HBIEE it]
AT 2TH 6 1| =BT 2TH 106 HBIEE it]
AT 2TH 6 2| ZHT 3TH 7 2 HBiEE it]
AT 2TH 6 3| F AT 3TH 7 1 HBiEER it]
RET 2TH 6 4 TR il
AT 2TH 6 5| AT 2TH 58 2 HBIEER it]
AT 2TH 6 5| AT 3TH 8 2 HBIEER it]
AT 2TH 6 6 | S AT 2TH 58 1 HBIEER it]
AT 2TH 6 6 | S AT 3TH 8 1 HBIEER it]
AT 2TH 6 7| ZHET 2TH 58 3 HBIEER it]
AT 2TH 6 7| ZHET 3TH 8 3 HBiEE it]
AT 2TH 6 8| T 2TH 58 7 HBiEE it]
AT 2TH 6 8| AT 3TH 8 7 HBiEE it]
AT 2TH 6 9| AT 2TH 58 6 HBIEE it]
AT 2TH 6 9| AT 3TH 8 6 HBIEE it]
AT 2TH 6 10| BT 2TH 58 5 HBiEE it]
AT 2TH 6 10| BT 3TH 8 5 HBiEE it]
AT 2TH 6 11| 8T 2TH 58 4 HBiEE it]
AT 2TH 6 11| 8T 3TH 8 4 HBiEE it]
AT 2TH 6 12 MEIE R i
AT 2TH 6 13| BT 2TH 99 2 HBiEE it]
T 2TH 6 13| 5ET 2TH 133 BT [l
T 2TH 6 14| 5ET 2TH 99 1 BT [l
T 2TH 6 15| 5ET 2TH 66 1 BT [l
ET 2TH 6 16| 5ET 2TH 66 2 BT [l
AT 2TH 6 16| #B1TET (7T B 106 HBiEE it]
AT 2TH 7 1152 ET 3TH 12 1 HBiEE it]
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IR FE X BT R4.2.251E F

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
RET 2TH 7 2 i30S [l
RET 2TH 7 3 i30S [l
RET 2TH 7 4| FET 2TH 88 TR il
RET 2TH 7 4| FET 2TH 89 2 iR [l
RET 2TH 7 4| FET 2TH 97 2 i30S [l
RET 2TH 7 5| R ET 2TH 89 1 i30S il
RET 2TH 7 5| R ET 2TH 96 TR il
AT 2TH 7 5| AT 4TH 110 HBiEE it]
R ET 2TH 7 6 TR [l
RET 2TH 7 7| =BT 2TH 183 TR il
mHET 2TH 7 8| AT 2TH 100 4 HBITE H
mHET 2TH 7 9| AT 2TH 100 6 HBITE H
BIET 2TH 7 10| BET 2TH 100 5 BT [l
AT 2TH 7 11 MEE R i
AT 2TH 7 12| 5ET 2TH 98 1 i30S [l
mHET 2TH 7 13| 5RET 2TH 97 1 i30S [l
mHET 2TH 7 13| ZRET 2TH 98 2 i30S [l
wHET 2TH 7 14| 5ET 3TH 12 2 i30S [l
mHET 2TH 7 15| 5RET 2TH 153 i30S [l
AT 2TH 7 16| ZRET 2TH 155 1 i30S [l
m=HET 2TH 7 17| 5ET 3TH 12 3 i30S [l
wHET 2TH 8 1|5 ET 2TH 100 8 i30S [l
AT 2TH 8 2| R HET 2TH 100 2 i30S [l
BT 2TH 8 3|RHET 2TH 165 BT R [l
RET 2TH 8 3|RHET 2TH 166 i30S il
RET 2TH 8 4| FET 2TH 95 2 i30S il
RET 2TH 8 5| R ET 2TH 156 i30S [l
RET 2TH 8 5| R ET 2TH 157 i30S il
R ET 2TH 8 5| R ET 2TH 158 i30S il
RET 2TH 8 5| R ET 2TH 159 i30S il
RET 2TH 8 5| R ET 2TH 160 i30S [l
BIET 2TH 8 6|5TET 2TH 100 7 BT [l
BIET 2TH 8 7|5ET 2TH 100 1 BT [l
=Er 2TH 9 i30S il
R ET 2TH 10 i30S [l
R ET 2TH 11 i30S [l
RET 2TH 12 TR [l
RET 2TH 13 i30S [l
RET 2TH 14 i30S [l
RET 2TH 15 i30S [l
RET 2TH 16 TR il
RET 2TH 17 iR [l
RET 2TH 18 TR il
R ET 2TH 19 TR [l
RET 2TH 20 TR il
RET 2TH 21 TR [l
R ET 2TH 22 TR [l
RET 2TH 23 TR il
RET 2TH 24 iR il
RET 2TH 25 TR [l
AT 3TH 101 1|5 ET 1TH 55 3 i30S [l
AT 3TH 101 1|5 ET 1TH 56 2 i30S [l
wHET 3TH 101 1|EETET (6T B 35 i30S [l
mHET 3TH 101 2| R HET 3TH 5 1 i30S [l
mHET 3TH 101 3|RHET 3TH 2 3 i30S [l
w=HET 3TH 101 3|RHET 3TH 5 2 i30S [l
w=HET 3TH 101 3|RHET 3TH 5 3 i30S [l
R ET 3TH 101 4 i30S [l
AT 3TH 101 5| R ET 3TH 4 1 i30S [l
AT 3TH 101 6 | ZRET 3TH 4 3 i30S [l
=T 3TH 101 7| == ET 3TH 4 2 i30S [l
BIET 3TH 101 7|5ET 3TH 15 1 BT [l
RET 3TH 101 8| R HET 3TH 4 5 i30S il
BIET 3TH 101 9|zET 3TH 17 1 BT [l
BIET 3TH 101 9|zET 3TH 19 7 BT [l
RET 3TH 101 10| 52 HT 3TH 16 i30S il
BIET 3TH 101 11| EER | EE 90 1 BT [l
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IR FE X BT R4.2.251E F

PR | HTE | PhE | FHE| IBEL | BT | BHE | BHE | BHER | EmeRe | TERs
T 3TH 101 11|EEET (B[R 97 BT [itl
T 3TH 101 12| 5T ET 3TH 20 8 MEiE R [l
AT 3TH 101 13| 5TET 3TH 38 3 BT [l
T 3TH 101 13| 5TET 3TH 39 1 BT [l
AT 3TH 101 13| 5TET 3TH 39 2 MR [l
AT 3TH 101 14| ITET 3T B 59 1 BT [l
L 3TH 101 15| #B1TET (6 T B 83 HBiEER it]
mET 3TH 101 16| E/RET | E[RE 92 2 HBITH il
mHET 3TH 101 16| E/RET | E[RE 92 8 HBITHR il
mHET 3TH 101 16| E/RET | E[RE 92 9 HBITE il
mHET 3TH 101 17| E/RET | E[RE 92 1 HBITE il
mHET 3TH 101 17| E/RET | E[RE 92 4 HBITE il
mHET 3TH 101 18| E/RET | E[RE 91 2 HBITE h
mET 3TH 101 19| EERT | EF[E 88 3 MEE R [l
AT 3TH 101 20| == HT 3TH 19 5 HBiEE it]
AT 3TH 101 20|z AT 3TH 37 5 HBiEE it]
AT 3TH 101 20| == HT 3TH 43 6 HBIEE it]
AT 3TH 101 21| HT 3TH 38 4 HBiEE it]
AT 3TH 101 22| == ET 2TH 60 3 HBIEE it]
AT 3TH 101 23| == ET 3TH 3 1 HBiEE it]
AT 3TH 101 24| =R ET 3TH 1 1 HBIEE it]
AT 3TH 101 24| =R ET 3TH 1 3 HBiEE it]
AT 3TH 101 24| =R ET 3TH 2 1 HBiEE it]
T 3TH 102 1|EERT | E[E 94 2 BT [l
T 3TH 102 1|EERT | E[E 95 1 MEIE R i
T 3TH 102 1|EERT | E[E 95 3 BT [l
T 3TH 102 1|EERT | E[E 95 4 BT i
T 3TH 102 2| EERT | EE 95 5 BT [l
T 3TH 102 3|EER | EE 96 1 HEE R [l
T 3TH 102 3|EERT | EE 96 4 BT [l
AT 3TH 102 3| ZRHT 3TH 71 HBiEE it]
L 3TH 102 3| Z AT 3TH 72 HBIEE it]
AT 3TH 102 &1 3TH 73 1 MEE R [l
T 3TH 102 4|zET 3TH 73 3 MBiE R [l
T 3TH 102 5| AT 3TH 73 8 BT [l
T 3TH 102 6| T 3TH 73 7 BT [l
AT 3TH 102 7|z ET 3TH 73 4 BT [l
AT 3TH 102 8|z T 3TH 73 5 BT [l
AT 3TH 102 9|y 3TH 73 6 BT [l
AT 3TH 102 10| ZTET 3TH 73 9 MBI [l
L 3TH 102 11| BT 5TH 3 2 HBIEE it]
AT 3TH 102 12| BT 5TH 3 3 HBIEE it]
AT 3TH 102 13| BT 5TH 3 4 HBiIEE it]
AT 3TH 102 14| BT 5TH 3 5 HBiEER it]
L 3TH 102 15| BT 5TH 3 6 HBIEE it]
AT 3TH 102 16| =BT 5TH 3 7 HBIEER it]
RHET 3TH 102 17| E[RET [ E/R 2 1 HiTE H
RHET 3TH 102 17| E[RET [ E/R 3 IR H
RHET 3TH 102 18| E[RET [ E/R 4 3 HiTE H
RHET 3TH 102 19| E[RET [ E/R 5 3 iTE H
BT 3TH 102 20| F[RET | ER 6 3 i30S il
BT 3TH 102 20| F[RET | ER 7 3 i30S il
ET 3TH 102 21| E[RET | EE 98 1 MEE R [l
HT 3TH 102 22| F[RET | E[E 98 2 MEIE R i
HT 3TH 102 23| L[RET | EE 96 7 BT i
T 3TH 102 23| L[RET | EE 96 8 BT i
AT 3TH 103 1| =BT 3TH 40 3 HBiEE it]
AT 3TH 103 1| =BT 3TH 40 4 HBiEE it]
AT 3TH 103 2| ZHT 3TH 41 1 HBiEE it]
AT 3TH 103 3 HBiEE it]
AT 3TH 103 4 HBiEE it]
T 3TH 103 5| HT 3TH 67 1 MBIE R [l
T 3TH 103 5|E#ETRT 4T B 32 2 BT i
T 3TH 103 6| AT 3TH 67 3 BT [l
ET 3TH 103 7| ET 3TH 63 1 MBIE R i
T 3TH 103 7| EET 3TH 64 1 BT [l
AT 3TH 103 7| 5T 3TH 66 HBiEE it]
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IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
AT 3TH 103 8| AT 3TH 74 1 HITE il
AT 3TH 103 9| AT 4TH 97 1 HITE il
=HET 3TH 103 10| AT 3TH 40 1 HITE il
=HET 3TH 103 11| =ET 3TH 75 4 TR il
mHET 3TH 103 12| =ET 3TH 75 3 HEITE il
mHET 3TH 103 12| =ET 3TH 75 6 HITE il
=AT  [3TH 103 12|Er  |3TH 76 WBIE | W
mET 3TH 103 13| =HT 3TH 75 2 HBITE il
mHET 3TH 103 13| =HT 3TH 75 5 HBITE il
=HT 3TH 103 14| =ZHAT 3TH 75 1 HBITHR il
=HT 3TH 103 15| AT 3TH 74 1 HBITE il
mHET 3TH 103 16| AT 3TH 74 2 HBITE il
mHET 3TH 103 16| AT 3TH 74 3 HBITE h
=ET  [3TH 103 17|Er  |3TH 18 i WBIE | m
=ET  [3TH 103 17|=Er  |3TH 19 6 WBIE | m
=ET  [3TH 103 18|=Ar  |3TH 18 3 WBIE | m
=ET  [3TH 103 18|=Ar  |3TH 68 WBIE | m
=ET  [3TH 103 18|=Ar  |3TH 70 i WBIE | m
=AT  [3TH 103 19 WBIE | m
=AT  [3TH 103 20 WBIE | m
=BT [3TH 103 21|zl [4TH 97 6 WBIE | m
=ET  [3TH 104 1|z [3TH 65 i WBIE | m
=ET  [3TH 104 2o|lz=mr  [3TH 50 36 WBIE | m
mET 3TH 104 3| AT 3TH 50 37 HEITE il
mHET 3TH 104 4| =T 3TH 50 38 HEITE il
mHET 3TH 104 5| AT 3TH 78 5 HEITE il
AT 3TH 104 5| HT 3TH 79 1 HEITE il
T 3TH 104 6| AT 2TH 86 5 HEITE il
mET 3TH 104 6| AT 3TH 37 7 HEITE il
=T 3TH 104 6| #EITERT 4T H 48 5 HEITE h
AT 3TH 104 6| #EIFRT 7T H 154 HEITE h
T 3TH 104 7|=HT 3TH 41 3 HEITE il
T 3TH 104 7| HT 3TH 43 4 HBITE il
T 3TH 104 7|=HT 3TH 45 1 HEITE il
AT 3TH 104 7|=HET 3TH 46 3 HITE il
=AT  [3TH 104 8|mimiar[2 T B 8 3 WBIE | W
=AT  [3TH 104 ofzmr  [3TH 6 2 WBIE | m
=AT  [3TH 104 10|=Ar  |3TH 6 i WBIE | m
=AT  [3TH 104 11|=Er  |3TH 6 3 WIE | m
=HET 3TH 104 12| =ET 4TH 64 1 HEITE il
mHET 3TH 104 13| =HT 3TH 65 2 HITE il
=AT  [3TH 105 i WIE | m
TRET 3TH 105 2 i35 i}
mET 3TH 105 3|=HT 3TH 50 24 HBITHR il
mET 3TH 105 4| =T 3TH 50 25 HITE il
mET 3TH 105 5| HT 3TH 37 8 HBITE il
=AT  [3TH 105 6lzdr  [5TH 2 2 WBIE | W
=AT  [3TH 105 1z=@ [5TH 2 i WIE | m
=AT  [3TH 105 sl=dr  [1TH 59 WBIE | W
=AT  [3TH 106 i WBIE | W
=ET  [3TH 106 2o|lz=m  [3TH 50 i WIE | m
=ET  [3TH 106 3|zl [3TH 50 12 WBIE | m
=ET  [3TH 106 s|l=mr  [3TH 50 13 WBIE | m
=ET  [3TH 106 s|zBr  [3TH 50 46 WBIE | m
=ET  [3TH 106 6|zl [3TH 37 10 WBIE | m
=ET  [3TH 106 =@ [3TH 19 4 WBIE | m
=BT [3TH 106 1z=m  [3TH 37 i WBIE | m
=BT [3TH 106 =@ [3TH 43 2 WBIE | m
=AT  [3TH 106 8 WBIE | m
=AT  [3TH 107 i WBIE | m
=AT  [3TH 107 2 WBIE | m
mET 3TH 107 3| AT 3TH 14 1 HEITE il
mHET 3TH 107 3| AT 3TH 14 4 HEITE il
mHET 3TH 107 3| AT 3TH 20 5 HEITE il
=AT  [3TH 107 slmBr  [1TH 61 WBIE | m
mET 3TH 107 4| R HET 3TH 14 3 HITE il
mHET 3TH 107 4| TR HET 3TH 14 5 HEITE il
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_EES | 5T | ShE | iE | BEA | BTT | RHE | IORE | BhEn | mrexa] mraxs
AT 3TH 107 4| TR HET 3TH 20 6 HITE bl
AT 3TH 107 4| =T 3TH 20 7 HITE bl
=ET  [3TH 107 a|=Er  [3TH 21 MmIEE | W
AT 3TH 107 4| TR HET 3TH 35 4 TR T
mHET 3TH 107 5| HT 3TH 34 1 HEITE H
mHET 3TH 107 6| AT 3TH 14 2 HITE Ll
mHET 3TH 107 6| AT 3TH 20 1 HITE Ll
mET 3TH 107 6| HT 3TH 32 4 HBITH Ll
mHET 3TH 107 6| AT 3TH 33 1 HBITHR Ll
mHET 3TH 107 6| AT 3TH 33 4 HBITE il
mHET 3TH 107 6| AT 3TH 35 1 HBITE Ll
mHET 3TH 107 7| ET 2TH 55 1 HBITE Ll
mHET 3TH 107 8| AT 3TH 32 6 HBITE Ll
=EL  [3TH 107 ol=Er [3TH 29 3 WmIEE | W
=EL  [3TH 107 ol=Er [3TH 32 1 WmIEE | W
=EL  [3TH 107 10|z [3TH 32 5 mIEE | W
=EL  [3TH 107 1|zBr  [2TH 16 WmIEE | W
=EL  [3TH 107 12|z8r  [3TH 28 4 mIEE | W
=EL  |[3TH 107 12|z8r  [3TH 29 1 MmIEE | W
=EL  [3TH 107 12|z8r  [3TH 30 1 WmIEE | W
=EL  [3TH 107 13|z8r  [3TH 28 1 mIEE | W
=EL  [3TH 107 14|z8r  [3TH 27 1 WmIEE | W
=EL  |3TH 107 15|58 [3TH 26 MWmiIEE | W
mET 3TH 107 16| =M 3TH 25 1 HEITE bl
mHET 3TH 107 17 HEITE bl
mHET 3TH 107 18| =HT 3TH 51 1 HEITE bl
AT 3TH 107 19| =HT 3TH 51 2 HEITE bl
T 3TH 107 20| = HT 3TH 52 2 HEITE Ll
mET 3TH 107 21| = HT 3TH 52 3 HEITE Ll
=T 3TH 107 22| = HT 3TH 52 4 HITE Ll
AT 3TH 107 23| =T 3TH 52 1 HEITE Ll
T 3TH 107 24| = HT 3TH 50 31 HEITE bl
T 3TH 107 24| = HT 3TH 50 43 HEITE Ll
T 3TH 107 25| = HT 3TH 50 30 HEITE Ll
AT 3TH 107 26| = HET 3TH 50 19 HEITE bl
=T 3TH 107 27| = HT 3TH 50 18 HEITE Ll
=T 3TH 107 28| = HT 3TH 50 7 HITE T
AT 3TH 107 29| = HT 3TH 50 6 HITE bl
RET 3TH 108 i30S [l
AT 3TH 109 1| = HT 3TH 50 2 HITE Ll
mHET 3TH 109 2|=HT 3TH 50 3 HITE Ll
AT 3TH 109 3|=HT 3TH 50 4 HITE T
mHET 3TH 109 4| =T 3TH 50 5 HITE bl
mET 3TH 109 5| HT 3TH 50 8 HBITHR Ll
mET 3TH 109 6| AT 3TH 50 9 HITE Ll
mET 3TH 109 7|=HET 3TH 50 10 HBITE Ll
mHET 3TH 109 8| AT 3TH 50 11 HBITE Ll
mHET 3TH 110 1| = HET 3TH 50 14 HBITE il
mHET 3TH 110 2|=HT 3TH 50 15 HBITHR Ll
mHET 3TH 110 3|=HET 3TH 50 16 HBITE Ll
=EL  [3TH 110 a|=Er  [3TH 50 17 mIEE | W
=EL  [3TH 110 5|=Er  [3TH 50 20 WmIEE | W
=EL  [3TH 110 6l=fr  [3TH 50 21 mIEE | W
=EL  [3TH 110 J|=Er  [3TH 50 22 mIEE | W
=EL  [3TH 110 s|=Er  [3TH 50 23 WmIEE | W
=EL  [3TH 111 =B [3TH 50 26 mIEE | W
=EL  [3TH 111 2|l=Br  [3TH 50 27 mIEE | W
=EL  [3TH 111 s|=Er  [3TH 50 28 WmIEE | W
=EL  [3TH 111 a|l=Br  [3TH 50 29 WmIEE | W
=EL  [3TH 111 5|=Er 3T H 50 32 WmIEE | W
=EL  [3TH 111 6l=fr  [3TH 50 40 WmIEE | W
mET 3TH 111 7| ET 3TH 50 39 HEITER bl
mHET 3TH 111 8| HT 3TH 50 33 HEITE bl
mHET 3TH 111 9| AT 3TH 50 34 HEITE bl
mET 3TH 111 10| AT 3TH 50 35 HEITE bl
=ET  [3TH 112 MmIEE | W
mHET 3TH 113 1| 3= HT 3TH 50 41 HEITER Ll
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_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
AT 3TH 113 2|=HT 3TH 50 42 HITE il
AT 3TH 113 2|=HT 3TH 82 2 HITE il
mHET 3TH 113 2|=HT 3TH 83 5 HITE il
TRET 3TH 113 3 30 i}
mHET 3TH 113 4| TR HET 3TH 50 44 HEITE il
mHET 3TH 113 4| TR HET 3TH 50 45 HITE il
mHET 3TH 113 4| =T 3TH 82 1 HITE il
mET 3TH 113 4| R HET 3TH 83 6 HBITH il
mHET 3TH 113 4| TR HET 3TH 83 7 HBITHR il
mHET 3TH 113 4| TR HET 3TH 84 4 HBITE il
=HT 3TH 113 5| HT 3TH 80 1 HBITE il
=AT  [3TH 113 5|zl [3TH 81 WIE | W
=AT  [3TH 113 s|mEr  [4TH 89 WBIE | W
=ET  [3TH 114 1|z [3TH 83 i WBIE | m
=ET  [3TH 114 1|z [3TH 83 3 WIE | m
=ET  [3TH 114 i|zfr  [3TH 84 i WBIE | m
=ET  [3TH 114 1|z [3TH 84 2 WBIE | m
=AT  [3TH 114 2 WBIE | m
=AT  [3TH 114 slzmr  [4TH 5 WBIE | m
=AT  [3TH 114 slzmr  [4TH 6 WBIE | m
=AT  [3TH 114 slzmr  [4TH 8 WBIE | m
=AT  [3TH 114 |zl [4TH 9 WBIE | m
=AT  [3TH 114 slzmr  [4TH 10 BIE | m
=AT  [3TH 114 4 WBIE | m
=AT  [3TH 115 WBIE | m
=AT  [3TH 116 WBIE | m
=AT  [3TH 117 WBIE | m
=AT  [3TH 118 WIE | m
=AT  [3TH 119 WBIE | m
=AT  [3TH 120 WBIE | m
=AT  [3TH 121 WBIE | m
=AT  [3TH 122 WBIE | m
=AT  [3TH 123 WBIE | W
=AT  [3TH 124 WBIE | W
TRET 3TH 125 30 it}
SRET 3TH 126 i3 i}
TRET 3TH 127 i3 it}
TRET 3TH 128 30 it}
TRET 3TH 129 i35 it}
TRET 3TH 130 i3 it}
mHET 3TH 131 AT 3TH 73 2 HITE il
TRET 3TH 131 RHET 5TH 3 1 303 i}
TRET 3TH 132 i3 i}
TRET 3TH 133 i35 i}
TRET 3TH 134 i35 it}
TRET 3TH 135 IR it}
TRET 3TH 136 i35 it}
TRET 3TH 137 i35 it}
TRET 4TH 1 1|5RET 5TH 8 4 i35 it}
TRET 4TH 1 2 303 it}
=ET  |4TH i 3|zl [2TH 86 6 WIE | m
=ET  |4TH i 3|zl [3TH 70 2 WBIE | m
=AT  |4TH i s|l=mr  [5TH 10 WIE | m
=ET  |4TH i 5|zl [5TH 12 i WBIE | m
=ET  |4TH i 5|zl [5TH 13 2 WBIE | m
=ET  |4TH i 6|zl [3TH 25 i WBIE | m
=ET  |4TH i Hz=m [2TH 29 i WBIE | m
=ET  [4TH i |zl [5TH 28 2 WBIE | m
=ET  |4TH i ofzmr  [5TH 29 2 WBIE | m
=ET  [4TH i 10|xfr  |5TH 14 i WBIE | m
=AT  |4TH i 11|=Ar  |4TH 29 WBIE | m
mET 4TH 1 12| =AT 5TH 17 6 HEITE il
mHET 4TH 1 12| =AT 5TH 59 3 HEITE il
mHET 4TH 1 12| =HT 5TH 59 4 HEITE il
mET 4TH 1 12| =AT 5TH 59 5 HEITE il
=AT  |4TH i 13|Br  |4TH 3 WBIE | m
=AT  |4TH i 13|mBr  |4TH 4 2 wIE | m
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IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
WA |4TH i 14]mEr  [4TH 4 i WIE [ W
AT 4TH 1 15| AT 2TH 155 2 HITE il
=AT  |4TH i 16|Ar  |5TH 8 2 WBIE | m
=ET  |4TH i 17|mEr  |5TH 8 3 WIE | m
TRET 4TH 1 18R BT 5TH 8 1 i35 i}
=AT  |4TH 2 |z [4TH 20 i WBIE | m
HAT  |4TH 2 |z [4TH 21 i WIE | W
=AT  |4TH 2 |z [4TH 22 WBIE | W
HAT  |4TH 2 2olz=mr  [2TH 130 WBIE | W
HAT  |4TH 2 olz=mr  [4TH 20 2 WBIE | W
HET  |4TH 2 |zl [4TH 20 3 WBIE | m
=AT  |4TH 2 slzEr  [4TH 21 2 WIE | W
HAT  |4TH 2 |zl [4TH 22 i WBIE | W
=AT  |4TH 2 slz=mr  [4TH 23 WBIE | m
=AT  |4TH 2 slmmr  [4TH i i WIE | m
=AT  |4TH 2 s|lmmr  [4TH 2 i WBIE | m
=AT  |4TH 2 s|lmmr  [5TH 9 i WBIE | m
=AT  |4TH 2 s|lmBr  [4TH 24 WBIE | m
=AT  |4TH 2 s|lmBr  [4TH 25 WBIE | m
=AT  |4TH 2 s|lmBr  [4TH 30 WBIE | m
=AT  |4TH 2 s|lmBr  [4TH 31 WBIE | m
=AT  |4TH 2 s|lmEr  [4TH 32 WBIE | m
=ET  |4TH 2 5|miiar[4T B 30 2 WBIE | m
=AT  |4TH 2 5|miiEar[4T B 101 3 WBIE | m
=AT  |4TH 2 olzmr  [4TH 68 8 WBIE | m
=AT  |4TH 2 |zl [4TH 67 WBIE | m
AT 4TH 2 7| HT 5TH 140 2 HEITE il
=AT  |4TH 2 |zl [4TH 68 7 WIE | m
=AT  |4TH 2 |zl [4TH 68 9 WBIE | m
=AT  |4TH 2 olzmEr  [3TH 23 WBIE | m
AT 4TH 2 10| AT 4TH 28 1 HITE il
=AT  |4TH 2 1|=Ar  |4TH 7 WBIE | m
=AT  |4TH 2 1|=Ar  |5TH 11 WBIE | W
=AT  |4TH 2 12 WBIE | m
TRET 4TH 2 13 i3 it}
SRET 4TH 2 14 i3 i}
=T 4TH 2 15| AT 4TH 40 2 HEITE il
AT 4TH 2 16| AT 2TH 29 2 HITE il
mHET 4TH 2 17| =ET 3TH 25 2 HEITE il
TRET 4TH 3 1|5 ET 4TH 11 i3 it}
=AT  |4TH 3 2olzmmr  [4TH 45 WIE | m
=AT  |4TH 3 slmmr  [4TH 14 WIE | m
=AT  |4TH 3 slzmr  [4TH 15 WBIE | m
=AT  |4TH 3 |zl [4TH 46 WBIE | W
=AT  |4TH 3 slmmr  [2TH 135 WBIE | W
=AT  |4TH 3 slmmr  [4TH 16 i WBIE | W
HAT  |4TH 3 slmmr  [4TH 16 2 WBIE | W
=AT  |4TH 3 s|lmEr  [4TH 45 WBIE | W
HAT  |4TH 3 6|zl [4TH 35 WBIE | W
=AT  |4TH 3 6|zl [4TH 41 WBIE | W
=AT  |4TH 3 olzmr  [4TH 43 WBIE | m
=ET  |4TH 3 H|z=m [4TH 40 3 WBIE | m
TRET 4TH 3 8 303 il
=AT  |4TH 3 olzmr  [4TH 18 WBIE | m
=AT  |4TH 3 olzmmr  [4TH 33 WBIE | m
=AT  |4TH 3 ofmmr  [4TH 36 WIE | m
=AT  |4TH 3 olzmr  [4TH 37 WBIE | m
=AT  |4TH 3 olzmr  [4TH 38 WBIE | m
=AT  |4TH 3 olzlr  [4TH 39 WBIE | m
=AT  |4TH 3 10|=Ar  |4TH 66 WBIE | m
=ET  |4TH 3 10|=Ar  |4TH 109 WBIE | m
mET 4TH 3 10| = AT 4TH 115 HEITE il
=AT  |4TH 3 10|EE1¥ET 3T B 10 WBIE | m
=AT  |4TH 3 10|s1vET 4T B 1 WBIE | m
mET 4TH 3 11| =HET 4TH 65 1 HEITE il
mET 4TH 3 12| =ET 4TH 65 2 HITE il
mHET 4TH 3 13| =HT 4TH 62 2 HEITE il
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
RET 4TH 3 13| 5RHT ATH 96 i30S [l
T ATH 3 13| 5ET 4TH 100 BT [l
AT ATH 3 13| 5ET 4TH 101 BT [l
T ATH 3 13| 5ET 5TH 103 2 BT [l
RET 4TH 3 13|RiEIFET AT B 8 iR il
AT ATH 3 14| 53ET 5TH 103 1 BT [l
AT ATH 3 15| 5HT 4TH 62 3 BT [l
T ATH 3 16| BHET 4TH 65 4 BT [l
R ET 4TH 3 17 TR [l
AT 4TH 4 1|zEr 2TH 45 1 BT ]
RET 4TH 4 2|RHET 4TH 47 2 TR il
RET 4TH 4 3|RHET 4TH 47 1 TR [l
L 4TH 4 4|zET 4TH 48 1 BT [l
AT 4TH 4 5| R ET 4TH 48 3 i30S [l
AT ATH 5 1|5 ET 4TH 40 1 i30S [l
AT ATH 5 2| R HET 4TH 48 2 i30S [l
AT ATH 5 3|RHET 4TH 55 1 i30S [l
AT ATH 5 4| FET 4TH 55 2 i30S [l
AT ATH 5 4| FET 4TH 105 i30S [l
AT 4TH 5 5| R ET 4TH 49 i30S [l
AT ATH 5 6 | FRET 4TH 52 1 i30S [l
AT 4TH 5 7| = ET 4TH 50 i30S [l
AT 4TH 5 7| R ET 4TH 51 i30S [l
BT 4TH 5 7| R ET 4TH 52 2 i30S il
RET 4TH 5 7| =R ET 4TH 53 i30S il
RET 4TH 5 8| = HET 4TH 40 4 i30S il
RET 4TH 6 1|5 ET 4TH 26 1 i30S il
RET 4TH 6 1|5 ET 5TH 15 i30S il
R ET 4TH 6 1|5 ET 5TH 16 i30S il
RET 4TH 6 2| R HET 4TH 27 1 i30S il
RET 4TH 6 3 BT R [l
RET 4TH 6 4 i30S il
RET 4TH 6 5| R ET 4TH 54 2 i30S il
RET 4TH 6 5| R ET 4TH 56 2 i30S [l
R ET 4TH 6 6 | ZRET 4TH 54 1 i30S [l
R ET 4TH 6 7[R ET 4TH 56 1 i30S [l
RET 4TH 6 8| R HET 4TH 68 5 i30S [l
RET 4TH 6 8| HEITHT 4T B 7 8 i30S [l
RET 4TH 6 9| HEITHET (8T B 107 2 i30S il
L 4TH 6 9| HEITET (8T B 108 HBIEE it]
RET 4TH 7 1|5 ET 4TH 87 1 TR il
RET 4TH 7 2|RHET 4TH 87 1 iR [l
RET 4TH 7 3|RHET 4TH 68 3 iR il
R ET 4TH 7 3|RHET 4TH 92 1 i30S [l
AT ATH 7 3|=ET 4TH 93 15 BT [l
RET 4TH 7 4| FET 4TH 95 2 TR [l
R ET 4TH 7 5| R ET 4TH 95 3 TR [l
RET 4TH 7 6 | ZR T 4TH 108 TR il
AT 4TH 7 6 | S AT 4TH 111 HBIEER it]
RET 4TH 7 6 | ZRET 4TH 114 TR [l
AT ATH 7 7|=ET 4TH 91 5 i30S [l
AT 4TH 7 7|EMEIEET (3T B 37 3 i30S [l
AT ATH 7 8| = HET 4TH 91 4 i30S [l
AT ATH 7 9| R HET 2TH 75 1 i30S [l
AT ATH 7 9| R HET 2TH 86 8 i30S [l
AT ATH 7 9| R HET 4TH 91 3 i30S [l
AT ATH 7 10| 5 ET 4TH 91 10 i30S [l
AT ATH 7 11| 5ET 2TH 74 1 i30S [l
AT ATH 7 11| 5ET 2TH 75 2 i30S [l
AT 4TH 7 11| 5ET 4TH 91 2 i30S [l
AT ATH 7 12| 5ET 4TH 91 9 i30S [l
T ATH 7 13| 5ET 4TH 92 3 BT [l
T ATH 7 13| 5ET 4TH 92 8 BT [l
T ATH 7 13| 5ET 4TH 93 3 BT [l
ET ATH 7 13| 5ET 4TH 93 16 BT [l
T ATH 7 14| 5ET 4TH 92 6 BT [l
T ATH 7 14| 5ET 4TH 92 9 BT [l

12/ 41 R—=2

R4.2.25¢E Rk



IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
AT 4TH 7 14| =ZHAT 4TH 93 12 HITE il
AT 4TH 7 14| =ZHAT 4TH 93 19 HITE il
mHET 4TH 7 14| =ZHAT 4TH 93 20 HITE il
AT 4TH 7 15| AT 4TH 68 2 TR il
mHET 4TH 7 15| =ET 4TH 68 4 HEITE il
mHET 4TH 7 15| AT 4TH 93 14 HITE il
HAT  |4TH 8 |z [4TH 62 i WIE | W
=AT  |4TH 8 2o|lz=mr  [3TH 77 WBIE | W
HAT  |4TH 8 olz=mr  [3TH 78 2 WBIE | W
HAT  |4TH 8 2o|lz=mr  [5TH 66 WBIE | W
HET  |4TH 8 2o|lz=mr  [5TH 97 WBIE | m
=AT  |4TH 8 2|lz=@r  [5TH 100 WIE | W
HAT  |4TH 8 |zl [4TH 80 WBIE | W
=ET  |4TH 8 slz=@r  [5TH 102 WBIE | m
=AT  |4TH 8 slmmr  [4TH 69 WBIE | m
=AT  |4TH 8 s|lmmr  [4TH 70 WBIE | m
=AT  |4TH 8 s|lmmr  [4TH 71 WBIE | m
=AT  |4TH 8 slmmr  [4TH 72 WBIE | m
=AT  |4TH 8 slmmr  [4TH 76 WBIE | m
=ET  [4TH 8 slmmr  [4TH 81 i WBIE | m
=AT  |4TH 8 slmmr  [5TH 63 WBIE | m
=ET  |4TH 8 5|zl [5TH 101 WBIE | m
TRET 4TH 8 6 TR il
SRET 4TH 8 7 i3 il
=AT  |4TH 8 |zl [4TH 99 2 WBIE | m
=AT  |4TH 8 olzmdr  [4TH 58 WBIE | m
=AT  |4TH 8 olzmlr  [4TH 08 WBIE | m
=AT  |4TH 8 ofzmr  [4TH 102 WIE | m
=AT  |4TH 8 o|mimirET[4T B 13 WBIE | m
=AT  |4TH 8 10|mBr  |4TH 12 WBIE | m
=AT  |4TH 8 10|xAr  |4TH 13 WBIE | m
=AT  |4TH 9 |z [5TH 104 WBIE | m
=AT  |4TH 9 olz=m  [4TH 86 6 WBIE | m
=AT  |4TH 9 slzdr  [4TH 85 i WBIE | m
=AT  |4TH 9 slmmr  [4TH 82 i WBIE | m
=AT  |4TH 9 s|mlr  [2TH 74 2 WBIE | m
=AT  |4TH 9 s|lmBr  [4TH 93 9 WBIE | m
AT 4TH 9 5| HT 4TH 93 18 HITE il
=AT  |4TH 9 5|siEiAr[3T B 37 i WBIE | W
=AT  |4TH 9 olzmr  [4TH 92 2 WBIE | @
=AT  |4TH 9 olzdr  [4TH 93 2 WIE | m
=AT  |4TH 9 6|mimiar[3T B 37 2 WBIE | m
=AT  |4TH 9 1z=m [2TH 86 7 WBIE | W
=AT  |4TH 9 1z=d [4TH o1 i WBIE | W
mET 4TH 9 7| R 4TH 117 2 HITE il
=AT  |4TH 9 |zl [4TH 86 4 WBIE | W
HAT  |4TH 9 ofzdr  [5TH 149 WBIE | W
=AT  |4TH 9 ofzdr [5TH 150 WBIE | W
HAT  |4TH 9 ofzdr  [sTH 151 WBIE | W
=HET 4TH 10 1| 3= HET 5TH 152 HBITE il
=ET  |4TH 10 2o|l=m  [5TH 79 i WIE | m
=AT  |4TH 10 3lz=@r  [5TH 64 WBIE | m
=AT  |4TH 10 slmmr  [4TH 90 WIE | m
=ET  |4TH 10 s|lmBr  [4TH 87 i WBIE | m
=ET  |4TH 10 6|zl [2TH 86 3 WBIE | m
=ET  |4TH 10 olzmr  [4TH 68 6 WBIE | m
=ET  |4TH 10 Hz=m [4TH 93 8 WBIE | m
=ET  [4TH 10 |mmwar[3TH 37 4 WBIE | m
=ET  |4TH 10 |mmmar[4TH 7 4 WBIE | m
=ET  [4TH 10 |zl [2TH 86 i WBIE | m
=AT  |4TH 10 |zl [2TH 87 WBIE | m
mET 4TH 10 8| HT 4TH 93 13 HEITE il
mHET 4TH 10 9| AT 4TH 93 10 HEITE il
mHET 4TH 10 9| AT 5TH 140 1 HEITE il
mET 4TH 10 9| AT 5TH 146 2 HEITE il
=AT  |4TH 10 10 WBIE | m
=AT  |4TH 11 1|z [2TH 7 2 wIE | m
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IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
AT 4TH 11 2|=HT 4TH 88 4 HITE il
AT 4TH 11 3| AT 4TH 88 9 HITE il
=ET |4TH 11 a|l=BT [4THE 88 i WBIE | m
AT 4TH 11 5| HT 4TH 88 5 TR il
mHET 4TH 11 6| AT 4TH 88 3 HEITE il
=AT  |4TH 11 6|mmiar 7T 9 i WBIE | @
HAT  |4TH 11 6|mimirar 7T B 10 i WIE | m
= HT 4TH 11 7|=ET 4TH 112 HBITHR il
RHET 4TH 11 7| ET 4TH 113 2 HBITHR il
=HT 4TH 11 7|=ET 4TH 113 3 HBITE il
=HT 4TH 11 7| ET 4TH 116 HBITE il
mHET 4TH 11 8| AT 4TH 88 8 HBITE il
mHET 4TH 11 9| AT 4TH 88 7 HBITE h
=ET  |4TH 11 10|=Er  |4TH 88 6 WBIE | m
=ET  |4TH 11 1|=Er  |4TH 88 12 WBIE | m
=ET  |4TH 11 12|Er  |4TH 88 11 WBIE | m
=ET  |4TH 11 13|=Ar  |4TH 88 10 WBIE | m
=ET  |4TH 11 14|=Br  |5TH 139 WBIE | m
=ET  |4TH 12 1|EiEieEr (8 T B 106 WBIE | m
=ET  [4TH 12 1| s 1eEr (8 T B 107 i WBIE | m
=ET  |4TH 12 2olz=m  [4TH 97 5 WBIE | m
=ET  |4TH 12 2o|l=m  [5TH 140 3 WBIE | m
=ET  |4TH 12 slzmr  [4TH o1 7 WBIE | m
mET 4TH 12 3| AT 4TH 117 4 HEITE il
mHET 4TH 13 1| = HT 4TH 104 HEITE il
=AT  |4TH 13 1|EimivET [3T B 5 i WBIE | m
=AT  |4TH 13 1|EimivEr [3T B 5 2 WBIE | m
T 4TH 13 2|=HT 4TH 85 3 HEITE il
=AT  |4TH 13 3|miEiTET[3 T B 6 i WBIE | m
=AT  |4TH 13 3|mimirET[3T B 6 2 WBIE | m
=AT  |4TH 13 3|mimirar[3T B 6 3 MBIE | m
=AT  |4TH 13 4|=iEAr[3T B 36 2 BIE | W
=AT  |4TH 13 5|siEIEAT[3T B 9 2 WBIE | W
=AT  |4TH 13 6|mimiar[3T B 8 WBIE | W
=AT  |4TH 13 6|mimiar[5T B 8 WBIE | W
=AT  |4TH 13 6|mimiar[5T B 47 WBIE | W
=AT  |4TH 13 |mmwar[3TH 9 3 BIE | W
=HET 4TH 13 8| AT 4TH 117 1 HITE il
=AT  |4TH 13 8|mimiar[3T B 9 i WBIE | m
AT 4TH 13 9| AT 4TH 91 6 HITE il
mHET 4TH 13 9| AT 4TH 117 3 HITE il
=HET 4TH 13 10| AT 2TH 51 2 HITE il
=AT  |4TH 13 11| tRaT 4T B 5 i WIE | W
=AT  |4TH 13 12| 1R8] 4T B 7 2 WIE | W
mET 4TH 13 13|5EH#s1EHT |4 T B 36 4 HBITE il
=AT  |4TH 13 14551087 |8 T B 18 WBIE | m
=BT |4TH 13 15| SRR [4T B 62 i BIEE | m
=AT  |4TH 13 16| 10T 4T B 7 6 WBIE | m
=BT |4TH 13 17| tRRT 3T B 15 i BIEE | m
=AT  |4TH 13 18|Ar  |5TH 93 WBIE | m
=ET  |4TH 13 18| 10T 4T B 3 i WBIE | m
=ET  |4TH 13 19| s#g 10T |3 T B 50 WBIE | m
=ET  |4TH 13 19| #g 10T |3 T H 71 WBIE | m
=ET  |4TH 13 19| 10T |3 T B 89 i WBIE | m
=ET  |4TH 13 20| E 51787 [3 T B 6 4 WBIE | m
=ET  |4TH 14 i|zfr  [3TH 62 2 WBIE | m
=ET  |4TH 14 1|EiEieEr 7T B 112 WBIE | m
=ET  [4TH 14 2olz=m  [3TH 62 i WBIE | m
=ET  |4TH 14 3|zl [4TH 97 2 WBIE | m
=ET  [4TH 14 slmmr  [2TH 86 4 WBIE | m
=AT  |4TH 14 slmmr  [4TH 97 4 WBIE | m
=AT  |4TH 14 5| s iEiTET 4T B 11 WBIE | m
=AT  |4TH 14 6 WBIE | m
=AT  |4TH 14 =@ [1TH 10 WBIE | m
mET 4TH 14 7| ET 5TH 109 HEITE il
=AT  |4TH 14 slmBr  [1TH 13 WBIE | m
=AT  |4TH 14 olmmmar[4TH 58 2 wIEE | m
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_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
WA |4TH 14 ommirar[6 T B 23 3 WBIWE | W
HET  |4TH 14 10 WBIE | m
=ET |4TH 14 11| iR 4T B 27 i WBIE | W
=ET |4TH 14 11| teR 4T B 27 3 WBIE | W
=ET |4TH 14 11| teR 4T B 27 4 WBIEE | m
=HET 4TH 14 12| =ET 4TH 103 1 HITE il
= HT 4TH 14 13|:EHs1EHT |4 T B 21 1 HITER il
=ET |4TH 14 13| SRR 4T B 21 2 WBEE | W
HAT  |4TH 14 13|08 4T B 22 WBIE | m
HAT  |4TH 14 13| 10T 4T B 23 WBIE | W
=ET |4TH 14 13| s HRRT 4T B 24 i WBIEE | m
=ET |4TH 14 13| s RRT 4T B 24 2 BIEE | m
mHET 4TH 14 14| =T 4TH 64 1 HBITE h
=ET  |4TH 14 15| 10T |7 T B 7 4 WBIE | m
=ET  |4TH 15 i|zfr  [4TH 99 i WBIE | m
=AT  |4TH 15 2 WBIE | m
=ET  |4TH 15 s|z=dr  [3TH 78 i WBIE | m
=ET  |4TH 15 4= AT [3T B 32 WBIE | m
=ET  |4TH 15 4|=mEr 7T B 56 WBIE | m
=ET  [4TH 15 4|=mEr 7T B 57 2 WBIE | m
=ET  |4TH 15 4|=mEr 7T B 58 2 WBIE | m
=ET  |4TH 15 4|=mEr 7T B 61 2 WBIE | m
=ET  |4TH 15 4|=mEr 7T B 62 2 WBIE | m
=AT  |4TH 15 4|=mEr 7T B 64 2 WBIE | m
=AT  |4TH 15 4|=mEr 7T B 65 2 WBIE | m
mHET 4TH 15 5| AT 4TH 91 8 HEITE il
AT 4TH 15 5| HT 4TH 117 5 HEITE il
T 4TH 15 6| AT 2TH 86 2 HEITE il
mET 4TH 15 6| AT 4TH 97 3 HEITE il
=AT  |4TH 15 z=d [4TH 77 WBIE | m
=AT  |4TH 15 |zl [4TH 78 WBIE | m
=AT  |4TH 15 Hz=m [4TH 79 WBIE | m
=AT  |4TH 15 |mmmar[4TH 12 WBIE | W
=AT  |4TH 16 |z [4TH 17 WBIE | W
=AT  |4TH 16 |z [4TH 57 WBIE | m
=AT  |4TH 16 1|EiEieEr (3T B 69 WBIE | W
=AT  |4TH 16 1|EiEieEr 4T B 14 BIE | W
=AT  |4TH 16 1|EiEieEr 4T B 16 WBIE | m
mHET 4TH 16 2|=HT 4TH 103 2 HEITE il
=AT  |4TH 16 3|mimirar[4T B 15 WBIE | W
TRET 4TH 17 30 i}
TRET 4TH 18 i35 i}
TRET 4TH 19 i3 i}
TRET 4TH 20 i35 i}
TRET 4TH 21 i35 it}
TRET 4TH 22 IR it}
TRET 4TH 23 i35 it}
TRET 4TH 24 i35 it}
TRET 4TH 25 i3 it}
TRET 4TH 26 i3 it}
SRET 4TH 27 i3S il
SRET 4TH 28 30 il
TRET 4TH 29 303 il
TR ET 4TH 30 TR il
TRET 4TH 31 303 il
TRET 4TH 32 i3S il
TRET 4TH 33 303 il
TRET 4TH 34 303 il
SRET 4TH 35 i3 il
SRET 4TH 36 303 il
SRET 4TH 37 303 il
SRET 4TH 38 303 il
SRET 4TH 39 303 il
SRET 4TH 40 i3 il
TRHT 4TH 41 303 il
SRET 4TH 42 303 il
SRET 4TH 43 303 il
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IR FE X BT R4.2.251E F

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
RET 4TH 44 i30S [l
RET 4TH 45 i30S [l
RET 4TH 46 TR il
RET 4TH 47 iR [l
RET 4TH 48 i30S [l
RET 4TH 49 TR il
RET 4TH 50 TR il
RET 4TH 51 iR [l
R ET 4TH 52 TR [l
RET 4TH 53 TR il
RET 4TH 54 TR il
AT 5TH 1 1| =BT 5TH 1 1 HBIEE it]
RET 5TH 1 2|RHET 5TH 24 2 TR [l
AT 5TH 1 2|RHET 5TH 29 1 i30S [l
AT 5TH 1 3|HHMEITET (4T B 105 1 i30S [l
AT 5TH 1 A|RHEIFET AT B 105 3 i30S [l
AT 5TH 1 5| R ET 5TH 28 1 i30S [l
AT 5TH 1 6 | ZRET 5TH 26 i30S [l
AT 5TH 1 7| =BT 5TH 45 5 i30S [l
AT 5TH 1 7|=ET 5TH 46 3 i30S [l
AT 5TH 1 8| R HET 5TH 45 3 i30S [l
AT 5TH 1 9| R HET 5TH 38 1 i30S [l
AT 5TH 1 9| R HET 5TH 40 i30S [l
BT 5TH 1 10 BT R il
T 5TH 1 11| 58T 5TH 33 1 BT [l
T 5TH 1 11| 38T 5TH 34 1 BT [l
T 5TH 1 12| 5ET 6T H 88 1 BT [l
T 5TH 1 13| 5ET 5TH 36 1 BT [l
R ET 5TH 1 13| ZRHT 5TH 41 i30S il
T 5TH 1 13| 5ET 5TH 43 1 BT [l
T 5TH 1 13| 5ET 5TH 43 2 BT [l
AT 5TH 1 14| 5ET 5TH 39 1 BT [l
AT 5TH 1 15| 5ET 5TH 31 1 BT [l
RET 5TH 1 16| ZRET 1TH 9 2 i30S [l
R ET 5TH 1 17| 5ET 1TH 58 i30S [l
R ET 5TH 2 1|5 ET 5TH 23 i30S [l
RET 5TH 2 1|5 ET 5TH 24 1 i30S [l
RET 5TH 2 2|RHET 2TH 30 2 i30S [l
AT 5TH 2 3|EMEITET 2T B 100 HBIEE it]
RET 5TH 2 4 i30S [l
RET 5TH 2 5| R ET 5TH 4 2 TR il
RET 5TH 2 5| R HET 5TH 6 iR [l
RET 5TH 2 6 | FRET 5TH 4 1 iR il
R ET 5TH 2 7| =BT 5TH 7 TR [l
L 5TH 2 T|EHEIEET 7T B 103 1 HBiIEER it]
RET 5TH 2 8| R HET 5TH 18 TR [l
R ET 5TH 2 9| R HET 5TH 17 3 TR [l
RET 5TH 2 9| R HET 5TH 17 5 TR il
AT 5TH 2 10| BET 2TH 26 2 BT [l
mHET 5TH 2 10| AT 5TH 19 3 HBITE H
AT 5TH 2 10| 5 ET 5TH 19 5 i30S [l
AT 5TH 2 11| 5ET 5TH 19 2 i30S [l
AT 5TH 2 11| 5ET 5TH 19 4 i30S [l
AT 5TH 2 12 MEE R i
AT 5TH 2 13 BT i
AT 5TH 2 14| 5ET 5TH 20 i30S [l
AT 5TH 2 15| 5RET 5TH 72 2 i30S [l
AT 5TH 2 16| ZRET 5TH 25 i30S [l
AT 5TH 2 16| ZRET 5TH 53 1 i30S [l
AT 5TH 3 1|5 ET 5TH 47 i30S [l
AT 5TH 3 1|5 ET 5TH 48 i30S [l
BT 5TH 3 1|5 ET 5TH 91 i30S il
RET 5TH 3 2| R HET 4TH 92 7 i30S il
T 5TH 3 2|zET 5TH 17 12 BT [l
ET 5TH 3 2|zET 5TH 17 17 BT [l
RET 5TH 3 2| H1THT 4T B 38 i30S il
R ET 5TH 3 2| H1THT 4T B 39 i30S il
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_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
=ET  |5TH 3 2|mmmar[4T B 40 WBIWE | W
AT 5TH 3 3| AT 5TH 17 13 HITE il
mHET 5TH 3 4| R HET 5TH 17 14 HITE il
=ET  |5TH 3 5|z [5TH 17 9 WIE | m
=ET  |5TH 3 6lzdr  [5TH 65 WBIE | W
=AT  |5TH 3 =@ [5TH 17 2 WBIE | m
=AT  |5TH 3 z=@  [5TH 59 i WIE | W
=ET  |5TH 3 1z=@  [5TH 59 2 WBIE | W
=ET  |5TH 3 1z=@  [5TH 61 WBIE | W
=ET  |5TH 3 1z=@  [5TH 68 WBIE | W
=ET  |5TH 3 sl [5TH 19 6 WBIE | m
=ET  |5TH 3 ofdr  [sTH 19 i WIE | W
mHET 5TH 3 10| AT 3TH 37 2 HBITE h
=BT |5TH 3 10|=Er  |5TH 54 WBIE | m
=BT |5TH 3 10|=Er  |5TH 55 WBIE | m
=ET  |5TH 3 10|=r  |5TH 60 WBIE | m
=ET  |5TH 3 1|=Er  |5TH 17 10 WBIE | m
=BT |5TH 3 1|=Er  |5TH 17 15 WBIE | m
=ET  |5TH 3 12|Br  |5TH 17 11 WBIE | @
=BT |5TH 3 12|Br  |5TH 17 16 WBIE | m
=BT |5TH 3 13|=Ar  |5TH 17 8 WBIE | m
=BT |5TH 3 14|=Er  |5TH 17 i WBIE | m
=BT |5TH 3 15| g 0T |2 T 90 2 WBIE | m
mET 5TH 3 16| AT 5TH 46 1 HEITE il
mHET 5TH 3 17| =HT 5TH 45 6 HEITE il
mHET 5TH 3 17| =R 5TH 46 2 HEITE il
=AT  |5TH 4 1|zBr  [5TH 21 WBIE | m
=AT  |5TH 4 1|zBr  [5TH 73 WIE | m
=AT  |5TH 4 1|zBr  [5TH 74 WBIE | m
=AT  |5TH 4 1|zBr  [5TH 76 WBIE | m
=AT  |5TH 4 |z [5TH 92 WBIE | m
=AT  |5TH 4 2lz=m  [5TH 69 i WBIE | m
=AT  |5TH 4 3|zl [5TH 8 5 WBIE | m
=AT  |5TH 4 slmmr [1TH 22 2 WBIE | m
=AT  |5TH 4 5|zl [1TH 20 WBIE | m
=AT  |5TH 4 5|zl [5TH 45 4 WBIE | m
=ET  |5TH 4 5|zl [5TH 49 WBIE | m
=ET  |5TH 4 5|zl [5TH 50 WBIE | m
=ET  |5TH 4 5|zl [5TH 51 WIE | m
=ET  |5TH 4 6l [5TH 52 WBIE | m
=ET  |5TH 4 6l [5TH 70 WIE | m
=ET  |5TH 4 6lzdr  [5TH 71 WIE | m
=ET  |5TH 4 1z=m  [5TH 08 WBIE | m
=AT  |5TH 4 |zl [5TH 57 WBIE | W
=AT  |5TH 4 |zl [5TH 58 WBIE | W
=AT  |5TH 4 ofzlr  [2TH 26 3 WBIE | W
=ET  |5TH 4 10|xfr  |5TH 65 WBIE | W
=ET  |5TH 4 1|=Ar  |5TH 67 WBIE | W
=ET  |5TH 4 12|Er  |4TH 73 WBIE | W
=AT  |5TH 4 12|Er  |4TH 74 WBIE | W
=AT  |5TH 4 12|Er  |4TH 75 WBIE | m
=ET  |5TH 4 12|Er  |4TH 83 i WBIE | m
=ET  |5TH 4 12|Br  |5TH 62 i WBIE | m
=ET  |5TH 4 13|=Br  |5TH 62 3 WBIE | m
=BT |5TH 4 14|=Br  |5TH 62 2 WBIE | m
=ET  |5TH 4 15| g 0T |3 T B 76 2 WBIE | m
=BT |5TH 4 16|=Br  |5TH 72 i WBIE | m
=BT |5TH 4 17|mBr  |5TH 96 WBIE | m
=BT |5TH 4 18| #5 10T |3 T 76 i WBIE | m
=AT  |5TH 5 |z [5TH 22 WBIE | m
=BT |5TH 5 |z [5TH 53 2 WBIE | m
=AT  |5TH 5 1|EimivEr 2T B 10 WBIE | m
=AT  |5TH 5 2|mimirEr |7 T B 87 WBIE | m
=AT  |5TH 5 slmEr  [5TH 90 WBIE | m
TRHT 5TH 5 4 TR il
SRET 5TH 5 5 303 il
=AT  |5TH 5 ol=dr  [sTH 95 wIE | m
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IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
=ET  |5TH 5 6o|=@r  [5TH 105 WBIE | W
=ET  |5TH 5 6|zl [5TH 106 WBIE | m
TRET 5TH 5 7 i3 it}
TRET 5TH 5 8 30 i}
mHET 5TH 5 9| AT 5TH 114 3 HEITE il
=HET 5TH 5 10| AT 5TH 114 7 HITE il
= HT 5TH 5 11| =ET 5TH 114 6 HITE il
= HT 5TH 5 11| =HAT 5TH 119 2 HBITH il
mHET 5TH 5 12| =HT 5TH 114 8 HBITHR il
mHET 5TH 5 13| =HT 5TH 114 9 HBITE il
mHET 5TH 5 14| =HAT 5TH 89 1 HBITE il
=BT |5TH 5 15|=8r 4T H 107 WBiEE | W
=AT  |5TH 6 s [5TH 83 i WBIE | W
=BT |5TH 6 i|zfr  [5TH 84 i WBIE | m
=BT |5TH 6 2o|lz=mr  [2TH 108 2 WIE | m
=AT  |5TH 6 3lz@r  [5TH 27 WBIE | m
=ET  |5TH 6 slz=@r  [5TH 45 2 WBIE | m
=ET  |5TH 6 slz@r  [5TH 77 WBIE | m
=AT  |5TH 6 s|lmmr  [5TH 75 WBIE | m
=ET  |5TH 6 5|zl [5TH 78 WBIE | m
=AT  |5TH 6 5|zl [5TH 80 WBIE | m
=ET  |5TH 6 6|zl [5TH 5 WBIE | m
=ET  |5TH 6 6lzlr  [5TH 56 BIE | m
=AT  |5TH 6 1z=m  [5TH 85 i WBIE | m
=AT  |5TH 6 8|mimiar[3T B 104 i WBIE | m
=AT  |5TH 6 8|mimiar[3T B 105 WBIE | m
TRHT 5TH 6 9 303 il
=AT  |5TH 7 |z [5TH 117 WIE | m
=AT  |5TH 7 2olz=m  [5TH 82 i WBIE | m
=AT  |5TH 7 2o|lz=d  [sTH 88 WBIE | m
=AT  |5TH 7 2lz=m  [5TH 94 WBIE | m
=AT  |5TH 7 2lz=m  [5TH 107 WBIE | m
=AT  |5TH 7 2o|lz=m  [5TH 112 WBIE | W
=AT  |5TH 7 2olz=m  [5TH 113 WBIE | W
=AT  |5TH 7 2|lz=m  [5TH 120 WBIE | m
=AT  |5TH 7 2o|lz=m  [5TH 123 WBIE | m
=ET  |5TH 7 2lz=mr  [6TH 89 i WBIE | m
=ET  |5TH 7 2olz=mr  [6TH 90 i WIE | m
TRET 5TH 7 3 i3 it}
=HET 5TH 8 1| = HT 5TH 114 1 HITE il
=ET  |5TH 8 |z [5TH 118 WIE | m
=HET 5TH 8 1| 3= HET 5TH 119 1 HITE il
TRET 5TH 8 2 i35 i}
=ET |5TH 8 s|mEr [5TH 108 i WBIEE | W
mET 5TH 8 3|=HET 5TH 108 2 HITE il
mET 5TH 8 3|=HET 5TH 145 3 HBITE il
=HET 5TH 8 4| TR HET 5TH 110 1 HBITE il
mHET 5TH 8 4| R HET 5TH 145 2 HBITE il
=ET  |5TH 8 5|zl [5TH 147 WBIE | W
mHET 5TH 8 5| HET 5TH 147 1 HBITE il
=BT |5TH 8 5|zl [5TH 148 WBIE | m
=ET  |5TH 8 5|zl [5TH 148 i WBIE | m
=ET  |5TH 8 6lz=dr  [5TH 110 4 WBIE | m
=ET  |5TH 8 6lzdr  [5TH 145 i WBIE | m
=BT |5TH 8 1z=m  [5TH 145 5 WBIE | m
=ET  |5TH 8 |zl [5TH 110 2 WBIE | m
=BT |5TH 8 |zl [5TH 110 3 WBIE | m
=BT |5TH 8 |zl [5TH 110 5 WBIE | m
=BT |5TH 8 |zl [5TH 145 4 WBIE | m
=BT |5TH 8 |zl [5TH 145 6 WBIE | m
=BT |5TH 8 ofzmr  [5TH 111 WBIE | m
mET 5TH 8 10| = AT 5TH 114 2 HEITE il
mHET 5TH 8 10| AT 5TH 114 4 HEITE il
mHET 5TH 8 10| AT 5TH 114 5 HEITE il
=AT  |5TH 9 |z [5TH 45 i WBIE | m
mET 5TH 9 2|=HT 5TH 116 1 HITE il
mHET 5TH 9 3| AT 5TH 116 2 HEITE il
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
T 5TH 9 4|=ET 5TH 116 3 BT il
T 5TH 9 5|5ET 5TH 142 1 BT [l
RET 5TH 9 6 | ZRET 5TH 143 TR il
RET 5TH 9 7| R ET 5TH 144 iR [l
RET 5TH 9 8 i30S [l
RET 5TH 10 TR il
RET 5TH 11 1|ERET 1TH 67 TR il
T 5TH 11 1|87 2TH 132 BT [l
AT 5TH 11 1|58y 5TH 125 BT [l
AT 5TH 11 1|58y 5TH 126 2 BT [l
AT 5TH 11 1|87 5TH 127 BT [l
AT 5TH 11 2|=ET 5TH 121 2 BT [l
mHET 5TH 11 2|=HT 5TH 122 HBITE H
AT 5TH 11 2|HHEITRT (2T B 40 i30S [l
AT 5TH 11 2|HHEITET (3T B 104 2 i30S [l
AT 5TH 11 3|RHET 5TH 121 1 i30S [l
AT 5TH 11 4| FET 5TH 132 i30S [l
AT 5TH 11 4| FET 5TH 133 i30S [l
AT 5TH 11 5| R ET 5TH 134 i30S [l
AT 5TH 11 5| R ET 5TH 135 i30S [l
AT 5TH 11 5| R ET 5TH 142 2 i30S [l
AT 5TH 11 6 | ZR BT 5TH 136 i30S [l
AT 5TH 11 6 | ZR T 5TH 138 i30S [l
T 5TH 11 7|5ET 2TH 64 1 BT [l
T 5TH 11 8|zET 5TH 137 BT [l
T 5TH 11 9|zET 5TH 129 BT [l
T 5TH 11 9|zET 5TH 131 BT [l
RET 5TH 11 10|RHMEIFRT (2T B 8 1 i30S il
R ET 5TH 12 i30S il
RET 5TH 13 i30S il
RET 5TH 14 i30S [l
RET 5TH 15 i30S il
RET 5TH 16 i30S il
RET 5TH 17 i30S [l
R ET 5TH 18 i30S [l
R ET 5TH 19 i30S [l
RET 5TH 20 TR [l
RET 5TH 21 i30S [l
RET 5TH 22 i30S [l
RET 5TH 23 i30S [l
RET 5TH 24 TR il
RET 5TH 25 iR [l
RET 5TH 26 TR il
R ET 5TH 27 TR [l
RET 5TH 28 TR il
RET 5TH 29 TR [l
R ET 5TH 30 TR [l
RET 5TH 31 TR il
T 2T B 1 1 32 izl
HigiET 12T H 1 2| 5 HET 5TH 124 i3 it]
HMEIERT (2T B 1 3| AT 3TH 69 i3 [it]
HHEIEET (2T B 1 3|EMEITAT 2T H 3 3 HBiEE il
HHEIEET (2T B 1 4|EiEITRT 12T H 8 6 HBIEE il
HEIEET (2T B 1 5|RHEITAT 2T B 8 2 HBiEE il
HHEIEET (2T B 1 6|SHEITET (2T B 103 i30S [l
HHEIERET (2T B 1 6|SHEITRT (2T B 104 i30S [l
HEIERT (2T B 1 6|SHEITRT (2T B 105 i30S [l
HMEIERT (2T B 1 6|SHEITRT (2T B 186 i30S [l
HMEIERT (2T B 1 6|SHEITRT (2T B 187 i30S [l
HMEIERET (2T B 1 6|SHEITRT (2T B 188 i30S [l
HHEIEET (2T B 1 1|EMEITAT 2T H 7 2 HBiEE il
HHEIEET (2T B 1 7|EMEITAT 2T B 7 4 HBiEE il
HEIEET (2T B 1 7|EMEITAT 2T B 9 1 HBiEE il
T 2T B 1 8|ER#E1THT 2T B 7 1 i30S il
T 2T B 1 9|ER#E1THAT 2T B 7 1 i30S il
BT 2T B 1 10|EHEIFRT 2T B 7 3 i30S il
HiEITET 2T B 1 10| M HERT (2T B 7 5 i30S il
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_EES | HTE | HHE | HEE | BRI | BTF | BHE | BEE | BHIER | HOnXe | HTERs
HRHEiTET 2T H 1 11|3R4EITRT 12T B 9 2 i3 il
HRiEiTET 2T H 1 12|3RE1TRT 12T B 7 6 i3 il
HHEiTET 2T H 1 13|REITRT 2T B 9 3 30 il
HiEtrAT |2 T B 1 14 HEIE R i}
HiBITET |2 T § 1 15| SAB1TET 2T B 31 2 HwEE |
HiEtTRT |2 T B 1 16 HEIER it}
HitTRT 2T B 1 17 HEIER i
HiBITET |2 T 5 1 18| SAGITET 2T B 31 1 wBEE |
HiBITET |2 T 5 1 19| SAB1TET 2T B 34 3 wBEE |
HiBITET |2 T § 1 20| iB1TET 2T B 34 1 wBEE |
HRiEiTET 2T B 1 21 HEIT R i
HRHEiTET 2T B 1 22| HEiTET 2T B 6 1 i3 il
HRHEiTET 2T H 1 23| HEiTHET 2T B 8 5 i30T i)
HHEiTET 2T B 1 24|FEHE1TET 2T B 8 4 30 i}
HiBITET |2 T B 1 25| iB1TET (2T B 3 1 HITE |
RiBITET |2 T B 1 25| iBITET (2T B 4 wBER |
HiBITET |2 T B 1 25| iB1TET (2T B 5 1 MR |
T 2T B 2 1| 4E1TET (3T H 74 30 it}
HiBITET |2 T § 2 1|5iITET 4T B 27 2 HwITE |
HiBITET |2 T B 2 2|;ET  |5TH 126 3 MR |
HiBITET |2 T B 2 2|;ET  |5TH 128 MR |
HiBITET |2 T B 2 2|;RET  |5TH 130 MR |
HiBITET |2 T B 2 2|HABITET 2T B 12 1 WITE |
HiBITET |2 T § 2 2|HABITET 2T B 12 2 HITE |
RiGIERT |2 T B 2 2|SHABITET 2T B 12 3 By | T
HiBITET |2 T B 2 3BT |2TH 57 HwBIER |
HiBITET |2 T B 2 3|EABITET 2T B 13 1 IR |
RiGIERT |2 T B 2 3|sEABITET 2T B 13 2 By |
RiGIERT |2 T B 2 3|sEABITET 2T B 21 1 BiyR | T
HiEtTRT |2 T B 2 A|RHEITFET 2T B 14 MR it}
HiGE 2T H 2 4| HEITHT |2 T B 15 e i}
HiEE 2T H 2 A|HEHEITHT |2 T B 16 e s it}
HiBITET |2 T B 2 A|HiBITET (2T B 17 HwyE |
RiBITET |2 T B 2 5|SRABITET 4T B 36 1 HwyE |
RiGEE 2T H 2 6|H 1 TET |3 T B 3 1 s it}
RiGHEE 2T H 2 7|EHEITET |3 T B 3 2 HEIEE i}
HRiEiTET 2T H 2 7| IEHET 3T B 3 4 30 il
RigIE 2T H 2 8|H i THT |2 T B 18 e it}
HRHEiTHET 2T H 2 8| ITHT 2T B 19 1 i3 il
RiGIERT |2 T B 2 8|SEHBITET |2 T B 20 1 IR | T
HRHEiTET 2T H 2 8| HEITHT 2T B 20 4 30 il
HiGE 2T H 2 9|HHEITHT |2 T B 11 MRS it}
RiGIERT |2 T B 3 1|5 iITET |2 T B 30 1 BigR | T
RiGIERT |2 T B 3 1|58 |2 T B 30 2 BigR | T
RiGIERT |2 T B 3 2|SHABITET 2T B 30 3 BIgR | T
RiGIERT |2 T B 3 3|SEABITET 2T B 27 1 BigR | T
HRiEiTET 2T H 3 A|REITRT 12T B 28 1 i35 i)
HiBITET |2 T 5 3 A|HiBITET 2T B 28 2 wBEE |
HiBITET |2 T § 3 A|HiEITET (2T B 28 3 wBEE |
HRHEiTET 2T H 3 5|FRHEIEHRT 2T H 22 1 i30T i)
HiBITET |2 T B 3 6|SEABITET 2T B 22 2 HIE |
HABITHET (2T B 3 7|EiEITET 2T B 23 1 BigR | T
HABITHET (2T B 3 8|HifpITET 2T B 23 2 wBigR |
HiBITET |2 T B 3 9|sEHBITET 2T B 50 MR |
HABITHET (2T B 3 10| H1TET |2 T § 62 1 By | T
HABITHET (2T B 3 11| TR 2T § 25 2 i3 S}
HABITHET (2T B 3 12| HITET 2T § 25 1 wBiyR | T
HABITHET (2T B 3 13| TR |2 T § 57 3 By |
HEAGIAT 2T B 3 14| 5 17ET 2T B 26 IR | W
HiBITET |2 T B 3 15| SAB1TET 2T B 48 2 HWITE |
HABITHET (2T B 3 15| HETET |2 T § 57 5 By | T
HiBITET |2 T B 3 16| SAB1TET 2T B 43 wBER |
HiBITET |2 T B 3 16| SABITET 2T B 46 wBER |
HiBITET |2 T B 3 16| SAB1TET 2T B 75 wBER |
HiBITET |2 T B 4 1|5iEITET |2 T B 57 1 HWITE |
HiEtTRT 2T B 4 1|E4ETET (2T B 57 4 i3 it}
HiBITET |2 T B 4 2|;RET  |ATH 95 1 wBIER |
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HHEITHET 2T B 4 3|EHMEITAT (2T B 60 HEinE il
HHEITHET 2T B 4 3|HHMEITAT (2T B 61 HEinE il
HiEITAT 2T B 4 3| EHEITHT 4T B 9 TR ol
HHEITHET 2T B 4 A|RiBITRT 12T B 64 HEiE il
HiEITAT |2 T B 4 5|HHEtTET |2 T B 63 1 MRS ol
HHEITHET 2T B 4 5|3 HEIERT (2T B 65 HEiE il
BHEITHET 2T B 4 6| HEITRT (2T B 66 HEinE il
BHEITHET 2T B 4 6| HEITRT (2T B 67 HEinE il
HHEITHET 2T B 4 7|EAMEIERT (2T B 68 MBI s il
HHEITHET 2T B 4 8|HHEITHAT 7T B 29 HEinE il
HHEITHET 2T B 4 9|ZHEITHAT (2T B 48 1 HEinE il
HHEITHET 2T B 4 9|HHEITAT (2T B 49 HEinE il
HiEITRT |2 T B 4 9|HHEiTHT |2 T B 51 1 HEIEER ol
HiEITRT 2T B 4 9|HHEITHT |2 T B 56 2 HEHEER ol
HiEITAT |2 T B 4 9|HHEITHT |2 T B 57 2 MRS ol
HiEITRT |2 T B 4 9|HHEiTHT |2 T B 58 1 MRS ol
HiEITAT |2 T B 4 9|HHEiTHT |2 T B 59 2 HEIEER ol
HHEIEET (2T B 5 1|EHEHEIERET (2T B 45 HBiEE il
HiEITRT |2 T B 5 2|HEHEiTHET |2 T B 69 1 HEIEER ol
HiEITAT |2 T B 5 3| EHEITHET 2T B 53 1 MRS ol
HiEITAT |2 T B 5 3| EHEITHET 2T B 73 i35 ol
HiEITAT |2 T B 5 3| EHEITHET 2T B 74 MRS ol
HiEITAT |2 T B 5 4| HEITHT |2 T B 53 2 MRS ol
HHEIERT (2T B 5 Al HEITRT |2 T B 54 HBiEE il
HHEITRT (2T B 5 5|ER#1THAT |3 T B 7 1 HBiEE il
HHEIEET (2T B 5 6| H#E1THAT 3T B 7 2 HBiEE il
HHEIEET (2T B 5 7| #1THET 3T B 7 3 HBiEE il
HiEITAT |2 T B 5 8|HHEITHET |2 T B 76 HEFEER ol
HHEIERT (2T B 5 8|ER#E1THAT 2T B 77 HBiEE il
HHEIERT (2T B 5 8|E#E1THAT 2T B 78 HBiEER il
RiGIERT |2 T B 6 1|5 iITET |2 T B 36 1 BiyR | T
RiGIERT |2 T B 6 1|5 iITET |2 T B 36 3 By | T
HiEITRT |2 T B 6 1| (2T B 36 4 MRS ol
RiGIERT |2 T B 6 1|5 iITET |2 T B 37 1 BiyR | T
RiGIERT |2 T B 6 1|5 iITET |2 T B 37 3 By | T
HHEITHET 2T B 6 1|EiE1THT (2T B 41 HEiE il
HigiERT 12T H 6 1|E#E1TET (7T B 111 HBIEE it]
HiEITAT |2 T B 6 2|HEHEiTHET 2T B 39 1 MRS ol
HiBiERT 12T B 6 3| T 5TH 81 1 i3 it]
RiGIERT |2 T B 6 3|EABITET 2T B 29 1 IR | T
RiGIERT |2 T B 6 3|SEABITET 2T B 29 2 BN |
HiBiET 12T H 6 A|EiEITRT 7T B 104 1 HBiEE it]
RiGIERT |2 T B 6 5|SRABITET 2T B 79 1 BigR | T
RiGIERT |2 T B 6 6|SEABITET 2T B 80 1 BigR | T
HHEITHET 2T B 6 6|ZHEITRT (2T B 81 HEinE il
RiGIERT |2 T B 6 6|SEABITET 2T B 83 1 BIyR | T
HiEITAT |2 T B 6 6|H I TET |2 T B 153 HEIEER ol
HiEITAT 2T B 7 1| (2T B 85 2 HEIEER ol
HiEITAT 2T B 7 2|EHEITET 2T B 84 HEFEER ol
RiGIERT |2 T B 7 2|HABITET 2T B 85 1 BiyR | T
HiEITRT |2 T B 7 3| EHEITET 2T B 88 MRS ol
HiEITAT |2 T B 7 3| EHEITHET 2T B 192 HEIEER ol
HITET 2T B 7 4|sHiE1TET 2T B 86 IR | W
HITET 2T B 7 4|sHiE1TET 2T B 87 IR | W
HiEITAT |2 T B 7 5|H 1 THET 8T B 19 MRS ol
HiEITAT |2 T B 7 6|H 1 THET 8T B 19 MRS ol
HiEITAT |2 T B 7 7|EHEITET 2T B 113 HEFEER ol
HiEITRT 2T B 7 8|E eI THT |2 T B 115 HEFEER ol
HiEITRT |2 T B 7 8|H I TET |2 T B 116 HEIEER ol
HiEITAT |2 T B 8 1|ERHEITET (2T B 90 1 MRS ol
HiEITAT |2 T B 8 2|EHEiTHET |2 T B 91 MRS ol
HHEIEET (2T B 8 2|FEH1THAT 2T B 92 HBiEE il
HEIEET (2T B 8 3|EHEITHT 2T B 93 HBiEE il
HiEITAT |2 T B 8 4| HEITHT |3 T B 83 HEIEER ol
HiEITAT 2T B 8 5|EHEITET 2T B 106 MRS ol
HiEITAT 2T B 8 6|E I TET |2 T B 107 MRS ol
HiEITAT 2T B 8 7|EHEITET 2T B 109 HEFEER ol
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_EEE | HTE | HE | SEE| BRE | IBTE | BHE | BEE | MR | senRae| miraRs
HiEITAT |2 T B 8 8|HHEITHT |2 T B 108 MRS ol
HigiERT 12T H 8 9|EHEITET 2T B 111 HBIEE it]
HiEITAT 2T B 8 9|HHEiTHT |2 T B 112 HEFEER ol
HiEITRT 2T B 8 10| S 51T HT |8T B 19 HEIEER ol
HHEIERT (2T B 8 11 32 [it]
SRR |2 T B 8] 12|mismEr|[7TH 11 i e |
S i ERET 2T B 8| 13[mismEr[2TH 90 3 e |
BHEITHET 2T B 9 1|EHEiTHT (2T B 70 HEIPE il
HHEITHET 2T B 9 1|E4E1THT (2T B 71 HEIPE il
HHEITHET 2T B 9 1|EHE1THT (2T B 72 HEIPE il
HHEITHET 2T B 9 2| HEIFAT (2T B 94 HEIPE il
RiGIERT |2 T B 9 3|sEHBITET 3T B 61 1 BiyR | T
HHEITHET 2T B 9 A|RiBITRT 2T B 96 HEIPE il
HHEIERT (2T B 9 Al IR |2 T B 97 HBiEE il
HMEIERT (2T B 9 Al HE1TRT |3 T B 40 HBiEE il
HiEITRT |2 T B 9 5|HHEITET |2 T B 94 MRS ol
HiEITAT |2 T B 9 6|H I THET |2 T B 98 HEIEER ol
HiEITRT 2T B 9 7|EHEITET 2T B 99 HEFEER ol
HiEITRT |2 T B 9 8 MR il
HiEITAT |2 T B 9 9 MR il
HiEITAT |2 T B 9 10|HH51THT 4T B 17 2 i35 ol
HiEITAT |2 T B 9 11| HHEITET |2 T B 101 MRS ol
HiEITAT |2 T B 9 11|HHEITET |2 T B 102 2 MRS ol
HiEIEAT |2 T B 9 12|HHE1TET |2 T B 102 1 MRS ol
HiEITAT |2 T B 9 13|RiBITRT 4T B 61 HEIEER ol
HiEITAT |2 T B 9 13|RiBITRT 4T B 67 HEFEER ol
HiEITRT 2T B 9 13| S HEITET 4T B 98 1 HEIEER ol
HiEITAT |2 T B 9 13| HHE1THT 4T B 99 1 HEFEER ol
HiEITAT 2T B 9 13| HHE1TET 4T B 100 HEIEER ol
HHEIERT (2T B 10 i3 [it]
HHEITHET 2T B 11 HEifE [it]
HHEITHET 2T B 12 s [it]
HHEITHET 2T B 13 HEifE [it]
HHEITHET 2T B 14 s [it]
HHEITHET 2T B 15 s [it]
HHEITHET 2T B 16 i E i)
HHEITHET 2T B 17 HEifE i)
HHEITHET 2T B 18 HEifE i)
HHEITHET 2T B 19 HEifE [it]
HHEITHET 2T B 20 HEifE [it]
HHEITHET 2T B 21 HEifE [it]
HHEITHET 2T B 22 HifE [it]
BHEITHET 2T B 23 s [it]
HiEITAT 2T B 24 MR il
HHEITHET 2T B 25 i s [it]
HHEITHET 2T B 26 i s [it]
BHEITHET 2T B 27 s [it]
HEHEITHET 2T B 28 s [it]
HHEITHET 2T B 29 s [it]
HHEITHET 2T B 30 i s [it]
HHEIEET (3T B 1 1|EHEERT (3T B 4 1 HBiEE il
HHEIEET (3T B 1 1| MR (3T B 4 3 HBiEE il
HiEITAT 3T B 1 1|EHEIET (3T B 21 MRS ol
HiEITRT 3T B 1 2|HE i TET |3 T B 19 2 MRS ol
HABITHET (3T B 1 3|EipITET 3T B 19 3 BigR | T
HHEIERT (3T B 1 A|FRHEIERT |2 T B 114 HBiEE il
HiEITAT 3T B 1 5|H I TET 2T B 110 HEFEER ol
HiEITRT 3T B 1 6|H 1 THET |3 T B 16 2 MRS ol
HiEITRT 3T B 1 7|EHEITET |3 T B 16 1 MRS ol
HiEIEAT 3T B 1 8|E I TET |2 T B 38 1 MRS ol
HHEIEET (3T B 1 9| HT ATH 62 4 i3 i)
HiEITAT 3T B 1 10| #BITRT ST B 35 MRS ol
HiEITRT 3T B 1 1|2 BT 3TH 19 1 MR il
HiEITAT 3T B 1 11|z BT 3TH 20 2 MR il
HiEITAT 3T B 1 11|z ET 3TH 37 4 MR il
HiEITRT 3T B 1 11|z ET 5TH 115 i 30 il
SRR 3T B 1| 1o|mmErsTE 19 1 HtesE |
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
SAGHEE 3T B 1 13[mimtEET[3T B 26 5 HHE | W
HiEITAT 3T B 1 14| 5 H51TET |3 T B 20 MRS ol
HiEITAT 3T B 1 14| 5 H51TET |3 T B 22 HEFEER ol
HiEITRT 3T B 1 14| 5 H51TET |3 T B 23 HEIEER ol
HHEITHET 3T B 1 14|HHEIFRT 3T H 24 HEinE il
HiEITRT 3T B 2 1| (4T B 30 6 HEPEER ol
RiGIERT 3T B 2 2|SHABITET 3T B 12 7 BigR | T
HiEITRT 3T B 2 3| T 3TH 37 6 MR il
HiEITAT 3T B 2 4| HEITET |3T B 12 6 MRS ol
AT 3T H 2 5| ERAET | E[R 90 6 32 izl
HiEITAT 3T B 2 6|H 1 TET |3 T B 12 1 HEFEER ol
HHEITHT 3T B 2 7|EEMEIERT (3T B 7 5 HEinE il
RiGIERT 3T B 2 8|sHBITET |7 T B 22 1 BiyR | T
HiEITAT 3T B 2 8|H i THT |7 T B 82 HEHEER ol
HiEITAT 3T B 2 8|E i TET |7 T B 83 MRS ol
HABITHET (3T B 2 9| ifFITET (6T B 28 1 BigR |
HiEITAT 3T B 2 10| H 51T ET |3 T B 11 1 HEIEER ol
HiEITRT 3T B 2 10| S 51T ET |3 T B 11 2 HEFEER ol
HiEITRT 3T B 2 10|HH51THT 4T B 4 MRS ol
HiEITRT 3T B 2 11|z BT 5TH 45 1 MR il
HiEITAT 3T B 2 12| 5 H51TET 4T B 28 5 i35 ol
HiEITAT 3T B 2 13| HHE1THT 4T B 28 1 MRS ol
HiEITAT 3T B 2 14 MR il
HiEITAT 3T B 2 15| S HE1TET 4T B 29 1 MRS ol
HiEITRT 3T B 2 15| S HE1THT 4T B 30 0 HEIEER ol
HiEITAT 3T B 2 15| S HE1TET 4T B 34 7 HEFEER ol
HiEITAT 3T B 2 16| ZX BT 1TH 15 3 MR il
HiEITRT 3T B 2 16| S HE1THET 4T B 30 8 HEFEER ol
HiEITAT 3T B 2 17|z BT 1TH 15 4 MR il
HiEITAT 3T B 2 17| 5 H51TET 4T B 29 2 MRS ol
HiEITRT 3T B 2 17| 5 HE1TET 4T B 30 7 MRS ol
HiEITAT 3T B 2 17| 5 HE1TET 4T B 34 2 HEHEER ol
HiEITRT 3T B 2 18| S HE1THT 4T B 34 6 MRS ol
HiEITAT 3T B 2 18| S HE1THT 4T B 35 MRS ol
HiEITAT 3T B 2 19| S HE1THT 4T B 36 5 MRS ol
HiEITAT 3T B 2 20| #E1EAT 4T B 26 1 MRS ol
RiGIERT 3T B 3 1|5iBITET |2 T B 33 1 iR | T
RiIERT 3T B 3 2|SHHBITET 3T B 15 3 BiyR |
HiEITAT 3T B 3 3| EHEITHT |3 T B 15 4 MRS ol
HHEITRT 3T B 3 4| HHEITHT |3 T B 15 5 MRS ol
HHEITHET 3T B 3 5|3 HEIERT (3T B 13 HEinE il
HHEITHET 3T B 3 5|3 HEIERT (3T B 14 HEiE il
BHEITHET 3T B 3 5|3 HEIERT (4T B 31 HEinE il
HiEITAT 3T B 3 6|H I THET 4T B 32 3 HEFEER ol
HiEITAT 3T B 3 7|EHEITET 4T B 32 1 HEFEER ol
HiEITAT 3T B 3 8| Z BT 3TH 67 2 MR il
BHEITHET 3T B 3 9|HHEITAT (3T B 81 HEinE il
HiEITAT 3T B 3 10| H 51T HT |3 T B 80 HEIEER ol
HiEITAT 3T B 3 10| H 51T HT |6 T B 48 HEFEER ol
HiEITAT 3T B 3 1|5 H51TET |3 T B 33 HEFEER ol
HiEITAT 3T B 3 12| 5 HE1TET 4T B 6 1 MRS ol
HiEITAT 3T B 3 12| 5 H51TET 4T B 7 5 HEIEER ol
HiEITAT 3T B 3 13| S HE1TET 4T B 34 1 MRS ol
HHEIEET (3T B 3 14| #1FHT (4T H 34 8 HBiEE il
HiEITAT 3T B 3 15| Z2 BT 2TH 51 3 MR il
HiEITAT 3T B 3 15| 5 51T ET |3 T B 12 5 MRS ol
HHEIERT (3T B 3 16| AT ATH 94 1 i3 [it]
HiEITRT 3T B 3 16| S HE1TET 4T B 33 MRS ol
HiEITRT 3T B 3 16| S HE1TET |5T B 59 1 MRS ol
HiEIEAT 3T B 3 17| 5 H51TET |3 T B 35 MRS ol
HiEITRT 3T B 3 18| S 51T HT |3 T B 31 MRS ol
HiEITAT 3T B 3 19| S HE1TET |7 T B 10 MRS ol
HiEITRT 3T B 3 19| S5 1THT |7 T B 11 2 MRS ol
HiEITAT 3T B 4 1|1 (3T B 30 HEIEER ol
HHEIERET (3T B 4 1| MR (3T B 60 HBiEE il
HHEIERT (3T B 4 2| H#1THAT 13T B 34 HBiEE il
HHEIEET (3T B 4 3| H1THAT 13T B 38 HBiEE il
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
BHEITHET 3T B 4 A|EiBITRT 7T B 95 HEinE il
BHEITHET 3T B 4 A|RiBITRT 7T B 100 HEinE il
HHEITHET 3T B 4 A|RiBITRT 7T B 101 HEinE il
HiEITRT 3T B 4 5|EHEtTET |7 T B 27 1 HEIEER ol
HiEITAT 3T B 4 6| Z BT 2TH 49 2 MR il
HHEITHET 3T B 4 7|EEHEIERT (3T B 45 HEiE il
BHEITHET 3T B 4 8|ZHEITAT (3T B 52 HEinE il
BHEITHET 3T B 4 9|ZHEITAT (3T B 41 1 HEinE il
HigilT 13T H 4 10| #B1TET (3T B 77 HBIEER it]
BHEITHET 3T B 4 11|HEHEITFRT (4T B 51 HEinE il
BHEITHET 3T B 4 11|EHEMEITFRT (4T B 52 HEinE il
HiEITRT 3T B 4 12|HH51TET |3 T B 41 2 HEFEER ol
HHEIERET (3T B 4 13|RHEIFET 6 T B 9 TR [l
HiEITAT 3T B 4 13|HHE1THT |6 T B 13 HEHEER ol
HHEIEET (3T B 4 13| #1THT (6 T H 14 HBiEE il
HiEITRT 3T B 4 14| 5 H51TET |6 T B 96 1 MRS ol
HHEIEET (3T B 4 14| #1FHT (6 T H 97 HBiEE il
HHEIEET (3T B 4 14| #1FET (6 T H 98 HBiEE il
HiEITRT 3T B 4 15| S Hg1TET |7 T B 110 HEFEER ol
HiEITRT 3T B 4 16| S HE1TET |7 T B 13 MRS ol
HHEIERET (3T B 4 16| #1THT 7T H 14 HBiEE il
HiEITAT 3T B 4 16| S HE1TET |7 T B 15 2 MRS ol
HiEITAT 3T B 4 16| S HE1TET |7 T B 16 MRS ol
HiEITAT 3T B 4 17 30 izl
RiGIERT 3T B 5 1|5 iITET |3 T B 15 2 wBiyR |
HiEITAT 3T B 5 1|EHEIET (3T B 26 4 HEFEER ol
HiEITAT 3T B 5 1|EHEIET (3T B 27 1 HEIEER ol
HiEITRT 3T B 5 1| (3T B 28 HEFEER ol
HHEIERET (3T B 5 1| MR (3T B 29 HBiEE il
RiGIERT 3T B 5 1|5 iEITET |3 T B 51 1 wBiyR |
RiGIERT 3T B 5 1|5 iITET 3T B 51 2 BiyR | T
HiEITAT 3T B 5 1| (3T B 54 1 HEHEER ol
HiEITRT 3T B 5 2|EHEITET |7 T B 88 1 MRS ol
HiEITAT 3T B 5 3| EHEITHT |3 T B 17 MRS ol
HHEITHET 3T B 6 1 HEIiE [it]
RiGIERT |3 T B 6 2|SHHBITET 3T B 26 6 By |
RiGIERT 3T B 6 2|SHABITET 3T B 27 2 iR | T
HiEITAT 3T B 6 3| E I THET |3 T B 26 1 MRS ol
HiEITAT 3T B 6 A|HHEITHT |3 T B 26 7 MRS ol
HHEITRT 3T B 6 4| HHEITHT |3 T B 55 1 MRS ol
HiEITAT 3T B 6 5|EHE1TET |3 T B 26 8 HEFEER ol
HiEIEAT 3T B 6 5|EHE1TET |3 T B 54 3 MRS ol
HiEITAT 3T B 6 6|H I THET 4T B 30 9 MRS ol
HigilT 13T H 6 7| BT 1TH 15 2 i3 it]
HiEITAT 3T B 6 8| F BT 5TH 89 2 MR il
BHEITHET 3T B 6 9 HEIiE [it]
HigilT 13T H 6 10| #B1TET (3T B 57 1 HBIEER it]
HiBiET 13T H 6 10| 1B (3T B 58 1 HBIEE it]
HiEITAT 3T B 6 1|3 HE1TET |3 T B 56 4 HEFEER ol
HiEITAT 3T B 6 12| S H51TET |3 T B 56 3 HEFEER ol
HiEITAT 3T B 6 13| S5 1TET |3 T B 63 MRS ol
HiEITAT 3T B 6 14 MR [zl
HigilT 13T H 7 i3 [it]
HiBITAT 3T H 8 HBITE [zl
HiBITRT 3T H 9 HBITE [zl
HiEITAT 3T B 10 MR [zl
HiEITAT 3T B 11 MR [zl
HiEITRT 3T B 12 MR [zl
HiEITRT 3T B 13 MR [zl
HHEIEET (3T B 14 i3 i)
HigiRT 13T H 15 i3l i)
HHEIEET (3T B 16 i3 i)
HHEIEET (3T B 17 i3 [it]
HiEITRT 4T B 1 1| (4T B 36 3 HEIEER ol
HHEIERT (4T B 1 2|RH1THT 4T B 19 1 HBiEE il
HHEITRT (4T B 1 3|EHEITAT 4T B 37 HBiEE il
HiEITAT 4T B 1 4| R AT 3TH 37 9 MR i)
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HHEITHET 4T B 1 5|3MITERT 4T B 36 2 HEIfE il
BHEITHET 4T B 2 i s [it]
HiEITAT 4T B 3 MBI i)
HHEITHET 4T B 4 HHEITHET 4T B 90 HEIPE il
BAGITHT 4T B 5 1| 541787 6T B 110 #I¥E |
HiBiERT 4T H 5 1|E#E1TET (6 T B 111 HBiEER it]
HiBiIRT 4T H 5 1|EEH#E1TET (6 T B 112 HBIEER it]
HigiERT 4T H 5 1|EH#B1TET (6 T B 116 1 HBiEER it]
HiBiERT 4T H 5 1|EH#B1TET (6 T B 116 5 HBIEER it]
HigiRT 4T H 5 1|E#B1TET (6 T B 117 1 HBIEER it]
HHEITHET 4T B 5 2 s [it]
HiEITRT 4T B 5 3 HBITE izl
HHEITHT 4T B 5 4 s [it]
HHEITHET 4T B 5 5 HBITE [zl
HMEIERT (4T B 5 6|RHEITEAT 4T H 68 HBiEE il
HHEIERT (4T B 5 6|RMEITAT 4T B 88 1 HBiEE il
HHEIEET (4T B 5 6|RHEITAT (4T B 96 1 HBiEE il
HEITET (4T B 5 7|EHEITAT (4T B 81 1 HBiEE il
HEIEET (4T B 5 1|EHEITAT (4T B 87 1 HBiEE il
HEIEET (4T B 5 7|EHEITAT 4T B 97 HBiEE il
HEIERT (4T B 5 8|HMEITHAT 4T H 83 1 HBiEE il
HMEIERT (4T B 5 9|HHEITHT 4T H 65 HBiEE il
HHEIERT (4T B 5 9|HHEITHT 4T H 66 HBiEE il
HHEIERT (4T B 5 9|HHEITHT 4T H 69 HBiEE il
HHEIERT (4T B 5 9|HHEITHAT 4T H 70 HBiEE il
HHEIEET (4T B 5 9|RHEITAT 4T H 83 2 HBiEE il
HHEIEET (4T B 5 9|HHEITAT 4T H 86 HBiEE il
HiEITRT 4T B 5 10|R#BIFET AT B 79 1 i30S [l
HHEIERT (4T B 5 10| #1FHT (4T H 80 HBiEE il
HiEITRT |4 T B 5 10|R#BIFET AT B 81 3 i30S [l
HHEITHT 4T B 5 10|EHEIFRT 4 T H 84 HEIfE il
HHEITHET 4T B 5 10| IFRT (4 T H 85 HEifE il
HHEITHET 4T B 5 11|EEAEITFRT (4T H 78 HEifE il
BHEITHET 4T B 5 12| TR (4T H 53 HEifE il
HHEITHET 4T B 5 12| TR (4T H 64 HEIPE il
HHEITHET 4T B 5 12| TR (4T H 7 HEifE il
HHEITHET 4T B 5 12| TR (4T H 72 HEIfE il
HHEITHET 4T B 5 12| TR (4T H 73 HEifE il
HHEITHT 4T B 6 1|EHE1THT (4T B 20 1 HEIfE il
HHEITHET 4T B 6 2|EHITRT 4T B 20 6 HEIPE il
HiEITRT 4T B 6 3| AT 1TH 52 2 32 i)
HHEITHET 4T B 6 3|EMIFRT 4T H 54 HEIPE il
HHEITET 4T B 6 3|EMITERT 4T H 55 HEiPE il
HHEITHET 4T B 6 3|EMITERT 4T H 56 HEIPE il
HHEITET 4T B 6 3|EMITERT 4T B 57 HEiPE il
HHEITHET 4T B 6 3|EMITERT 4T B 75 HEIPE [l
BHEITHET 4T B 6 3|EMITRT 4T B 76 HEIPE il
HiEITRT 4T B 6 A|FRHEITFET 4T B 63 IR [l
HHEITHT 4T B 6 5|3EHITERT 4T B 74 HEiPE il
HHEITHET 4T B 6 6|EHITRT 4T B 77 HEIPE [l
HHEITHET 4T B 6 7|EHETET |3 T B 26 3 i30S [l
HHEIERT (4T B 6 7|EHEITAT (3T H 54 2 HBiEE il
HHEITET 4T B 6 7|EHETET |3 T B 55 2 i30S [l
HEITET (4T B 6 8|HMEITHAT 4T H 62 2 HBiEE il
HHEIEET (4T B 6 9|HHEITHAT 3T H 18 HBiEE il
BHEITHET 4T B 6 10| HH51THT 4T B 59 1 i30S [l
HEIERT (4T B 6 11| #1TFRT (4T H 34 9 HBiEE il
HHEITHET 4T B 6 12| 5 H51TET 4T B 58 1 i30S [l
HHEITHET 4T B 6 13| S HE1THT 4T B 101 1 i30S [l
HigiIRT 4T H 6 14 i3 i)
BHEITHET 4T B 6 15| S HE1THT 4T B 59 8 i30S [l
HiEITAT 4T B 6 16|RHEIFET AT B 59 6 i30S [l
HEITET (4T B 6 17| #1FET (3T H 84 HBiEE il
HiEITRT 4T B 6 18| ZHT 5TH 17 7 30 i)
EHEITET 4T H 6 19| 5HT 4TH 113 1 MBI E i
HHEITRT (4T B 6 19| #1THT (4T H 2 HBiEE il
HiEITAT 4T B 6 20| HE1TET 4T B 20 3 i30S [l
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HiEITAT 4T B 6 20| iE1EAT 4T B 20 7 MRS ol
HiEITAT 4T B 6 20| EIEAT 4T B 25 1 MRS ol
HiEITAT 4T B 6 20| #EIEAT 4T B 25 2 HEFEER ol
HiEITRT 4T B 6 21|EiEIEAT 4T B 20 2 HEIEER ol
HiEITRT 4T B 6 21|EiEIERT 4T B 20 5 MRS ol
HiEITRT 4T B 7 1|1 (3T B 39 2 HEPEER ol
HiBiIRT 4T H 7 1| H#B1TET (3T B 65 1 HBiEER it]
HiEITRT 4T B 7 2|HEHEiTHET |3 T B 75 2 MRS ol
HiBiERT 4T H 7 2|EHEIEET 7T B 18 1 HBIEER it]
HiEITRT 4T B 7 3| EHEITHT |3 T B 75 1 HEIEER ol
HHEITHET 4T B 7 4|EiBITRT ST B 39 1 HEIPE il
HHEITHT 4T B 7 A|RiBITRT ST B 65 3 HEIPE il
HHEITHT 4T B 7 A|RiBITRT ST B 75 3 HEIPE il
HHEIERT (4T B 7 Al IR |7 T B 18 3 HBiEE il
HMEIERT (4T B 7 5|RH#E1THAT 4T B 59 2 HBiEE il
HHEIERT (4T B 7 5|ER#1THAT 4T B 59 3 HBiEE il
HHEIEET (4T B 7 5|ER#1THAT 4T B 59 5 HBiEE il
HEITET (4T B 7 5|ER#1THT 4T B 59 7 HBiEE il
HiEITRT 4T B 7 5|HHEITHET 4T B 59 9 i30S [l
HiEITAT 4T B 7 6|H 1 THET 6T B 109 1 i30S [l
HiEITAT 4T B 7 6|H 1 THET 6T B 109 6 i30S [l
HiEITRT 4T B 7 7 30 [zl
HiEITAT 4T B 7 8|E 1 THT |3 T B 82 1 i30S [l
HiEITRT 4T B 7 9|HHE1THT |3 T B 82 2 i30S [l
HiEITAT 4T B 7 10| HH51THT |2 T B 29 3 i30S [l
HiBITAT 4T B 7 1|5 HE1TET | 7T B 18 2 i30S [l
HiEITAT 4T B 7 1|5 HE1TET | 7T B 104 2 i30S [l
HiEITRT 4T B 8 1| (3T B 73 i30S [l
HiEITAT 4T B 8 2|HE 1 TET |3 T B 92 3 BT R [l
HiEITRT |4 T B 8 2|EHE1THET |3 T B 93 1 i30S [l
HiEITAT 4T B 8 3| E At THET |3 T B 91 1 MRS ol
HiEITAT 4T B 8 3| HEHEITHET |3 T B 92 1 HEHEER ol
HHEITHET 4T B 8 3|HHMEITAT (4T B 95 1 HEifE il
BHEITHET 4T B 8 3|HHEITAT (5T B 1 HEIfE il
HiEITAT 4T B 8 3| EHEITET 6T B 23 2 MRS ol
HiEITAT 4T B 8 4| R BT 2TH 24 MR il
HiEITRT 4T B 8 5|3 HEIERT (3T B 87 HITE il
HiEITAT 4T B 8 6| S BT 5TH 146 1 MR il
HHEITHT 4T B 8 6|ZHEITAT (4T B 7 1 HEIfE il
HiEITAT 4T B 8 7|EHETET |3 T B 49 MRS ol
HiEITRT 4T B 8 7|E eI TET |3 T B 85 1 HEFEER ol
HHEITHET 4T B 8 8|HHEITAT (3T B 85 HEIPE il
HiEITAT |4 T B 8 8|H i THT |3 T B 85 2 MRS ol
BABITHT 4T B 8 8|54 1THT |8 T B 116 MiTE |
HiBiERT 4T H 8 8| HEIEET (8T B 117 HBiIEER it]
HiEITAT 4T B 8 9|HHEITHT |2 T B 69 2 HETEER ol
HAEHAT 4T B 8 1o[smismAr[sT A 90 wiE | m
HiBiERT 4T H 8 10| #B1TET (6 T B 25 1 HBIEE it]
HiBiERT 4T H 8 10| #B1TET (7T B 119 HBiEER [it]
HHEITHET 4T B 9 1|E4E1THT (3T B 67 HEIPE [l
HMEIERT (4T B 9 2| H#E1TRT 13T B 43 HBiEE il
HiBITRT |4 T H 9 3| HEHEITRT 3T B 73 s i
HHEIEET (4T B 9 4| =HT 5TH 152 1 i3 [it]
HEITET (4T B 9 5|R#1THT |3 T B 86 HBiEE il
HHEIEET (4T B 9 6|ERHE1THAT 4T B 46 4 HBiEE il
HiEITAT 4T B 9 6|H I TET |7 T B 19 1 i30S [l
HiEITAT 4T B 9 7|EHEITET | 7T B 17 1 i30S [l
HiEITRT 4T B 9 7|EHEITET | 7T B 20 i30S [l
HiEITRT 4T B 9 7|EHEITET |7 T B 23 3 i30S [l
HMEIERT (4T B 9 8|EHE1THAT |7 T B 12 HBiEE il
HiEITRT 4T B 9 8|H i THT |7 T B 15 1 i30S [l
HiEITAT 4T B 9 8|ZHEITHAT (7T B 17 MBI E [l
HiEITRT 4T B 9 9|H i THT |7 T B 20 1 i30S [l
HiEITRT 4T B 9 10| #BITRT 7T B 23 1 i30S [l
HiEITAT 4T B 9 10| #BITRT 7T B 24 1 i30S [l
HIITET[4T B o 1o|simimar|1TH 85 s |
HiEITAT 4T B 9 11 i3l i)
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B R

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
RIGITHT[4T B 10 1[EmEa [T B 62 WIE | W
HAiITHT 4T B 10 1|3 HaiTET 7T B 8 Mi¥E |
HiBiERT 4T H 10 1|E#E1EET (7T B 30 HBIEE it]
HiBiET 4T H 10 2|EHEITET (3T B 56 1 HBIEE it]
HiBiERT 4T H 10 3| T 4TH 19 i3 it]
HiBiERT 4T H 10 3| T 4TH 34 i3 it]
HiBiIRT 4T H 10 3|EHEITET (3T B 72 HBiEER it]
HigiERT 4T H 10 A|E#EITRT 13T B 68 2 HBIEER it]
HiBiERT 4T H 10 5|FRHEIEET (3T B 68 1 HBIEER it]
MR 4T H 11 HITR [ir)
HigiERT 4T H 12 1|E#B1TET (3T B 61 2 HBIEER [it]
HiEITRT 4T B 12 2|E i TET |2 T B 95 i30S [l
HiEITAT |4 T B 12 2|E 1 TET |3 T B 61 3 iR [l
HHEITHET 4T B 12 2|HEHE1THET |3 T B 70 2 i30S [l
HEHEITHET 4T B 12 2|E I TET |7 T B 11 3 i30S [l
HHEITET 4T B 12 3| EHEITHET |3 T B 66 1 i30S [l
HHEITET 4T B 12 3| EHEITHET |3 T B 70 1 i30S [l
HEITET (4T B 12 4|EiBITRT 14T H 78 HBiEE il
HHEITHET 4T B 12 5|H 1 THET |3 T B 36 1 i30S [l
HHEITHET 4T B 12 6|H I THET |7 T B 26 1 i30S [l
BHEITHET 4T B 12 7|EHEITET |7 T B 25 1 i30S [l
HMEIERT (4T B 12 8|EHE1THT 4T B 7 7 HBiEE il
HHEIERT (4T B 12 8|ERHE1THT 4T B 7 9 HBiEE il
HiEITRT 4T B 12 8|HHEITAT 7T B 39 i30S [l
HiEITAT 4T B 12 9| R T 5TH 141 30 i)
HiBITAT 4T B 12 10|R#EIFET 7T B 28 2 i30S [l
HiEITAT 4T B 12 11|RiBITRT 7T B 9 2 BT R [l
HiEITRT 4T B 12 11|RiBITRT 7T B 78 i30S [l
BEHEITET 4T H 12 11|E#EITET |7 TH 109 1 BT [l
HiEITRT |4 T B 12 12|RiEIFET | 7T B 28 1 i30S [l
HiEITAT 4T B 12 13| S HE1TET |7 T B 80 1 i30S [l
HHEITHET 4T B 12 14|HHEIFRT 3T H 48 HEifE il
HiEITRT 4T B 12 14| 5 HE1TET | 7T B 11 4 i30S [l
BHEITHET 4T B 13 s [it]
HHEITHET 4T B 14 s [it]
HigiElT 4T H 15 HBITE it]
HHEITHET 4T B 16 HEifE i)
HHEITHET 4T B 17 HEifE i)
HiBiERT 4T H 18 HBITE it]
HHEITHET 4T B 19 HEifE [it]
HHEITHET 4T B 20 HEifE [it]
HiBiEET 4T H 21 HBITE it]
HHEITET 4T B 22 s [it]
HHEITHET 4T B 23 i s i)
HiEITAT 4T B 24 MBI izl
HHEITHET 4T B 25 i s [it]
BHEITHET 4T B 26 s [it]
HiEITRT 4T B 27 MBI E izl
HHEITHT 4T B 28 s [it]
HHEITHET 4T B 29 i s [it]
HiBiET 4T H 30 HBILE it]
HHEIERT (4T B 31 i3 [it]
HHEIEET (4T B 32 i3 [it]
HiEITRT 4T B 33 HBITE [zl
HHEIEET (4T B 34 i3 [it]
HHEIERET (4T B 35 i3 [it]
HHEIERT (5T B 1 1| MR (5T B 2 HBiEE il
HMEIERT (5T B 1 1| MR (5T B 3 HBiEE il
HHEIERT (5T B 1 1|EHEIERT (5T B 4 HBiEE il
HMEIERET (5T B 1 1|EHEIERT (5T B 5 HBiEE il
BHEITHET 5T B 1 1| (5T B 53 i30S [l
HHEIEET (5T B 1 1|EHMEIERET (5T B 54 HBiEE il
HiEITAT 5T B 1 1| (5T B 55 MBI [l
HHEIEET (5T B 1 2 i3 [it]
HiEITAT 5T B 1 3|HEHEITET (5T B 110 i30S [l
HiEITAT 5T B 1 A|RHEIFET 5T B 109 i30S [l
HiEITAT 5T B 1 5|HHEITET (5T B 108 i30S [l
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B R

_FWME | T | HE | FEE | BWE | BT | BHE | BHE | WHER | mmeRe | EeExs
HiGIE 5T H 1 6| EITE |5 T B 12 HIEE it}
HiBITET 5T B 1 6|5 #BITET |5 T B 121 3200 0 I 7]
HBITET 5T B 1 6|5 4EITET |5 T B 189 3200 0 I 7]
HBITET 5T B 1 6|5 #EITET |5 T B 190 MR | W
HiBITET 5T B 1 6|5 4BITET |5 T B 192 3200 0 I 7]
HiBITET 5T B 1 6|5 4EITET |5 T B 193 3200 0 7]
RiBITET 5T B 1 6|s#EITET |5 T B 197 MR | W
HiBITET 5T B 1 6|5 #BITET |5 T B 234 =320 0 I 7]
RiGTE 5T H 1 7|EHEITET 5T B 93 HEIEE i)
RiGIERT |5 T B 1 7|SEHBITET 5T B 95 2 BiyR | T
HiBITET 5T § 1 7|5TET |5 T B 96 2 MR |
HBITET 5T § 1 7|5EITET 5T B 233 MR | W
RiGIERT 5T B 1 8|S HBITET 5T B 158 3 BiyR | T
RifITHE 5T B 1 8|sITET |5 T B 177 1 HITE |
RiITHE 5T B 1 8|siBITET|5T B 177 3 IR |
RifITHE 5T B 1 8|stTET |5 T B 228 IR |
RiITHE 5T B 1 8|smITET |5 T B 235 1 HITE |
RiITHE 5T B 1 9|simtTET|5T B 84 2 HWITE |
HABITHET (5T B 1 9|HifpITET (5T B 158 2 wBiyR |
RiITHE 5T B 1 9|smITET|5T B 177 2 IR |
RifITHE 5T B 1 10|53 TET |5T B 64 IR |
HABITHET 5T B 1 10| HE1TET 5T B 65 1 By |
RiITHE 5T B 1 10| 5 #317ET |5T 65 2 WITE |
RV 5T B 1 10|50 i1THT |5T B 66 HITE |
HifptTET 5T B 1 10| 551787 |5T B 67 WITE |
HifptTET 5T H 1 10| 5 i1THT |5T B 94 MR |
S i HET [5T B 1 t1o|mimtEEr|5T B 95 1 HHes |
S i HPET 5T B 1 t1o|mimtEEr|5T B 95 3 HHesE |
HiBITET 5T B 1 10| #31TET |5T B 96 1 MR |
RV 5T B 1 10|50 i1THT |5T B 97 WITE |
HifpiTET 5T B 1 10|50 i1THT |5T B 98 MR |
RV 5T B 1 10| 5 i1THT |5T B 99 MR | W
HiBITET 5T B 1 10|31 7HT |5T 100 MR |
HiBITET 5T B 1 10|53 TET |5T 104 3200 0 I 7]
HiBITET 5T B 1 10|53 TET |5T B 105 =320 0 I 7]
HiBITET 5T § 1 10|51 TET |5T B 106 =320 0 7]
HiBITET 5T § 1 10|31 7ET |5T B 107 MR |
HiBITET 5T § 1 10|51 7ET |5T B 114 3200 0 I 7]
HiBITET 5T § 1 10| 5 #31TET |5T B 115 HWIPE |
HiBITET 5T B 1 10|33 7ET |5T B 116 WIPE |
HiBITET 5T B 1 10|30 #31THT |5T B 117 MR |
HifpTET |5 T B 1 11| 5 i51THET |5T B 86 MR |
HifptTET 5T B 1 11| 5 i51THET 5T B 92 MR |
HifptTET 5T B 1 12| i1THET |5T B 11 3200 0 I 7]
HifptTET 5T H 1 13| i1THET |6 T B 92 MR | W
RtV 5T H 1 13| i1THET |6 T B 93 MR | W
HiBITET 5T § 1 13|53 TET |6 T B 120 MR | W
HiBITET 5T § 1 13| 5 i31TET |6 T B 122 MR | W
HiBITET 5T § 1 13| 5 i31TET |6 T 124 MR | W
HiBITET 5T § 1 13| 5 i31TET |6 T B 125 MR | W
RiITHE 5T B 1 13|53 TET |6 T B 126 MR |
RifITHE 5T B 1 13| 5 i31TET |6 T B 127 HWITE |
RiITHE 5T B 1 13| 5 i31TET |6 T B 128 MR |
RiITHE 5T B 1 13| 5 i31TET |6 T B 129 HwITE |
HiETET 5T B 1 13| 3 H51TRT |6 T B 131 2 HEIE R i
RifITHE 5T B 1 13| 5 i31TET |6 T B 132 1 MR |
RifITHE 5T B 1 13|53 TET |6 T B 133 1 IR |
RiITHE 5T B 1 13|53 TET |6 T B 134 1 HWITE |
RifITHE 5T B 1 13|53 TET |6 T B 135 IR |
RifITHE 5T B 1 13| 5 i31TET |6 T B 136 MR |
RifITHE 5T B 1 13| 5 i31TET |6 T 137 MR |
HiBITET 5T B 1 13| 5 i31TET |6 T B 138 IR |
HiBITET 5T B 1 13| 5 i31TET |6 T B 139 HWITE |
HiBITET 5T B 1 13|53 TET |6 T B 140 IR |
HiBITET 5T B 1 13|53 TET |6 T B 142 HWITE |
HBITET 5T B 1 13| 5 i31TET |6 T B 143 WITE |
HBITET 5T B 1 13|51 TET |6 T B 144 3200 0 I 7]
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B R

_HEE | HTE | HihE | HEE | HEE | IBTE | B | BEE | SR | mamKe | mrEaRs
HHEiTET 5T H 1 13|REITRT 6 T B 145 303 il
HHEiTET 5T H 1 13|REITRT 6 T B 146 30 il
HHEiTET 5T H 1 13|REITRT 6 T B 147 30 il
HRHEiTET 5T H 1 13|REITRT 6 T B 148 i35 il
HRHEiTET 5T H 1 13|REITRT 6 T B 149 30 il
HRHEiTET 5T H 1 13|REITRT 6 T B 151 i35 il
S i ERET 5T B 1| 13|mimtEEr|6 T B 152 i HHEsE |
R 5T B 1 13|R4EITRT 6 T B 152 2 i3 i)
R 5T H 1 13|R4EITRT 6 T B 152 4 303 i)
S i ERET [5T B 1 13|mimtEEr|6 T B 152 7 HHesE |
HRHEiTET 5T H 1 13|REITRT 6 T B 153 1 i3 il
HHEiTET 5T H 1 13|REITRT 6 T B 154 1 i3 il
S i HRET 5T B 1| 13|mimtEEr|6 T B 155 1 e |
HAEtERT 5T B 1 13| 3 H51TRT |6 T B 156 1 HEIE R i
HAEERT 5T B 1 13| 3 H51TRT |6 T B 157 1 HEIEER i
HiEtTAT 5T B 1 13| S H51TRT |6 T B 158 1 HEIE R 1
HiEtEAT 5T B 1 13| S H51TRT |6 T B 159 1 HEIEER i
HiEtTAT 5T B 1 13| S H51TRT |6 T B 160 1 HEIE R i
HAEtERT 5T B 1 13| S H51TRT |6 T B 161 1 HEIE R i
HiEHET 5T H 1 13|RiEERT 6T B 162 1 MR il
HiGHET|5TH 1 13| BT 6 T B 163 1 TR il
HiGHET|5TH 1 13|RiEERT 6T B 164 1 HITR il
HiEHET 5T H 1 13|REERET 6T B 165 1 HITR il
HiEHET|5TH 1 13|REERET 6T B 166 1 HITR il
HiEHRT|5TH 1 13| G 6 T B 167 HITE il
HiGHET|5TH 1 13|REERT 6 T B 168 1 MR il
HiEHET 5T H 1 13|REERT 6 T B 169 1 HITR il
HiGHET 5T H 1 14|REEET 6 T B 131 3 HITR il
HiEHET 5T H 1 14|RiEET 6T B 152 9 HITR il
HiEHET|5TH 1 14|RiEEET 6T B 169 4 MR il
HiEHET 5T H 1 15 HEIER m
HiEHET|5TH 1 16 TR il
HiEHET|5TH 1 17 HEIER il
HiEHRT 5T H 1 18 TR il
RHEiTET 5T B 1 19|3R#EITRT 6 T B 121 i3 il
HRHEiTET 5T H 1 19|3R4EITRT 6 T B 130 i3 il
S i HRET [5T B 1 1o|mimtEET|6 T B 131 1 HHes |
R 5T H 2 1| 4EiTHET (3T H 100 i3 il
HHEiTET 5T H 2 2|3 IEHET 3T B 101 i3 il
HiEHET|5TH 2 2| TR 3T B 102 HEIEER i}
HiGE 5T H 2 2|EiEITET 4T B 104 MEIEE i
HiEHET|5TH 2 2|HiEiTRT 4T B 106 HEIE R i}
HRHEiTET 5T B 2 2|ERHEIEHET 4T B 107 30 il
RHEiTET 5T H 2 2| AR IEHET 4T B 108 i35 il
HRiEiTET 5T H 2 2|ERAEIEHET 4T B 110 i3 il
HRHEiTET 5T H 2 2| AR IEHET 4T B 111 i3 i)
HiEHET|5TH 2 3|HiEITRT 4T B 109 HEIEER i}
HiGIE 5T H 3 HEIEE it}
HiEE 5T H 4 HEIEE it}
HiEE 5T H 5 MEIEE it}
HRHEITET 5T H 6 TR i}
RiGFE 5T H 7 BT B i
RiGE 5T H 8 BT B i
HiGHET|5TH 9 HELT B i
BT |5TH 10 TR i
HiGHET 5T H 11 TR i
HiEHHET 5T H 12 TR il
HiEHET|5TH 13 TR i
HiEET|5TH 14 TR i
HiGHET 5T H 15 TR m
HiEHRET|5TH 16 TR il
HiEtEAT 5T B 17 TR i
HiEtTRT 5T B 18 TR i
HAETAT 5T B 19 HEIER i
HiEtTAT 5T B 20 HEIE R i
HAEtERT 5T B 21 TR i
iR 5T B 22 HEIER i
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_HEE | HTE | HiE | HHE| BEE | BT | BHE | BEE | BER | HOeRe | HTERS
HiEITRT 5T B 23 HEITE i)
HHEiTET 5T H 24 TR i)
HMITRT 5T H 25 HBITE i)
HMEITRT 5T H 26 HBITE i)
HMEITRT 5T H 27 HBITE i)
HMITRT 5T H 28 HBITE i)
HiEIFRT 5T H 29 HBITE i)
HABITET |6 T B 1 1|EHEITET 5T B 61 8 MR |
HABLTET |6 T B 1 2|Er  [2TH 36 1 MR |
HABITET |6 T B 1 2|Er  [2TH 36 4 MR |
HRHEiTET 6T B 1 2|3 IEHET (5T B 57 4 i30T il
RiGIERT |6 T B 1 2|HHBITET |6 T B 29 2 BiyR | T
RiGIERT |6 T B 1 3|SEHBITET |6 T B 22 1 BiyR | T
HHEITET 6T B 1 4| FET 5TH 86 TR it}
HAEITET |6 T B 1 4|=EITET |6 T B 22 2 i3 S I ]
AT 6T B 1 5| HEIERT (5T B 6 30 it}
HHEITET 6T B 1 5| HEIEET (5T B 7 303 it}
T 6T B 1 5| HEIEET (5T B 9 30 it}
HABITET |6 T B 1 5|FifpITET (5T B 10 HBiEE | W
T 6T B 1 5| HEITET (5T B 48 30 it}
HHEITET 6T B 1 5| HEITET (5T B 49 303 i
HAEITET |6 T B 1 5| ipITET (5T B 50 i3 S ]
HABITHET (6 T B 1 6| iEITET (5T B 58 2 By |
RiBIERT |6 T B 1 6|SEHBITET 5T B 58 3 BiyR | T
RiGIERT |6 T B 1 7|SEABITET 5T B 57 1 wBiyR |
HABITET |6 T B 1 7|E iR (5T B 58 1 iR | W
HHEITET 6T B 1 8| HEITHET (5T B 62 303 it}
HRHEiTET 6T B 1 8| A ITHT (5T B 63 HEIE R it}
T 6T B 1 8| HEITHET (6T B 20 303 it}
AT 6T B 1 8|EHEITHT 7T B 46 4 MR it}
HAEITET |6 T B 1 9| |4TH 63 HiEE |
HAEITET |6 T B 1 9|HipITET 7T B 46 1 HBiEE |
HAEITET |6 T B 1 9|HipITET 7T B 102 HBiEE |
S i EPHT (6T B 1 t1o|mimtEEr|5T B 101 5 HHEs |
S AG P [6 T B 1| 11|mitEEr|5T B 57 2 BEE | M
S AG IR [6 T B 1| 11|sitEEr|5T B 61 1 BEE | M
RiIERT |6 T B 2 1|5 iB1TET |6 T B 23 1 iR | T
HRHEiTET 6T B 2 1| 4EiTHET (6T B 29 1 30 il
HABITET |6 T B 2 2|HipITET (6T B 28 2 i3 O I ]
HHEITHET 6T B 2 3| AEIEHET (6T B 21 i3 il
HAEITET |6 T B 2 4|=4EITE 5T B 59 2 HBiEE |
HHEITET 6T B 2 A|REITRT 5T B 60 2 303 il
HABLTET |6 T B 2 4|=iE1TET 5T B 61 2 MR | W
HiEITAT |6 T B 2 4| HEITET 6T B 26 MRS i}
HABLTET |6 T B 2 4|=EITET |6 T B 27 1 MR | W
BRI 6T B 2 5|5 HEIEHET 6T B 12 2 i35 i)
HiEITAT |6 T B 2 6 HEIEE i
HAEITET |6 T B 2 7| iR (6T B 27 3 MR |
RiGIERT |6 T B 2 8|S HBITET |6 T B 31 1 BN | T
RiGIERT |6 T B 2 8|S HBITET |6 T B 32 2 BiyR | T
TR 6T B 2 9| R ET 4TH 64 2 IR i}
HABLTET |6 T B 2 10| HTET |6 T B 29 4 HiEE | W
HABITET |6 T B 3 1|EAEITET | 7T B 90 HBiEE | W
HABLTET |6 T B 3 1|EABITET 7T B 91 HBiEE | W
HABITHET (6 T B 3 2|HifpITET 7T B 86 2 By | T
HABITHET (6 T B 3 3|EiITET 7T B 81 1 i3 S}
HAEITET |6 T B 3 4|=EITET |7 T B 81 2 HBiEE | W
HAEITET |6 T B 3 4|=EITET 7T B 86 1 MR |
HHEITET 6T B 3 5| R ET 4TH 64 1 HEIT R it}
HAELTET |6 T B 3 6| iEITET (5T B 60 1 HBtEE | W
HABITHET (6 T B 3 7| iR (3T B 59 3 By |
HHEITET 6T B 3 8 HEIT R it}
HABLTET |6 T B 3 9|HifpITET (6T B 16 5 iR |
HABITET |6 T B 3 9|HifEITET 6T B 17 4 MR | W
T 6T B 3 9| HEITHET (6T B 19 i3 it}
HAEITET |6 T B 3 10[;ZET  |2TH 51 4 HiEE |
HAEITET (6 T B 3 10| H1TET |6 T B 52 wBIER|
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HAGLERT (6T B 3| \i|miEEE 6T B 17 2 BEE | M
HiEITAT |6 T B 3 12| 5 H51TET |6 T B 16 2 i30S [l
HiEITAT |6 T B 3 13|HHE1TET | 7T B 88 3 i30S [l
HHEITAT |6 T B 3 14|HHE1TET | 7T B 88 2 i30S il
HiEITAT |6 T B 3 15| S g1 TET | 7T B 84 i30S il
HiBiERT 6T B 3 16| H#B1TET (6 T B 16 1 HBiIEE it]
HiBiIRT 6T B 3 16| H#1TET (6 T B 16 4 HBiEER it]
HigiRT 6T B 3 17|EH#B1EET (7T B 89 HBIEER it]
HiBiERT 6T B 4 1| ET 5TH 30 i3 it]
HiEITAT |6 T B 4 1| AT 5TH 87 32 izl
HHEITHET 6T B 4 1|E4E1THT (6 T B 53 HEIPE il
HHEITHET 6T B 4 1|E4E1THT (6 T B 54 HEIPE il
HHEITHET 6T B 4 1|EiE1THT (6 T B 55 HEIPE il
HHEIERT (6 T B 4 1|EHEIERT (6 T B 56 HBiEE il
HHEIERET (6 T B 4 1|EHEIERT (6 T B 59 HBiEE il
HHEIEET (6 T B 4 1|EHEHEIERT (6 T B 60 HBiEE il
HHEITET (6 T B 4 1|EHEIEET (6 T B 61 HBiEE il
HHEITET (6 T B 4 1|EHHEIEET (6 T B 64 HBiEE il
HHEIEET (6 T B 4 1|EHHEIEET (6T B 65 HBiEE il
HHEIEET (6 T B 4 1| MR (6 T B 66 HBiEE il
HHEIERET (6 T B 4 1| MR (6 T B 67 HBiEE il
HHEIERT (6 T B 4 1|EHEHEIERT (6 T B 68 HBiEE il
HHEIERT (6 T B 4 1|EHEIERT (6 T B 69 HBiEE il
HHEIEET (6 T B 4 1|EHEIERT (6 T B 70 HBiEE il
HHEITRT (6 T B 4 1|EHEHEIERT (6 T B A HBiEE il
HHEIEET (6 T B 4 1|EHHEIERET (6 T B 72 HBiEE il
HHEIEET (6 T B 4 1| MR (6T B 73 HBiEE il
HEIEET (6 T B 4 1| MR (6 T B 74 HBIEE il
HHEIERET (6 T B 4 1|EHHEIERET (6 T B 75 HBiEE il
HEIERT (6 T B 4 1|EMEIERT (6 T B 76 HBiEER il
HHEITHET 6T B 4 1|EiE1THT (6 T B 77 HEIfE il
HHEITHET 6T B 4 1|EHE1THT (6 T B 78 HEifE il
HHEITAT |6 T B 4 1| (6 T B 188 BT [l
HiEiTAT |6 T B 4 1|EEHEITET (6 T B 189 i30S [l
HiBiRT 6T B 4 1|EH#B1EET (6 T B 190 HBIEER it]
HigiRT 6T B 4 1|EH#B1TET (6 T B 191 HBIEER it]
HiEITAT |6 T B 4 1| (6 T B 192 i30S il
HHEITHET 6T B 4 1|EHE1THT (6 T B 194 HEIfE il
HiBiERT 6T B 4 1|EH#E1TET (6 T B 195 i3 it]
HHEITHET 6T B 4 2|HHEITAT (6T B 62 HEIPE il
HHEITHET 6T B 4 3|FHEIEAT (6T B 63 HEIPE il
HHEITHET 6T B 5 1|EE1TmT (6 T B 7 HEIPE il
HiEITAT |6 T B 5 2|HE i THET 6T B 32 1 i30S il
HiEITAT |6 T B 5 2|EHEiTET 6T B 33 1 TR [l
HiEITAT |6 T B 5 3| EHEITHET 6T B 34 3 TR [l
HiEITAT |6 T B 5 4| HEITHT 6T B 36 TR [l
HiEITAT |6 T B 5 5| F BT 1TH 64 32 izl
HiEITAT |6 T B 5 5|51 THET 6T B 15 2 TR [l
RiGIERT |6 T B 5 5|SEHB1TET |6 T B 16 3 BN | T
RiGIERT |6 T B 5 5|SHABITET |6 T B 17 1 BiyR | T
HABITHET (6 T B 5 5|EiEITET (6T B 17 3 wBigR | T
HiEITAT |6 T B 5 5|5 HEITHET 6T B 18 i30S [l
HiEITAT |6 T B 5 6|H I THET 5T B 103 i30S [l
HiEITAT |6 T B 5 7| =BT 2TH 108 1 30 izl
HiEITAT |6 T B 5 8| Z BT 5TH 126 1 30 [zl
HEIERET (6 T B 5 8| #E1THT |3 T B 46 HBiEE il
HEIERET (6 T B 5 8| #E1THT |3 T B 47 HBiEE il
HiEITAT |6 T B 5 8|H 1 THT 6T B 100 i30S [l
HHEIERT (6 T B 5 9|FRHT 2TH 18 i3 [it]
HHEIEAT |6 T B 5 10| H 51T ET |6 T B 51 i30S [l
HABITHET (6 T B 5 10| HTET | 7T B 27 3 By | T
HiEITAT |6 T B 5 1|5 H51TET |6 T B 115 i30S [l
HiEITAT |6 T B 5 1|5 H51TET |6 T B 116 2 i30S [l
HiEITAT |6 T B 5 1|5 H51TET |6 T B 116 4 i30S [l
HiEITAT |6 T B 5 1|5 H51TET |6 T B 117 2 i30S [l
HiEITAT |6 T B 5 12| 5 H51TET |6 T B 105 2 i30S [l
S i HRET 6T B 5| to|mismEr 6T H 118 1 Htes |
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_FWME | T | HE | FEE | BWE | BT | BHE | BHE | WHER | mmeRe | EeExs
S AGHRET 6T B 5| 12|mistwEr 6T B 119 2 HHE | W
RiITHE |6 T B 5 13| S 1TET 5T 5 103 1 MITE |
RiITHE |6 T B 5 13| S 1TET |6 T B 116 3 MR |
RiITHE |6 T B 5 14| 5 i1THT |6 T B 58 MITE |
RiITHE |6 T B 5 14| S HE1TET |6 T B 113 METE |
RiITHE |6 T B 5 14| S HE1TET |6 T B 114 METE |
S i ERET (6T B 5| 15|sistmEr 6T H 11 i e |
S i ERET (6T B 5| 15|mismEr 6T B 11 2 HHesE |
S i ERET (6T B 5| 15|mismEr (6T H 15 1 e |
S i ERET (6T B 5| to|mismEr 6T H 11 3 HHesE |
RiITHE |6 T B 5 16|55 1TET |6 T 5 12 1 MEITE |
RiITHE |6 T B 5 16| S HE1TET |6 T B 12 3 TR |
RiITHE |6 T B 5 17|=Er_ |3TH 24 2 WITE |
RiITHE |6 T B 5 18| 5 i31THT |6 T B 34 1 MITE |
iR |6 T B 5 19| 3 H51TRT |6 T B 31 2 HEIEER i
HABITHET (6 T B 5 19| HETET |6 T B 33 2 BigR |
RiITHE |6 T B 5 19| 5 i1THT |6 T B 33 3 MITE |
RiITHE |6 T B 5 20| s 1THET 6T B 46 MITE |
RiITHE |6 T B 5 21 WITE |
RiITHE |6 T B 5 22 WITE |
RiITHE |6 T B 5 23| 1THET |6 T B 5 2 TR |
RiITHE |6 T B 5 23| 1THET 6 T B 5 3 MITE |
AT 6T B 5 24| HE1TET 6T B 3 303 i}
T 6T B 5 24| HE1TET 6T B 4 303 i}
RiITHE |6 T B 5 24| HiITRT |6 T B 5 1 MITE |
HiEtTAT |6 T B 5 25| FiEITRT 6T B 6 HEIE R i
RiITHE |6 T B 6 1| iB1TET 6 T B 49 1 MITE |
RiITHE |6 T B 6 2|ET  |4TH 86 1 MWITE |
RiITHE |6 T B 6 3|=ET_ |5TH 17 4 MWITE |
RiITHE |6 T B 6 4|5ET  |4TH 27 2 WITE |
RiITHE |6 T B 6 5|RiEITET |6 T B 95 MITE |
RiITHE |6 T B 6 6|5iBITET |6 T B 108 1 MITE |
RiITHE |6 T B 6 6|5iBITET |6 T B 108 4 MITE |
RiGIERT |6 T B 6 6|SEHBITET |6 T B 109 5 BiyR | T
RiGIERT |6 T B 6 6|SEHBITET |6 T B 109 7 BiyR | T
RiGIERT |6 T B 6 7|SEABITET |6 T B 108 3 By | T
RiIERT |6 T B 6 8|sHHBITET |6 T B 107 3 wBiyR |
RiGIERT |6 T B 6 9|sEHBITET |6 T B 107 1 BiyR | T
S AP (6T B 6| 10|smitmEr 6T B 118 5 BEE | M
S AGEERT [6 T B 6| 11|mismEr 6T B 118 6 BEE | M
HiE1ERT |6 T B 6 12 WITE |
S i HRET (6T B 6|  13|miamEr 6T H 105 1 HHes |
S i ERET (6T B 6]  13|mismEr 6T H 118 2 e |
RiITHE |6 T B 6 13| S 1TET |6 T B 119 1 MTE |
RiITHE |6 T B 6 14| S 1TET |6 T B 101 MITE |
RiITHE |6 T B 6 14| S 1TET |6 T B 102 MITE |
RiITHE |6 T B 6 14| S 1TET |6 T B 123 MEITE |
RiITHE |6 T B 6 15| S HE1TET |6 T B 103 METE |
RiITHE |6 T B 6 16| S HE1TET |6 T 5 104 MTE |
RiITHE |6 T B 6 16| S HE1TET |6 T B 106 METE |
RiITHE |6 T B 6 17| 5 iB1TET |6 T B 30 MITE |
RiITHE |6 T B 6 17| 5 iE1THT |6 T B 57 MITE |
RiITHE |6 T B 6 18 WITE |
RiITHE |6 T B 6 19| 5 i1THET 4T B 105 2 MITE |
RiITHE |6 T B 6 20| i1THET 7T B 148 MITE |
RiITHE |6 T B 6 20| s i1THET 7T B 155 WITE |
RiITHE |6 T B 6 21|sEi1THT 6 T B 49 2 MITE |
RiITHE |6 T B 6 21| 1THT 6 T B 50 MITE |
RiITHE |6 T B 7 wIrE |
RiITHE |6 T B 8 1|5 iE1TET |6 T B 1 1 MITE |
RiITHE |6 T B 8 2|initTAT |6 T B 1 4 MITE |
HHEITET 6T B 8 3|EHEITET (6T B 2 5 30 i}
RiITHE |6 T B 8 3|RiBITET 7T B 120 1 MITE |
RiITHE |6 T B 8 4|HiBITET |6 T B 2 1 MEITE |
T 6T B 8 A|RHEITFET 6T B 2 3 i3 it}
RiITHE |6 T B 8 4|HiBiTET |6 T B 2 4 wirE |
HHEITET 6T B 8 5|HHEITET (6 T B 2 7 303 it}
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_FWME | T | HE | FEE | BWE | BT | BHE | BHE | WHER | mmeRe | EeExs
RiITHE |6 T B 8 6|5imtTaT 6 T B 43 1 w/irE |
RiITHE |6 T B 8 7|5iEtTET |6 T B 41 3 wiIrE |
HiEITAT |6 T B 8 7|EHEITET 6T B 43 4 MRS i}
RiITHE |6 T B 8 8|simtTHAT |6 T B 43 2 wirE |
RiITHE |6 T B 8 o|sintTAT |6 T B 81 2 wIrE |
HHEITAT |6 T B 8 9|H 1 THT 6T B 82 MRS i}
RiITHE |6 T B 8 10|50 i51THT |6 T B 80 wirE |
RiITHE |6 T B 8 10|50 i1THT |6 T B 81 1 wirE |
RiITHE |6 T B 8 11| 5 iE1THET |6 T B 79 wiIrE |
RiITHE |6 T B 8 12| i1THET |6 T B 90 wirE |
RiITHE |6 T B 8 12| 5 i1THT |6 T B 96 2 wirE |
RiITHE |6 T B 8 13|=E]  |3TH 38 1 wirE |
RiITHE |6 T B 8 14| 5 i1THT |6 T B 84 wirE |
RiITHE |6 T B 8 14| 5 i1THT |6 T B 85 IR |
RiITHE |6 T B 8 15| i1THT |6 T B 86 HWIE |
RiITHE |6 T B 8 15| i1THT |6 T B 87 IR |
RiITHE |6 T B 8 15| i1THET |6 T B 88 MR |
RiITHE |6 T B 8 15| i1THT |6 T B 89 HWITE |
RiITHE |6 T B 8 16|50 i1THT |6 T B 45 HwITE |
RiITHE |6 T B 8 17| 51787 |6 T B 1 2 HwITE |
RiITHE |6 T B 8 17| 5 iB1THT |6 T B 1 3 IR |
RiITHE |6 T B 8 17| 5 iE1THET |6 T B 2 2 HWITE |
RiITHE |6 T B 8 17| 5 iB1THET |6 T B 2 6 WITE |
RiITHE |6 T B 8 17| iE1THET |6 T B 37 HITE |
RiITHE |6 T B 8 17| 5 iE1THT |6 T B 38 WITE |
RiITHE |6 T B 8 17| iE1THT |6 T B 39 MR |
RiITHE |6 T B 8 17| iE1THET |6 T B 40 IR |
RiITHE |6 T B 8 17| 5178 |6 T B 41 1 WITE |
RiITHE |6 T B 8 17| 5 i1THT |6 T B 41 2 MR |
RiITHE |6 T B 8 17| 5 i51THT |6 T B 43 3 WITE |
S i HRET (6T B 8| 18|smismEr[7TH 120 2 HtesE |
RiITHE |6 T B 8 19| 5 i1THET |6 T B 1 5 wirE |
RiITHE |6 T B 8 19| 5 i1THET |7 T B 120 3 wirE |
RiITHE |6 T B 9 1|5 iE1TET |7 T B 105 wirE |
RiBITHE |6 T B 9 1| = iE1TET |7 T B 115 wirE |
RiITHE |6 T B 9 1|5 iE1TET |7 T B 116 wiIrE |
RiITHE |6 T B 9 2|intTAT |3 T B 64 1 wirE |
RiITHE |6 T B 9 3|EintTaT |3 T B 64 3 wirE |
HiEITAT |6 T B 9 A|HHEITHT |3 T B 64 4 HEIEE i}
RiITHE |6 T B 9 4|EiBITRT 7T B 107 2 wirE |
RiGIERT |6 T B 9 A|FiBITET 7T B 108 2 BigR |
RiBIERT |6 T B 9 5|SEABITET |7 T B 107 1 BiyR | T
RiGIERT |6 T B 9 5|sRABITET |7 T B 108 1 BigR | T
RiGIERT |6 T B 9 6|SEHBITET |7 T B 67 1 BigR | T
RiGIERT |6 T B 9 6|SEHBITET |7 T B 72 1 BIgR | T
RiGIERT |6 T B 9 6|SEABITET |7 T B 73 1 BigR | T
HiEITAT |6 T B 9 6|H I TET |7 T B 92 HEIEE i)
HiEITAT |6 T B 9 6|H i TET |7 T B 93 HEIEE i}
RiITHE |6 T B 9 6|sEimtTaT |7 T B 94 wirE |
RiITHE |6 T B 9 7|SiniTET |7 T B 121 wirE |
RiITHE |6 T B 9 8|sintTAT |6 T B 91 HIE |
RiITHE |6 T B 9 o|sintTaT |2 T B 47 2 IR |
RiITHE |6 T B 9 10| 51787 |7 T B 118 MR |
RiITHE |6 T B 9 11|57 |7 T B 114 HwITE |
RiITHE |6 T B 9 12| iE1THET |7 T B 117 MR |
RiITHE |6 T B 9 12| iE1THET |7 T B 122 MR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 123 IR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 125 HWITE |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 126 IR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 127 MR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 128 MR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 129 IR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 130 HWITE |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 131 IR |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 132 HWITE |
RiITHE |6 T B 10 1|5 iE1TET |7 T B 133 WITE |
RiITHE |6 T B 10 2|FinitTaT 7T B 124 3200 0 I 7]
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HigiIRT 6T B 11 1|E#E1TET (7T B 124 HBiEE it]
HigiIRT 6T B 11 2|EHEITET 7T B 134 HBIEE it]
HiBiERT 6T B 11 2|EHEITET 7T B 135 HBIEE it]
HiBiRT 6T B 11 2|EHEITET 7T B 136 HBIEE it]
HiBiERT 6T B 11 2|EHEITET 7T B 137 HBiEE it]
HiBiERT 6T B 11 2|EHEITET 7T B 138 HBiEER it]
HiBiIRT 6T B 11 2|FEHEITET 7T B 139 HBIEER it]
HigiRT 6T B 11 2|EHEIEET 7T B 140 HBiEER it]
HiBiERT 6T B 11 2|EHEIEET 7T B 141 HBIEER it]
HigiRT 6T B 11 2|EHEIEET 7T B 142 HBIEER it]
HigifRT 6 T B 11 2|FHEIEET 7T B 143 HBIEER [it]
HiBiRT 6T B 11 2|EHEITET 7T B 144 HBIEER it]
HiBiRT 6T B 11 2|RHEITET 7T B 145 i3y it]
HiEITAT |6 T B 11 2|HE I TET |7 T B 146 HEIEER [l
HiEITAT |6 T B 11 2|E I TET |7 T B 147 MRS [l
HiEITAT |6 T B 11 2|HEHEiTHET |7 T B 149 MR [l
HiEITAT |6 T B 11 2|EHEITHET |7 T B 150 MRS [l
HiEITRT |6 T B 11 2|HEHEITET |7 T B 151 HEHEER [l
HiEITAT |6 T B 11 2|E I THET |7 T B 152 HEFEER [l
HiEITAT |6 T B 11 2|HE I THET |7 T B 153 HEIEER [l
HiEITAT |6 T B 11 2|HE I TET |7 T B 156 HEIEER [l
HiEITAT |6 T B 11 3| EHEITHT |7 T B 157 MRS [l
HiEITAT |6 T B 12 1|ERHEIET (7T B 157 MRS [l
HHEITAT |6 T B 12 2| HEIEAT (3T B 98 i30S [l
HiEiTAT |6 T B 12 2| HEIFRT (3T B 99 i30S [l
HiEITAT |6 T B 12 3| EHEITET |3 T B 100 i30S [l
HHEIEET (6 T B 13 i3 [it]
HEIEET (6 T B 14 i3 [it]
HHEIERET (6 T B 15 i3 [it]
HEIERT (6 T B 16 i3 [it]
HHEITHET 6T B 17 HEifE [it]
HHEITHET 6T B 18 s [it]
HHEITHET 6T B 19 HEifE [it]
HHEITHET 6T B 20 s [it]
HHEITHET 6T B 21 s [it]
HHEITHET 6T B 22 i E i)
HHEITHET 6T B 23 HEifE i)
HiEITAT |6 T B 24 MR il
HHEITHET 6T B 25 HEifE [it]
HHEITHET 6T B 26 HEifE [it]
HHEITHET 6T B 27 HEifE [it]
HHEITHET 6T B 28 HifE [it]
HHEITHET 6T B 29 s [it]
HHEITHET 6T B 30 i s i)
HHEITHET 6T B 31 i s [it]
HHEITHET 6T B 32 i s [it]
BHEITHET 6T B 33 s [it]
HHEITHET 6T B 34 s [it]
HHEITHET 6T B 35 s [it]
HHEITHET 6T B 36 i s [it]
HiEITAT |6 T B 37 30 [zl
HiEITAT |6 T B 38 30 [zl
HiEITAT |6 T B 39 30 [zl
HEIEET (6 T B 40 i3 [it]
HHEIEET (6 T B 41 i3 [it]
HEIERET (6 T B 42 i3 [it]
HiEITAT |6 T B 43 HBITE [zl
HHEIERT (6 T B 44 i3 [it]
HiEITRT |7 T B 1 1|1 (8T B 17 MRS [l
HiEIEAT |7 T B 1 1|EHEIET (8T B 18 1 MRS [l
HiEITRT |7 T B 1 2| AT 5TH 99 MR i)
HHEIEET (7T B 1 2| H#1THT 8T B 23 HBiEE il
HEIEET (7T B 1 3| H1THT 8T B 57 HBiEE il
RiGIERT |7 T B 1 3|sEHBITET 8T B 58 1 By | T
HITET |7 T B 1 4|s=iE1TET 8T B 70 MR | ™
HHEIERT (7T B 1 5| #1THT |8 T B 59 HBiEE il
RiGIERT |7 T B 1 6|SEHEITET |8 T B 56 1 iR | T
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
RiGIERT |7 T B 1 6|SEHB1TET 8T B 71 1 BiyR |
HiEITRT |7 T B 1 7|EHEITET 8T B 72 1 i30S [l
HiEITRT |7 T B 1 7|EHE1TET 8T B 72 3 i30S [l
HHEITHET 7T B 1 7|EEHEIERT (8T B 75 HEIPE il
HigiRT 7T H 1 7|EHEITET (8T B 122 1 HBiEE it]
HiEIERT |7 T B 1 7|EHE1TET 8T B 123 i30S [l
HigiRT 7T H 1 7|EHEIEET (8T B 148 1 HBIEER it]
HigiRT 7T H 1 7|EHEIEET (8T B 149 1 HBiEER it]
HigiRT 7T H 2 1|E#B1TET (8T B 18 2 HBIEER it]
HiEITRT |7 T B 2 2|HEHEITHET 4T B 62 3 TR [l
HHEITHET 7T B 2 3|EHEITAT (8T B 21 HEIPE il
HHEITHET 7T B 2 A|EHEIFERT ST B 20 HEIPE il
HiEIERT |7 T B 2 5|E 1 TET 8T B 22 1 iR [l
HHEITHET 7T B 2 6|H 1 TET |8 T B 22 2 i30S [l
HHEITHET 7T B 2 6|E 1 TET 8T B 58 i30S [l
HHEITHET 7T B 2 7|EHEITET 2T B 47 1 i30S [l
HHEITHET 7T B 3 1|ERHEITET (7T B 1 1 i30S [l
HHEITHET 7T B 3 1| (7T B 1 2 i30S [l
HHEITHET 7T B 3 2|HEHEiTET |3 T B 78 i30S [l
HHEITHET 7T B 3 2|HEHE1TET |3 T B 79 i30S [l
HHEIERET (7T B 3 2|FRHE1TRT |7 T B 2 HBiEE il
HHEITHET 7T B 3 3| EHEITHT |3 T B 77 i30S [l
HMEIERT (7T B 3 4|EiEITRT 7T H 3 HBiEE il
HiEIEAT |7 T B 3 4| HEITET |7 T B 34 MBI E [l
HHEIERET (7T B 3 5|R#1THAT 7T B 7 1 HBiEE il
HiEITAT |7 T B 3 6| Z BT 4TH 65 3 30 i)
HiEITRT |7 T B 3 7|EHEITET 2T B 68 1 i30S [l
HiEITRT |7 T B 3 8| Z BT 4TH 64 1 30l i)
HHEIEET (7T B 3 9| #E1THT |6 T B 8 HBiEE il
HiEITAT |7 T B 3 9|H i THT |7 T B 4 MBI [l
HHEITHET 7T B 3 o|FHEITAT 7T B 5 HEIfE il
HHEITHET 7T B 3 o|ZHEITAT (7T B 7 2 HEIfE il
HiEITRT |7 T B 3 10| S 51T HT |6 T B 34 2 i30S [l
HiEiTRT |7 T B 3 1|5 H51TET |3 T B 64 2 BT R [l
HigilT 7T H 3 12| #B1EET (7T B 35 HBIEE it]
HiEiTRT |7 T B 3 12|55 1TET | 7T B 36 i30S il
HiEITAT |7 T B 3 12|55 1TET | 7T B 37 i30S il
HiEiTRT |7 T B 3 13| HH51TET | 7T B 38 1 i30S [l
HiEITRT |7 T B 3 13| S 1TET | 7T B 38 2 i30S il
HHEITHET 7T B 4 1|EiE1THT (7T B 6 HEIPE il
HHEITHET 7T B 4 1|EE1THT (7T B 31 HEIPE il
HHEITHET 7T B 4 1|EHE1Tmr (7T B 32 HEIPE il
HigiRT 7T H 4 1|EH#E1EET (7T B 33 1 HBIEE it]
HiEITRT |7 T B 4 1|EHEITET (7T B 33 2 TR [l
HigiERT | 7TH 4 1|E#B1EET (7T B 113 HBiIEER it]
HiEiTAT |7 T B 4 2|EHEiTET |7 T B 28 3 TR [l
HHEITHET 7T B 4 3|EHMEITAT (7T B 74 1 HEIPE il
HHEITHET 7T B 4 3|HAMEITAT (7T B 76 HEIPE il
HHEITHET 7T B 4 3|HHMEITAT (7T B 77 HEiPE il
HHEITHET 7T B 4 3|FHMEITAT (7T B 79 HEIPE [l
HMEIEET (7T B 4 4|E#EITRT 3T H 53 HBiEE il
HHEIEET (7T B 4 4|EMEITRT 7T H 41 HBiEE il
HHEIEET (7T B 4 4|EiEITRT 7T H 70 HBIEE il
HHEIEET (7T B 4 5|R#1THAT 7T B 68 HBiEE il
HHEIEET (7T B 4 5|R#1THT 7T B 71 HBiEE il
HHEIEET (7T B 4 6|ERH1THAT |7 T B 27 4 HBiEE il
HHEIERET (7T B 4 7|ERH#EITRT 7T B 7 3 HBiEE il
HMEIERET (7T B 5 1| MR (7T B 40 HBiEE il
HHEITHET 7T B 5 1|ERHEIET (7T B 51 i30S [l
HHEITHET 7T B 5 1| (7T B 52 i30S [l
HHEITHET 7T B 5 2|EHEITET |7 T B 54 i30S [l
HHEIEET (7T B 5 2|FRH1THT |7 T B 55 HBiEE il
HEIEET (7T B 5 3 i3 [it]
HiEiTRT |7 T B 5 4| HEITHT |7 T B 53 i30S [l
HiEITAT |7 T B 5 4| HEITHT |7 T B 57 1 i30S [l
HiEITRT |7 T B 5 A|HHEITHT |7 T B 58 1 i30S [l
HiEITAT 7T B 5 A|FHEITET | 7T B 61 1 i30S [l
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B R

_FWME | T | HE | FEE | BWE | BT | BHE | BHE | WHER | mmeRe | EeExs
RiBITET |7 T § 5 A|HiBITET 7T B 62 1 wyEE |
AT |7 T B 5 4|sHiE1TET | 7T B 97 MIER | ™
HAGIAET |7 T B 5 4|siE1TET 7T B 98 MR | ™
RiGIERT |7 T B 5 5|SEABITET |7 T B 50 1 BigR | T
RiGIERT | 7T B 5 6|SEHBITET |7 T B 59 1 BigR | T
RiGIERT | 7T B 5 6|SEHBITET |7 T B 60 1 BigR | T
RiGIERT |7 T B 5 6|SEHBITET |7 T B 63 1 BigR | T
HiBITET |7 T 5 6|SEHBITET |7 T B 64 1 wBEE |
HiBITET |7 T 5 6|SEHBITET |7 T B 65 1 wBEE |
HiEITRT |7 T B 5 6|H I TET |7 T B 96 MRS i}
HiEITRT |7 T B 5 6|H I TET |7 T B 99 MRS i}
HiBITET |7 T 5 7B |5TH 18 HwiyE |
HiEIERT |7 T B 5 8 MBI it}
RiITE |7 T H 6 1|5 iITET |8 T B 61 IR |
RiBITE |7 T H 6 1|5 i1TET |8 T B 62 HWIE |
RiiTE |7 T H 6 1|5 i1TET |8 T B 63 IR |
HHEiTET 7T B 6 1|17 (8T B 64 i3 it}
RiITE |7 T H 6 1|5 iITET |8 T B 65 HWITE |
HABITHET 7T B 6 2|HifpITET 7T B 27 5 wBiyR |
RiiTE |7 T B 6 3|SEABITET |6 T B 10 HwITE |
RiITE |7 T B 6 3|sEHBITET 8T B 66 IR |
RiITE |7 T H 6 3|sEHBITET 8T B 115 IR |
HITET |7 T B 6 4|siE1TET 8T B 67 IR |
HITET |7 T B 6 4|sHiE1TET 8T B 68 MIFR | ™
RiGIERT |7 T B 6 5|sRABITET |7 T B 69 1 wBiyR |
HHEiTET 7T B 6 6| HEITET (8T B 60 303 i
HiBITET |7 T § 7 1|5 iB1TET 8T B 112 WITE |
HiBITET |7 T B 7 1|5 iBITET 8T B 113 MR |
HiBITET |7 T B 7 2|SHHBITET 8T B 109 HWITE | W
HiBITET |7 T B 7 2| HBITET 8T B 110 MR |
HiBITET |7 T 7 2|SHBITET 8T B 145 HwyE |
HiBITET |7 T B 7 2| HBITET 8T B 146 1 HwyE |
HiBITET |7 T B 7 3|sEHBITET 8T B 114 HwyE |
HiEiTRT |7 T B 7 A|HEHEITHT |7 T B 45 s it}
HiEITRT |7 T B 7 A|HEHEITET |7 T B 49 s it}
HiBITET |7 T § 7 5|SEHB1TET |8 T B 118 HwyE |
RiGIERT |7 T B 7 5|sEHB1TET |8 T B 152 1 wBiyR |
HiBITET |7 T 7 5|sEHB1TET |8 T B 153 1 wyEE |
HiBITET |7 T § 7 6|SEHBITET |7 T B 69 2 wyE |
HiBITET |7 T § 7 7|SEABITET |7 T B 43 HwyE |
HiBITET |7 T § 7 7|SEABITET |7 T B 66 1 wyE |
HiBITET |7 T § 7 7|SEHE1TET 8T B 119 HwEE |
RiBITET |7 T § 7 7|SEAEITET 8T B 239 wEE |
HiBITET |7 T § 7 8|S HEITET 8T B 120 wBEE |
RiGIERT |7 T B 7 8|S HEITET 8T B 121 1 BIgR | T
RiGIERT |7 T B 7 8|S HEITET 8T B 150 1 BiyR | T
HiBITET |7 T § 7 8|sHHBITET 8T B 151 wBEE |
HiEITRT |7 T B 7 9 HEIEE it}
HiEtERT |7 T B 7 10 HEIT R i
HiEITRT |7 T B 8 1|EHEIET (8T B 69 HEIEE i)
HiEiTET 7T B 8 1|EETET (8T B 74 30 il
RiITE |7 T H 8 1|5 iITET |8 T B 75 2 IR |
RiBITE |7 T H 8 1|5 i1TET 8T B 111 MR |
RiiTE |7 T H 8 2 HWITE |
RiITE |7 T H 8 3 MR |
HiBITET |7 T H 9 HwiyE |
RiITE |7 T B 10 MR |
RiITE |7 T H 11 MR |
RiITE |7 T B 12 MR |
RiITE |7 T B 13 MR |
RiITE |7 T H 14 HITE |
R | 7T B 15 HEIT R it}
HHEiTET 7T B 16 HEIT R i}
HHETET 7T B 17 HEIT R it}
HHEiTET 7T B 18 HEIT R it}
AT 7T B 19 HEIT R i}
HiEiTET 7T B 20 TR it}
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IR FE X BT R4.2.251E F

PR | HTE | PhE | FHE| IBEL | BT | BHE | BHE | BHER | EmeRe | TERs

EMEITET (7T B 21 HBIEE it]

EMEITET (7T B 22 HBIEE it]
LEET | LR 2 5 BT E [it]
LEET | LR 4 2 BT E [it]
LEET | LR 4 6 HEiTE [it]
LEET | LR 5 5 iy [it]
R ET 1TH 44 HEIiE [it]
RET 2TH 131 320 izl
RET 3TH 17 2 32 izl
RET 3TH 18 2 320 izl
RET 3TH 19 3 32 izl
RET 3TH 20 4 32 izl
RET 3TH 20 9 32 izl
AT 3TH 27 3 i3 it]
AT 3TH 28 3 i3 it]
AT 3TH 29 2 i3 it]
AT 3TH 30 3 i3 it]
AT 3TH 32 3 i3 it]
AT 3TH 33 3 i3 it]
AT 3TH 34 3 i3 it]
AT 3TH 35 3 i3 it]
AT 3TH 37 3 i3 it]
AT 3TH 38 2 i3 it]
AT 3TH 39 3 i3 it]
AT 3TH 40 2 i3 it]
AT 3TH 41 2 i3 it]
R ET 3TH 42 30 [it]
AT 3TH 43 3 i3 it]
R ET 3TH 44 30 i)
R ET 3TH 50 30 [it]
AT 3TH 61 2 i3 it]
AT 3TH 61 3 i3 it]
AT 3TH 61 4 i3 it]
AT 3TH 78 3 i3 it]
AT 3TH 78 4 i3 it]
AT 3TH 79 2 i3 it]
RET 3TH 80 2 32 i)
AT 3TH 82 3 i3 it]
AT 3TH 83 4 i3 it]
AT 3TH 84 3 i3 it]
RET 3TH 85 320 i)
RET 3TH 86 32 i)
RET 3TH 87 32 [it]
RET 3TH 88 i35 i)
AT 3TH 89 2 i3 it]
RET 3TH 92 32 izl
RET 4TH 1 2 HEIiE [it]
RET 4TH 2 2 32 izl
AT 4TH 26 2 i3 it]
AT 4TH 28 2 i3 it]
BT 4TH 42 30l i)
BT 4TH 44 30 i)
AT 4TH 68 1 i3 it]
AT 4TH 75 1 i3 it]
AT 4TH 76 1 i3 it]
AT 4TH 717 1 i3 it]
AT 4TH 80 1 i3 it]
AT 4TH 81 2 i3 it]
AT 4TH 82 2 i3 it]
AT 4TH 83 2 i3 it]
AT 4TH 83 3 i3 it]
AT 4TH 84 1 i3 it]
=Er 4TH 84 2 i3 it]
AT 4TH 85 2 i3 it]
AT 4TH 86 2 i3 it]
AT 4TH 86 3 i3 it]
AT 4TH 87 2 i3 it]

37/ 41 R—=



IR FE X BT R4.2.251E F

_FEA | HTT | HnE | HaE | DA | IBTT | AME | BEE | @R | mrexe mraxs
WA |4TH 88 2 WBIEE [ W
=AT  |4TH 92 4 WBIE | m
=AT  |4TH 92 5 WBIE | m
TRET 4TH 93 1 TR i}
=AT  |4TH 93 4 WBIEE | m
=AT  |4TH 93 5 WBIE | m
=AT  |4TH 93 6 WBIE [ m
=AT  |4TH 93 7 WBIE | m
=AT  |4TH 93 17 WBIE | m
HAT  |4TH 94 2 WBIE | m
TRET 4TH 106 HEIT R i}
TRET 4TH 118 HEIT R i}
TRET 4TH 119 HEIT R i}
=AT  |4TH 120 WBIEE | m
=AT  |4TH 121 WBIEE | m
=AT  |4TH 122 WBIE | m
=AT  |4TH 123 WBIE | m
=AT  |4TH 124 WBIEE | m
=AT  |4TH 125 WBIEE [ m
=AT  |4TH 126 WBIEE | m
=AT  |4TH 127 WBIEE | m
=AT  |4TH 128 WBIE | m
=AT  |4TH 129 WBIE | m
=AT  |4TH 130 WBIE | m
=AT  |4TH 131 WBIEE | m
=AT  |4TH 132 WBIE | m
=AT  |4TH 133 WBIE | m
=AT  |4TH 134 WBIEE | m
=AT  |4TH 135 WBIEE | m
=AT  |4TH 136 WBIE | m
=AT  |4TH 137 WBIE | m
=AT  |4TH 138 WBIE | W
=AT  |4TH 139 WBIE | W
=AT  |4TH 140 WBIE | W
SRET 4TH 141 HEIT R il
SRET 4TH 142 HEIT R il
SRET 4TH 143 TR il
TRET 4TH 145 HEIT R il
TRET 4TH 146 TR il
TRET 4TH 147 HEIT R i}
TRET 4TH 148 HEIT R il
TRET 4TH 149 HEIT R i}
TRET 4TH 150 HEIT R il
TRET 4TH 151 HEIT R il
TRET 4TH 152 HEIT R i}
TRET 4TH 153 HEIT R i}
TRET 4TH 154 HEIT R i}
TRET 4TH 155 HEIT R i}
TRET 4TH 156 HEIT R i}
TRET 4TH 157 HEIT R i}
=AT  |4TH 158 WBIEE | m
=AT  |4TH 159 WBIEE | m
=AT  |4TH 160 WBIEE | m
=AT  |4TH 161 WBIE | m
=AT  |4TH 162 WBIE | m
TR ET 5TH 1 2 TR [it]
TR ET 5TH 9 2 HEIT R i)
=ET  |5TH 12 2 WBIE | m
=ET  |5TH 13 i WBIE | m
=ET  |5TH 14 2 WBIEE | m
=AT  |5TH 31 2 e A
=AT  |5TH 32 i WBIE | m
=AT  |5TH 32 2 WBIE | m
=AT  |5TH 33 2 WBIEE | m
=AT  |5TH 34 2 WBIE | m
SRHT 5TH 35 HEIT R i)
=AT  |5TH 36 2 WBIEwE [ m
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
R ET 5TH 37 32 i)
RET 5TH 38 2 32 i)
R ET 5TH 39 2 32 i)
RET 5TH 42 32 i)
RET 5TH 44 32 i)
RET 5TH 79 2 32 i)
R ET 5TH 81 2 32 izl
RET 5TH 82 2 32 izl
RET 5TH 83 2 32 izl
RET 5TH 84 2 320 izl
RET 5TH 85 2 32 izl
RET 5TH 153 32 izl
RET 5TH 154 32 izl
AT 5TH 155 30 i)
AT 5TH 156 30 i)
AT 5TH 157 30 i)
AT 5TH 158 30l i)
AT 5TH 159 30 i)
AT 5TH 160 30 [it]
AT 5TH 161 i3 [it]
AT 6T H 88 2 32 i)
AT 6T H 89 2 i3l [it]
AT 6T H 90 2 30l i)
R ET 6T H 97 1 i3l i)
R ET 6T H 106 1 i3 i)
AT 6T H 107 1 HEIEE [it]
R ET 6T H 109 30 [it]
R ET 6T H 110 i3 i)
R ET 6T H 116 30 i)
R ET 6T H 117 30 [it]
RET 6T H 118 i3 i)
RET 6T H 119 30 i)
R ET 6T H 120 i3 i)
R ET 6T H 121 32 i)
R ET 6T H 122 30 i)
RET 6T H 124 32 [it]
RET 6T H 125 32 i)
R ET 6T H 126 32 i)
R ET 6T H 127 320 i)
RET 6T H 128 32 i)
HiiRT |1 TH 110 1 HBIEE it]
HigiRT |1 TH 111 1 HBiEE it]
HiBiRT 12T H 1 i3 it]
HHEITET (2T B 2 1 IR il
HHEIEET (2T B 2 2 HITER [l
HHEIEET (2T B 3 2 IR il
HHEIERT (2T B 5 2 HBITER [l
HMEIERT (2T B 6 2 HBITER il
HHEIERT (2T B 19 2 HBIEER il
HMEIERT (2T B 20 2 BT il
HHEIERT (2T B 20 3 MEIE R il
HHEiTET 2T B 20 5 i30S il
BHEITHET 2T B 20 6 BT H
HHEIEET (2T B 20 7 BT il
T 2T B 21 2 i30S il
HHEIERT (2T B 21 3 MBIE R il
HHEIERET (2T B 21 4 HBIE R il
T 2T B 27 2 i30S il
HHEIERT (2T B 27 3 MBIE R il
HHEIERT (2T B 32 2 BT il
T 2T B 33 2 i30S il
HHEITHET 2T B 34 2 BT i
HHEIEET (2T B 35 1 BT il
T 2T B 35 2 i30S il
HHEIERT (2T B 35 3 BT il
HHEIERT (2T B 36 2 HBIE R il
HHEiTET 2T B 37 2 i30S il
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B R

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HiEiTET 2T B 38 2 i30S [l
HHEIERT (2T B 39 2 BT il
BT 2T B 42 HEIPE il
HHEITHET 2T B 44 HEIPE il
HHEIERT (2T B 62 2 BT il
HHEIERT (2T B 63 2 BT il
T 2T B 79 2 TR [l
HHEITHET 2T B 80 2 BT T
HiEIEAT 12T H 82 HBITE il
T 2T B 83 2 TR [l
HHEIEET (2T B 84 1 BT il
HHEIERT (2T B 89 MBiE R i
HiBiET 12T H 115 1 i3y it]
HHEiTET 2T B 116 1 i30S [l
HiEiTET 2T H 116 2 i30S [l
T 2T B 117 i30S [l
HiEiTET 2T B 118 i30S [l
T 2T B 120 TR [l
T 2T B 121 i30S [l
T 2T B 122 i30S [l
T 2T B 123 i30S [l
T 2T B 124 i30S [l
HHEiTET 2T B 125 i30S [l
HiEiTET 2T B 126 i30S [l
HHETET 2T B 127 i30S [l
HiEiTET 2T B 128 i30S [l
T 2T B 129 i30S [l
T 2T B 130 i30S [l
T 2T B 133 i30S [l
HHEIERT (2T B 134 BT i
HiEiTET 2T B 135 i30S [l
HiEiTET 2T B 136 i30S [l
HHEiTET 2T B 137 i30S [l
T 2T B 138 i30S [l
HHEITHET 2T B 139 HEIPE il
HHEIEET (2T B 140 BT ]
HHEIEET (2T B 142 BT [it]
BT 2T B 144 HEIfE il
HMEIERT (2T B 145 BT ]
HHEIERT (2T B 146 MBiE R ]
HMEIERT (2T B 147 BT [it]
HHEIERT (2T B 148 MEiE R [it]
HHEIEET (2T B 149 HBIEE il
HHEITHET 2T B 150 HEiPE il
HHEITHET 2T B 151 HEiPE il
HHEIEET (2T B 152 HBIEE il
HHEIERT (2T B 154 BT [it]
HHEITHET 2T B 155 HEIPE il
HHEIERT (2T B 156 HBiEER il
HHEITHET 2T B 157 HEIPE [l
HiEiTET 2T B 158 i30S [l
HHEiTET 2T B 159 i30S [l
HiEiTET 2T B 160 i30S [l
T 2T B 161 i30S [l
T 2T B 162 i30S [l
HHEiEET 2T B 163 i30S [l
HHEIERET (2T B 164 HBIE R [l
T 2T B 165 i30S [l
HHEiTET 2T B 166 i30S [l
HiEiTET 2T B 167 i30S [l
T 2T B 168 i30S [l
HiEiTET 2T B 169 i30S [l
HHEiTET 2T B 170 i30S [l
T 2T B 171 i30S [l
T 2T B 172 i30S [l
HiEiTET 2T B 173 i30S [l
HHEiTET 2T B 174 i30S [l
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B R

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HHEIEET (2T B 175 HBiEE il
HHEITHET 2T B 176 HEIPE il
BT 2T B 177 HEIPE il
HHEIERT (2T B 178 HBIEE il
HHEITHET 2T B 179 HEiPE il
HHEITHET 2T B 180 HEiPE il
HHEITRET (2T B 181 TR il
HHEITHET 2T B 182 HEIPE il
HHEITHET 2T B 183 HEIPE il
HHEIEET (2T B 184 HBIEER il
HHEITHET 2T B 185 HEiPE il
HHEITHET 2T B 189 HEIPE il
HMEIERT (2T B 190 TR i)
HHEiTET 2T B 191 i30S [l
HHEITHET 3T B 1 1 MBI [l
HHEITHET 3T B 1 2 MBI E [l
BHEITHET 3T B 2 1 MBI E [l
BHEITHET 3T B 2 2 MBI [l
HHEITHET 3T B 3 3 i 3o [l
BHEITHET 3T B 4 2 i 3o [l
BHEITHET 3T B 4 4 MBI E [l
HHEITHET 3T B 4 5 i3 [l
HHEITHET 3T B 4 6 MBI [l
BT 3T H 5 3 MBI E [l
HHEIEET (3T B 5 4 HBiEE il
HHEIEET (3T B 5 5 BT [it]
HHEIEET (3T B 7 4 HBiEE il
AT 3T H 11 3 i30S [l
HHEIERET (3T B 11 4 HBIE R il
HHEIERT (3T B 11 5 BT il
HHE1TET 3T H 12 2 i30S [l
HHEIERT (3T B 12 3 MBIE R il
HHEIERT (3T B 12 4 MBiE R il
HHE1TET 3T H 25 1 BT R [l
HHEITHET 3T B 25 2 BT T
HHEIEET (3T B 25 3 MBiE R il
T 3T H 26 2 i30S il
HHEITHET 3T B 42 HEifE il
HHEITHET 3T B 44 HEIfE il
HHEiTET 3T H 56 2 i30S [l
HHEIERT (3T B 57 2 BT il
HHEIERT (3T B 58 2 MEE R il
HHETET 3T H 59 2 i30S il
BHEITHET 3T B 65 2 BT i
HHEITHET (3T B 66 2 BT T
HHEIEET (3T B 88 BT ]
HHEIERT (3T B 89 2 BT il
HHEIERT (3T B 91 2 MR il
HHEiTET 3T H 92 2 iR [l
HHEIERT (3T B 93 2 BT il
BT 3T B 94 MBI E [l
HHEITHET 3T B 95 MBI E [l
BHEITHET 3T B 96 MBI E [l
HHEITHET 3T B 97 MBI [l
HHETET 3T H 103 i30S [l
T 3T H 104 3 i30S [l
1T 3T H 106 i30S [l
HHEiTET 3T H 107 i30S [l
HHEiTET 3T H 108 i30S [l
i 3T H 109 i30S [l
HHETET 3T H 110 i30S [l
HHEEET 3T H 111 i30S [l
HHETET 3T H 112 i30S [l
AT 3T H 113 i30S [l
HHEIERET (3T B 114 HBIE R i
BT 3T H 115 i30S [l
HHEiTET 3T H 116 i30S [l
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B R

_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HHEIEET (3T B 117 i30S il
HHEITHET 3T B 118 HEIPE il
HHEITHET 3T B 119 HEIPE il
HHEIERT (3T B 120 i30S il
HHEITHET 3T B 121 HEiPE il
HHEITHET 3T B 122 HEiPE il
BRI (3T B 123 HBIEER il
HAEIAT ST H 124 HBITE il
BHEITHET 3T B 125 HEIPE il
HHEIEET (3T B 126 HBIEER il
HHEITHET 3T B 127 HEiPE il
BT 3T B 128 HEIPE il
HHEIERT (3T B 129 i3y il
HHEITHET 4T B 3 2 MBI [l
HHEITHET 4T B 5 2 MBI [l
HHEITHT 4T B 5 3 MBI E [l
HHEITHET 4T B 6 2 MBI E [l
HHEITHET 4T B 7 3 MBI [l
HHEIEET (4T B 10 1 BT il
HHEIEET (4T B 10 2 HBIE R il
BHEITHT 4T B 18 MBI E [l
HHEIERT (4T B 19 2 HBIE R il
HMEIERT (4T B 19 3 HBIE R il
HMEIERT (4T B 19 4 HBiEE il
HHEITET (4T B 20 4 HBiEE il
HHEITHET 4T B 26 2 BT i
T 4T H 26 3 i30S [l
HHEIERET (4T B 26 4 HBIEE il
HHEIERT (4T B 26 5 HBIE R il
HMEIERT (4T B 28 2 BT il
HMEIERT (4T B 28 3 HBIE R il
HHEITHET 4T B 28 4 HEifE il
HHEIERT (4T B 30 1 MBiE R il
HHEITHT 4T B 30 3 BT T
HHEITHET 4T B 30 4 HEIPE il
HHEiTET 4T B 30 5 BT il
HHEITHET 4T B 34 3 HEIfE il
HHEITHET 4T B 34 4 HEifE il
HHEITHET 4T B 34 5 HEIfE il
HHEITHET 4T B 42 HEIPE il
HiEiTET 4T H 44 BT [l
HHEITHET 4T B 48 6 HEIPE il
HHEITHT 4T B 59 4 HEiPE il
HHEITHET 4T B 60 2 BT i
HHEITHET 4T B 94 1 HEiPE il
HHEITHET 4T B 94 3 HEIPE [l
HHEIERT (4T B 95 2 BT il
HHEIERT (4T B 96 2 MR il
HHEIERT (4T B 98 2 MR il
HMEIERT (4T B 99 2 BT il
HiEiTET 4T H 101 2 i30S [l
HHEITET 4T B 102 2 i30S [l
HiEiTET 4T H 103 2 i30S [l
HHEiTET 4T B 103 3 i30S [l
HHEiTET 4T B 112 i30S [l
HHEIERT (4T B 113 BT [l
HigiTRT 4T H 114 HBiEE il
HHEITRT (4T B 115 MBIE R i
HMEIERT (4T B 116 HBIE R il
HHEIERT (4T B 117 MBIE R [l
HiEIERT 4T H 118 HEITE H
HAEIEAT 4T H 119 HEITE H
HHEIEET (4T B 120 BT i
HHEITET (4T B 121 HBIE R [it]
HHEIERT (4T B 122 HBIE R i
HHEIERT (4T B 123 BT i
HHEIERT (4T B 124 HBiEE il
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HHEITET (4T B 125 BT [if]
HHEIERT (4T B 126 MBE R ]
HHEIERT (4T B 127 BT [it]
HMEIERT (4T B 128 BT ]
HMEIERT (4T B 129 MEiE R i
HMEIERT (4T B 130 BT [it]
HiEIIAT 4T H 131 HBITE il
HAEIIAT 4T H 132 HBITE il
HiEITAT 4T H 133 HBITE il
i 5T B 59 3 TR [l
HHEIEET (5T B 60 3 BT il
HHEIERT (5T B 61 3 MBiE R il
HiBiRT 5T H 101 2 i3y it]
HHEiTET 5T B 158 1 i30S [l
HiEiTET 5T B 158 4 i30S [l
T 5T B 158 5 i30S [l
HiEiTET 5T B 177 4 i30S [l
HHEiTET 5T B 177 5 TR [l
HiEiTET 5T B 177 6 i30S [l
HHEiTET 5T B 185 i30S [l
T 5T B 186 i30S [l
HHEiTET 5T B 194 i30S [l
HHEiTET 5T B 195 i30S [l
HiEiTET 5T B 196 i30S [l
HHETET 5T B 198 i30S [l
HiEiTET 5T B 199 i30S [l
T 5T B 200 i30S [l
T 5T B 201 i30S [l
T 5T B 202 i30S [l
HHEiTET 5T B 203 i30S [l
HHEiTET 5T B 204 i30S [l
HHEiTET 5T B 205 i30S [l
HHEiTET 5T B 206 i30S [l
HHETET 5T B 207 i30S [l
HiEiTET 5T B 208 BT R [l
HHEiTET 5T B 209 i30S il
HHEIEET (5T B 210 HBIEE il
BT 5T B 211 HEIfE il
HHEITHET 5T B 212 HEIfE il
HHEIERT (5T B 213 HBIEE il
HMEIERT (5T B 214 BT [it]
BT 5T B 215 HEIPE il
HHEIEET (5T B 216 HBIEE il
HHEITHET 5T B 217 HEiPE il
HHEITHET 5T B 218 HEiPE il
HHEIEET (5T B 219 HBIEE il
HHEITHET 5T B 220 HEIPE il
BT 5T B 221 HEIPE il
HHEiTET 5T B 223 i30S [l
HMEIERET (5T B 224 BT ]
HiEiTET 5T B 229 i30S [l
HHETET 5T B 230 i30S [l
HiEiTET 5T B 231 i30S [l
HHEiTET 5T B 232 i30S [l
T 5T B 235 2 i30S [l
HHEiTET 5T B 235 3 i30S [l
HHEIERET (6 T B 25 2 HBIE R il
T 6T B 27 2 i30S [l
HHEIERT (6T B 29 3 MBIE R il
HHEIERT (6 T B 31 3 BT il
HHEITET 6T B 32 3 i30S [l
HHEIEET (6T B 42 HBiEE il
HHEIEET (6 T B 44 HBiEE il
HHEITET (6 T B 47 HBiEE il
HHEIERET (6 T B 58 1 BT il
HHEIERT (6 T B 94 HBiEE il
HiETET 6T B 107 2 i30S [l
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T 6T B 108 2 i30S [l
T 6T B 109 2 i30S [l
T 6T B 131 4 i30S [l
HHEIERT (6 T B 141 i30S il
BT 6T B 150 HEiPE il
HiEiTET 6T B 152 3 i30S [l
T 6T B 152 6 TR [l
T 6T B 152 8 iR [l
HiBiRT 6T B 152 10 HBIEER it]
HiBiRT 6T B 152 11 HBIEER it]
HHEiTET 6T B 153 3 iR [l
HiEiTET 6T B 153 4 TR [l
HHEiTET 6T B 154 3 TR [l
HHEiTET 6T B 154 4 i30S [l
HiETET 6T B 155 3 i30S [l
T 6T B 155 4 i30S [l
T 6T B 156 3 i30S [l
T 6T B 156 4 TR [l
T 6T B 157 3 i30S [l
T 6T B 157 4 i30S [l
HHEiTET 6T B 158 3 i30S [l
HHEiTET 6T B 158 4 i30S [l
HHEiTET 6T B 159 3 i30S [l
HiETET 6T B 159 4 i30S [l
HHEITET 6T B 160 3 i30S [l
HiEiTET 6T B 160 4 i30S [l
T 6T B 161 3 i30S [l
T 6T B 161 4 i30S [l
T 6T B 162 3 i30S [l
HHEITET 6T B 162 4 i30S [l
T 6T B 163 3 i30S [l
T 6T B 163 4 i30S [l
HHEiTET 6T B 164 3 i30S [l
T 6T B 164 4 i30S [l
HiETET 6T B 165 3 BT R [l
T 6T B 165 4 i30S il
HHETET 6T B 166 3 i30S il
HHETET 6T B 168 3 i30S [l
HHEiTET 6T B 168 4 i30S il
HHEiTET 6T B 169 3 i30S [l
HHEiTET 6T B 170 3 i30S [l
HiEiTET 6T B 171 3 i30S il
T 6T B 172 3 i30S il
HiETET 6T B 173 3 TR [l
HiEITAT 6T B 174 HBITE il
HHEIEET (6 T B 175 HBIEE il
BT 6T B 176 HEIPE il
BT 6T B 177 HEIPE il
HHEIERT (6 T B 178 HBiEER il
HHEITHET 6T B 179 HEIPE [l
HiEiTET 6T B 180 i30S [l
HHEITET 6T B 181 i30S [l
HiEiTET 6T B 182 i30S [l
T 6T B 183 i30S [l
T 6T B 184 i30S [l
T 6T B 185 i30S [l
T 6T B 186 i30S [l
T 6T B 187 i30S [l
HHEITET 6T B 193 i30S [l
HiEiTET 6T B 196 i30S [l
i 7T B 19 2 i30S [l
HHEITET 7T B 19 3 BT i
HHEIEET (7T B 19 4 BT il
HHEiTET 7T H 20 2 i30S [l
HHEIERET (7T B 21 BT i
HMEIERT (7T B 22 2 HBIE R il
HiEiTET 7T B 23 2 i30S [l
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HHEIEET (7T B 24 2 BT T
HHEIERT (7T B 25 2 BT il
HMEIERT (7T B 26 2 BT il
R 7T H 27 2 i30S il
BT 7T B 42 HEIPE il
HHEITHET 7T B 44 HEIPE il
HHEITHET 7T B 46 2 BT T
HHEITHET 7T B 46 3 BT T
HHEITHET 7T B 47 HEIPE il
HHEITHET 7T B 48 HEIPE il
HHEIEET (7T B 49 1 BT il
HMEIERT (7T B 50 2 MBiE R il
HiEiTET 7T H 59 2 iR [l
HHEIERT (7T B 60 2 MEE R il
HHEIERT (7T B 63 2 BT il
HHEITHET 7T B 64 3 BT H
HHEITHET 7T B 65 3 BT H
HHEIEET (7T B 66 2 MBIE R il
HiEiTET 7T B 67 2 i30S [l
HHEIEET (7T B 72 2 HBIE R il
HHEIERET (7T B 73 2 BT il
HHEIERET (7T B 74 2 HBIE R il
HHEITHET 7T B 75 MBI [l
HMEIERT (7T B 76 1 MBIE R il
i 7T B 79 1 i30S [l
HHEITHET 7T B 80 2 BT i
HiEiTET 7T H 158 i30S [l
HiEiTET 7T B 159 i30S [l
HHEiTET 7T B 160 i30S [l
HiEiTET 7T B 161 i30S [l
R 7T B 162 i30S [l
HiEiTET 7T H 163 i30S [l
HHEIERT (7T B 164 MEiE R [it]
i 7T B 165 i30S [l
HHEITET 7T B 166 HEIPE il
HHEITHET 7T B 167 HEifE il
HHEIEET (7T B 168 HBIEE il
HHEITET 7T B 169 HEIfE il
HHEITHET 7T B 170 HEIfE il
HigiRT | 7TH 171 1 HBIEE it]
R | 7T H 171 2 i30S [l
BT 7T B 172 HEIPE il
HHEIEET (7T B 173 HBIEE il
HAEIAT 7T H 174 HBITE H
HHEITHET 7T B 175 HEiPE il
HHEIEET (7T B 176 HBIEE il
HHEITHET 7T B 177 HEIPE il
BT 7T B 178 HEIPE il
HHEIERT (7T B 179 HBiEER il
HHEITHET 7T B 180 HEIPE [l
HiEiTET 7T H 181 i30S [l
HiETET 7T B 182 i30S [l
HiEiTE 7T H 183 i30S [l
HHEIEET (7T B 184 BT [if]
HiEiTET 7T B 185 i30S [l
HHEiTET 7T B 186 i30S [l
HiEiTET 7T H 187 i30S [l
HiEiTET 7T B 188 i30S [l
R | 7T H 189 i30S [l
HiEiTET 7T H 190 i30S [l
HHETET (8T B 17 1 i30S [l
HHEITHET 8T B 17 2 BT i
HHEIEET (8T B 23 1 BT il
T 8T H 56 2 i30S [l
HHEIERT (8T B 57 1 BT il
HHEIERT (8T B 7 2 HBIE R il
HHEiTET 8T H 72 2 i30S [l
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_EMTA | BT | S | oS | HETR | BTE | BmE | BEE | BRI | miTnREe | EITERS
HHEITET (8T B 72 4 BT T
HHEIERT (8T B 73 BT ]
HHEIERT (8T B 74 1 BT il
HHEIERT (8T B 75 1 HBIEE il
HigilT I8 TH 103 1 HBiEE it]
HHEiTET 8T B 103 2 i30S [l
HigiTlT I8 TH 104 1 HBIEER it]
HiBilT I8 TH 104 2 HBiEER it]
HigilT I8 TH 105 1 HBIEER it]
T (8T B 105 2 iR [l
T 8T B 121 2 iR [l
T 8T B 122 2 TR [l
HHEiTET 8T H 122 3 TR [l
HHEIERT (8T B 124 BT il
HigiTRT |8 TH 144 HBIEE il
HHETET 8T B 145 1 i30S [l
HiEiTET 8T H 145 2 i30S [l
HHEiTET 8T B 146 2 TR [l
HHEiTET 8T B 147 i30S [l
HHEiTET 8T B 148 2 i30S [l
T 8T B 149 2 i30S [l
HHEiTET 8T B 150 2 i30S [l
HHEiTET 8T H 152 2 i30S [l
T 8T H 153 2 i30S [l
HHETET 8T H 154 i30S [l
HiEiTET 8T H 155 i30S [l
HHEiTET 8T B 163 2 i30S [l
HHEiTET 8T B 178 1 i30S [l
HHETET 8T B 193 i30S [l
HHEIERT (8T B 194 BT i
HHEiTET 8T H 195 i30S [l
HHEiTET 8T H 196 1 i30S [l
HHEiTET 8T H 200 3 i30S [l
HHETET 8T H 201 3 i30S [l
T 8T H 202 1 BT R [l
HHETET 8T B 203 i30S il
i 8T B 204 i30S il
HHEITHET 8T B 205 HEIfE il
T 8T B 206 1 i30S il
HHEiTET 8T B 208 1 i30S [l
HHEITHET 8T B 209 HEIPE il
BT 8T H 213 1 i30S il
HHEITET (8T B 214 HBIEE il
HiBilT 18T H 216 1 HBIEER it]
HigilT I8 TH 218 1 HBiIEER it]
HHEiTET 8T B 219 1 iR [l
HHEITHT 8T B 220 HEIPE il
HHEITHT 8T B 221 HEIPE il
HHEiTET 8T B 222 i30S [l
HHEiTET 8T H 223 i30S [l
HHEIERT (8T B 224 BT [if]
HHETET 8T B 225 i30S [l
HiEiTET 8T B 226 i30S [l
HHEiTET 8T B 227 i30S [l
HHETET 8T B 228 i30S [l
HHEiTET 8T B 229 i30S [l
T 8T B 230 i30S [l
HHEiTET 8T B 231 i30S [l
HHEiTET 8T H 232 i30S [l
T 8T H 233 i30S [l
HHETET (8T B 234 i30S [l
HiEiTET 8T B 235 i30S [l
HHEiTET 8T B 236 i30S [l
T 8T H 237 i30S [l
HHEiTET 8T B 238 i30S [l
HHEIERT (8T B 240 BT i
HHEIERET (8T B 241 BT i
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